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I. Iini Ta 3aBaaHHS KypCy

HaBuaHHsg aHrmiiicbkOoi MOBM y HEMOBHOMY BY31 — L€ CaMOCTIMHUN 1
3aKIHYEHUH KypC, SIKUW Ma€ MEeBHUH 3MICT 1 CTpyKTypy. OJTHUM 13 3aBAaHb KypcCy €
30epeKeHHs 3HaHb, OJIEPKAHUX Yy IIKOJMI, K 0a3u JUisl MOJAJIBIIOTO HaBYAHHS Y
BUIIIOMY HAaBYAJILHOMY 3aKJajl 1 HABYAHHS MPOTATOM >KUTTH.

Mertoro HaBYaHHS 1HO3EMHIM MOB1 Ha HEMOBHUX (paKyJIbTeTax YHIBEPCUTETY
€ TpPaKTUYHE BOJIOJIHHA 1HO3EMHOIO MOBOI, TOOTO YMIHHS CIUJIKYBaTHCS
1HO3eMHOI0O MOBOIO Ha TmpodeciiHOMy Ta TMMOOYyTOBOMY pIiBHSIX, a TaKOX
OBOJIO/IIHHS HABHYKAMU W YMIHHSIMU, 110 JTO3BOJISIOTh BUKOPUCTOBYBATH TEKCT SIK
okepeno iHopmarii, 1 pI3HUMH BUJAMU YWTAaHHA $K 3aco0aMu 3100yTTA
1H(pOopMalrlii, 10 MICTUTHCS B TEKCTI.

3anponoHOBaHUM HaBYAJIbHUHN MOCIOHUK 3 aHTIIHCHKOT MOBHU JIJIsl CTYACHTIB] -
3 KypciB NpUPOJHUYMX (PAKyJIbTETIB 3a04HOI (POPMH HABUAHHS CKIATAAETHCS 3
TPHOX YACTHH, BIAMOBIIHO O MPOrpaMH KOKHOTO Kypcy, 1 BKItouae: (1) Tekeru 31
CHEIIabHOCTI 1 BIPAaBU JIEKCUUHOIO Xapakrtepy; (2) rpamatnyHuii marepiai; (3)
TECTH JJIsl MOAYJIBHOTO KOHTPOJIIO Ta KOHTPOJIbHI 3aBJaHHS.

[1o 3akiHYEHHI KypCy CTYJEHT OBUHEH:

1)  BMITH MpaIfOBaTH 3 3arajJbHOHAYKOBOIO 1 CIEMIalbHOI JITEPATypOIo,
3100yBaTH 1HGOPMAIIIIO 3 AHTJIOMOBHUX JIKEPEIT;
2) 3HATH JIGKCWYHI, TpaMaTW4YHi 1 TEPMIHOJIOTIYHI OCOOJIMBOCTI
MePEeKyIaay 3araJbHOHAYKOBOI 1 CIICIIAIbHOI JTITEPaTypH;
3)  BMITH CIIJIKyBaTHCS Ha TTOBCSAKICHHI TEMH KypCY.
I1. 3aranbHi opranizaniiiHo-MeTOAMYHI BKA3IBKH.
[IoBHMI KypC HaBYaHHSI BKIIFOYAE :
- BHBYEHHS Marepiairy peKOMEHJOBAaHOTO MiAPyYHHUKA,
- po0OOTY 3 peKOMEHJOBAHUMH 1 JI0JIATKOBUMH TEKCTaAMH,
- y4acTh Y IPAKTUYHUX YCTAHOBYMX Ta MiJCYMKOBUX 3aHATTSX;
- BHUKOHaHHS KOHTPOJBHUX POOIT;
- 3/1a4y IOJaTKOBOTO YMTAHHS;
- 3/1a4y 3aJ]IKIB Ta €K3aMEHY.
Cmyxad Moe 3BepTaTucCs 0 BUKJIajava 3 MUTAHHSIMU, SIKI BAHUKAIOTh 1] Yac
poOOTH B MIXKCECIHHUI NEPIO/I.
Benuke 3HadyeHHs 711 CaMOCTIMHOT poOOOTHM Ma€ TMOCTIOBHICTH POOOTH 3
HaBYaJIbHUM MartepiaioMm. [lounHatu mOTpiOHO 3 BiAmnpantoBaHHS (OHETHUKU 1
YUTAHHA CJIIB Ta CJIOBOCIOJYYEeHb CJIB, MOTIM HEOOXiJTHO BHUBYHUTU HOBI
rpaMaTUyYH1 SBUIA, HOBI CJIOBA 1 CIIOBOCTIONYYEHHS CIIiB, TPOYUTATH BrOJIOC TEKCT,
nepekiacTy oro. O60B’A3K0BO MOTPIOHO BUKOHYBATH BC1 JIGKCHYHI 1 TpaMaTHYH1
BIIPaBHU.
BuMoru 10 MOBHOT0 MaTepiajy
[Iporpama BuMarae Matu 3HaHHSI 3 QHTIIIACHKOI MOBH B 00’ €Mi CepeHBOT MITKOMH 1
BOJIOJITH OCHOBAMHU T'PaMaTUKH.
Donemuynuti miHimym. 3aCBOEHHS OCHOBHHUX apTUKYJALIMHUX OCOOIMBOCTEH
BUMOBM aHIJIIMCBKUX TOJOCHUX 1 MPUTOJIOCHHUX, BIJCYTHICTh TMOM AKIICHHS
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IPUTOJIOCHUX 1 30epeXeHHs A3BIHKUX IPUTOJIOCHUX B KIHII CJIOBAa; YUTAHHS
TOJIOCHUX Yy BIJKPUTOMY 1 3aKpUTOMY CKJIaJaxX; HAroJioc; 3HaHHS OCHOBHHX
IHTOHALIIMHUX MOJIEJel pPI3HUX THUIIB PEYEeHb, 3aCBOEHHS HABHUUYOK (POHETHYHO
MPaBUJILHOTO YATAHHS TEKCTY.

Jexcuynuii minimym. JIeKCMUHUM MIHIMYM Kypcy HaBuyaHHs ckiangae Ouis 2000
JEKCUYHUX OJWHUIL (CTIB 1 CIIOBOCHOJYy4YeHb), 3 Hux 1200 oauHUI
3araibHOOCBITHROT Ta 800 OIMHUIE cCrHellaJibHOI JeKCUKUA. Takuii 00’eM
JIEKCUYHUX OJUHUIIb € OCHOBOIO JUIsl PO3LIMPEHHS MOTEHILIMHOTO CIOBHUKOBOTO
3amacy CTyJI€HTa, 1 TOMY MporpaMa mnependadyae 3aCBOEHHS HAWOUIbIN BKMBAHUX
CIIOBOTBOPUYMX 3aCO0IB aHMIMCHKOI MOBHU: OCHOBHUX TpedikciB, Cy]ikciB
IMEHHUKIB, TPUKMETHUKIB, MPUCITIBHUKIB, MIE€CTIB, SBUI] KOHBepcii (mepexomy
OJIHI€] YaCTMHU MOBH B 1HIITY 03 3MiHH ()OPMH CJIOBA).

I’ pamamuynuii minimym. Y mponeci HaBUaHHS CTYJIEHT MOBUHEH 3aCBOITH OCHOBHI
rpaMaThyHi (OPMU 1 CTPYKTYPH aHIIIHCHKOI MOBH.

Mopddooris

Imennux. ApTtukii(o3HaUeHH Ta Heo3HaueHWil). 3miuyBaHi ¥ He3/didyBaHi
iMeHHUKH. Ynciao iMeHHuKa. BigMiHIOBaHHS IMCHHUKIB.

Ipukmemnux. Mopdonoriuna OyaoBa mnpukMeTHHKIB. CTyIeHI TOpPIBHSHHS,
MOPIBHSJIBHI KOHCTPYKIIIT IPUKMETHHUKIB.

Yucnisnux. KinbKicHI Ta MOPSAIKOBI YMCIIBHUKH. J[pOOOBI YUCITIBHHUKHY.
3atimennuk. 3arallbHa XapaKTepucTuka 3aiiMeHHuKa. (Oco0oBi, MPHUCBINHI,
3BOPOTHI, B3a€MHI, BKa3iBHI, IIMTalbHI, CIOJYYHI, BIJIHOCHI Ta O3HaYajJbHI
3aiimenHuku. Much, Many, Little, Few.

Hiecnoso. 3araiibHe TOHSATTS PO JIE€CIOBO Ta AaieciiBHI ¢dopmu. HempaBumbHi
niecnoBa. CrocoOu miecmoBa. Yacu miecioBa y IIHCHOMY CIOCOOI aKTHBHOTO
crany. CucremaTu3ailisi BU10-4aCOBUX (POPM aHIIIIICHKOIO /11€CI0BA B aKTUBHOMY
crani. YxwuBanHs Passive Voice. MopnanbHi giecinoBa. HakaszoBuii croci0.
YMmoBHuii  crnocid. HeocoOoBi  ¢opmu  niecnoBa. IH]iHITHB, repyHmii,
JTUENPUKMETHUK.

Cunrakcuc

Tunu pedeHn. ['ojoBHI uwineHM pedeHHs. JpyropsaHi wieHn pedeHHs. [lopsmox
CJIIB B @HTJIIHCHKOMY PO3MOBITHOMY peUeHHI. ¥Y3ropkeHHs daciB. Hempsma moBa.
Jlirepartypa:

1. E.I'. Xomenko. I'pamaTtuka anrmniiicekoi MoBu. KuiB.3uanus-I1pec.2007.

2. €M. BoponoBa, H.l.Uepkammnua. English Bachelors’Course in Ecology.
XHAJlY, Xapkis, 2007.

3. M.A. bapaxoga.,P.1. )KypaBneBa. AHIIIUICKUIN A3BIK JJISI TOPHBIX HMHXKEHEPOB.
BIII, MockBa,2001.

4. B.A. Yxuk, H.I. Yepkammna, O. CepreeBa. AHriiiicbkka MoBa uisl Teorpadis.
XHY, 2008.

II1. MeToau4Hi BKa3iBKH.

Oco0yMBICTIO HABYAHHS 1HO36MHOT MOBH Ha 3a0YHOMY BIJIJIJICHHI € T€, 1110 00CSATH
CaMOCTIHHOI pOOOTH CTyjJ€HTa 3 BHUPOOJICHHS MOBHHMX HAaBUYOK 1 BMIHb 3HAYHO
NEPEBUIIYIOTh OOCSATHM MPAKTUYHUX AayJIUTOPHUX 3aHATh. CHIBBIIHOUICHHS
ayIMTOPHUX 1 CAMOCTIMHUX TOJIMH, SKI BIABOASATHCS HA TOBHUM KypC BHUBUCHHS
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40r: 240 roguH. TakuM YHMHOM, KOXHOMY ayJAUTOPHOMY 3aHSTTIO IOBUHHI
nepeayBaTu He MeHIe 12 TouH caMOoCTIMHOI poOOTH CTyIEHTA.
I Ilpasuna wumanmns.
[lepm 3a Bce HEOOXIHO HABYMTHCS MPABUIBHO BHMOBJIATH 1 YMTATH CJIOBA 1
pedeHHs. [1[o0 HaBYMTHCS TPABUIHLHO BUMOBJISATH 3BYKH 1 NMPaBUILHO YHTATH
TEKCTHU aHTJIIHCHKOI MOBOIO, MMOTPIOHO:
[To-niepiie, 3aCBOITH MpaBuUiia BUMOBU OKpPeMHUX OYKB 1 OyKBOCIIOIYYEHb, a TAKOXK
MpaBUJIa HAroJjoCy y CJIOBax 1 B IIIJIOMY PEYEHHI, IIPH [IbOMY OCOOJIUBY yBary CIij
MPUIITUTH BUMOBI THX 3BYKIB , SIKi HE MalOTh aHAJIOTIB y PiJIHIM MOBI.
[To-npyre, perynspHO TpEHYyBaTHUCS y YWTaHHI 1 BHMOBI CIIiB Ta pPEYCHb 3
PEKOMEHIOBAHUX ITiIPyYHHUKIB.
[lix Yac uyWTaHHSA CIiJ HABUUTHCS JIIATH PEUYCHHS HA 3MICTOBI BIPI3KH —
CUHTarMM, IO 3a0€3MeYnTh MPABWIbHY TEXHIKY YWTaHHSA, HEOOXIIHY JUIs
MPaBWIBHOTO PO3YMIHHS TEKCTIB. 3amam’siTaiilTeé BUMOBY 1 IpaBUJia YUTAHHS
TOJIOCHUX.
2. Poboma 3 nexcuxoio.
st Toro, mo0 po3ymiTH NpOYUTaHy JiTepaTypy HOTPIOHO MaTH NMEBHUM 3amac
CIIIB 1 CJIOBOCIIONyYeHb CIiB. [ 1bOTO PEKOMEHIYETHCS PETYISPHO UYUTATH
aHTJIIACHKOI0 MOBOIO HaBYalbHI TEKCTH, Ta3€TH 1 OpPUTIHAIBHY JITEparypy 3a
CHEIiaTbHICTIO.
PoGoty 3 3akpiruieHHss 1 30aradeHHs JIEKCHYHOTO 3aracy pEeKOMEHIYEMO
MIPOBOJIUTH TAKUM YUHOM:
a) poOoTa 31 CJIOBHHKOM, BUBYITh aHTIINACHKUN andaiT, o3HailoMTeCh 3 Oy0BOIO
CIIOBHHUKA 1 CUCTEMOIO YMOBHHUX TO3HAYEHb, SIKI IPUUHATI y TAHOMY CIIOBHUKY;
0) cioBa BUNHUCYHTE y 30MUT a00 HAa KapTOYKA Yy TOYaTKOBik ¢dopmi 3
BIJIMOBIJHOK TPaMaTUYHOIO XapaKTEPUCTUKOI, TOOTO IMEHHUK B OJHUHI,
JUECIOBO B 1H(IHITHBI, BKa3ylOUd OCHOBHI (POpMHU JUIsl HEMPABWIBHUX IECHIB 1
TIPUKJIAM 1X BXKUBAHHS Y TEKCTI.
[Tpn mepexnaai 3 aHrIINCHKOI MOBHM PIJIHOI0O MOBOIO HEOOXIAHO Mam’sITaTH, IO
TPYIHOIII BUKIUKAIOTh:

1. baecamosnaunicmo cnie. Hanpuknan, cioBo form mae 3HaueHHS:

1) dbopma, 30BHIMIHII BUIII, Qirypa (JFOAUHK)

2) iac (MIKUIEHU)

3) OnaHk

4) dbopmysroBaTH, SIBJISATH CO0OTO.
[Tinibpatn moTpiOHE CIOBO MOXHA TUTHPKM BUXOMSYM 13 KOHTEKCTy. Hampukian,
Bonds formed the bulk of his estate. OcHoBHOIO wYacTHHOIO ¥oro MmaitHa OyiH
oOJmiramii.
2.0monimu ( pi3Hi 32 3HAYEHHAM, alle 3ByYaTh OJHAKOBO). IX CIiJ Bipi3HATH Bin
0araTo3HayHUX CIIIB.
Hanpukian, weight- Bara; wait- yekatu; rain — gomr; reign- mpaBuTH; COUrt-
cyn;, caught- miimas. It rained yesterday. - Buopa itmos momi. How long has
Queen Elizabeth Il reigned? - SIk moBro npasuia koposieBa €auzasera I1?
3.Koneepcis. YTBOpEHHSI HOBHUX CIIIB BiJl BXKE€ ICHYIOUMX 0€3 3MiHM iX HAIllMCaHHS
HA3MBAETHCS KOHBepcicro. HalO1IbIn po3MOBCIOKEHUM € YTBOPEHHS MIE€CIIB BiJ
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BIIIIOBIIHUX IMEHHUKIB.
Hanpukian,

function - pynxkis; to function — ¢pyHkmioHnyBaty;

Increase - 30uIbmeHHs, picT; {0 iNCrease - 30UIbIIYBATHCS, 3POCTATH;

result - pesysbTart; to result - OyTu pe3yabTaToM.
4.Ilnmepnayionanizmu. B aHTIINCHKIA MOBI 3HaYHE MICIIE 3aliMalOTh CJIOBa, SIK1
OPUMILIK 3 1HIIMX MOB, B OCHOBHOMY 3 JIATUHCBKOI Ta Tperbkoi MoB. Lli crmoBa
MalOTh IIUPOKE PO3MOBCIO/KEHHS, 1 BOHU CTaJIM IHTEPHAI[IOHAIBHUMHU. 3a
JIOTIOMOT'OI0 KOPEHsSI TaKUX CJIiB JIETKO 3/I0TaJlaTUCA MpO iX MEepeKyaja PiJHOI0
MoBoto. Hanpukiaa, mechanization - mexanizariis, atom - atom, i T.1.
5. Cnosomeopenns. EHekTHBHUM 3aCO00M PO3MIMPEHHS 3armacy CIiB B aHTJTIHCHKIN
MOBI € 3HaHHS CIOCOOIB CIIOBOTBOPEHHS. SIKIIO BM BMIETE€ PO3WICHUTH TOXITHE
CJIOBO Ha KOPiHb, Cy(PiKc 1 mpedike, TOI JIeTIe BU3HAYUTH 3HAYCHHS HEB1JJOMOTO
cioBa. KpiM 1p0ro, SIKIIO BU 3HA€TE 3HAUEHHS HAWOLIbII BXKUBAHUX MPEQIKCIB 1
Ccy(ikciB, BH JIETKO 3MOXXETE€ 3pO3YMITH 3HAUEHHS THI3/a CIiB, YTBOPEHUX 3
OJIHOTO KOPIHHOTO CJIOBA , sIKE BU 3HaeTe. (Tabmuus 1.2, 3).
Tabauus 1. Haii0isu nomupeni npedgikcu

npedikcu PUKIIAIN nepeKsia

anti- anticyclone AHTHIIMKIIOH

CO- cooperation CIiBpOOITHHUIITBO
counter- counteraction IpoTrUBara

dis- disconnect po3’€THATH

extra- extraordinary HEe3BUYAHUIM

in- inexpensive HEJIOpOTHiA

multi- multistage 0araToCcTyreHEBHM
over- overpay neperIaqyBaTi
poly- poly-semantic Oarato3HaYHUI
post- post-war MMOBOEHHUU

pre- preheat 3a31aJIeTiab

re- rewrite nepenucaTu

trans- transformation MIEPETBOPCHHSI
ultra- ultra-violet ynbTpadioneToBUi
under- underline i IKPECITIOBATH

Ta6auus 2. OcHoBHI cydikcn iMeHHUKIB




cydikcu IPUKJIAIA NIEepEKIIA

-ance resistance oIip

-ence difference PI3HHULIS

-age usage BXKUBaHHS

--dom freedom cBoOoa

-ion (-tion) invitation 3aMmpONICHHS

-ment development PO3BUTOK

-ness usefulness KOPHCHICTh

-ship membership YJICHCTBO

-er converter IIEPETBOPIOBAY

-ty difficulty BaXKICTh
Ta6auus 3. OcHoBHI cydikcH NPUKMETHHMKIB i NPUCTIBHUKIB

npedikcu IPUKJIAIU NepeKIIal

-able changeable HEIOCTIHHUIN

-ible possible MOSKJIUBUI

-ant resistant TOM, IO YUHUTH

orrip

-ent different HE TaKUi

-ful powerful CUJIbHUN

-less helpless Oe3nopaHuii

-0us famous 3HAMEHHUTHI

-ly happily IIACITUBO

6. B aHrmiiicekiii MOBI € HHM3Ka JI€CIIB, SKi BXUBAIOTHCS 3 NMPUUMEHHUKAMU 1
YTBOPIOIOTH HOBI TIOHSITTS, 3aBASKA YOMY Taka MOPIBHSHO HEBEJHMKA TPyma CIiB
XapaKTEPHU3Y€EThCS BEIMKOIO Oararo3HauHicTio. CroJIM BiIHOCATHCA TaKl J1€CIIOBA,
sk to get, to be, to make, to go, to put. V cioBHHKax aiecioBa 3 NpUHMEHHUKAMU
MUITYTBCST TICJAS OCHOBHOTO 3HA4YCHHS Jli€eciioBa B aindaBiTHOMY TOPSIKY
npumiMeHHnka. Hanpuknan,

to go WTH

to go out BUXOJIUTHU

to go about UPKYJIIOBATH ( PO CIIYXH, TPOIIIi)
to go back IOBEPTATHUCS

to go away iTH

7. B aHrmiichKiii MOB1 Jy’Ke€ 4acTO IMEHHUK BHUKOHYE (DYHKIIO O3HAauYeHHS Oe3
3MmiHM CcBO€l dopmu. CTpyKTypa « IMEHHUK + IMEHHUK + IMEHHUK» , 1 T.J.
BUKJINKAE TPYAHOII MPU TEPEeKIaai , TOMY IO IMEHHHUKH CTOSTH TOPSI.
["'0710BHUM CIIOBOM Y Takiil rpyrmi Oy/ie OCTaHHE CJIOBO, Ti, SIKI CTOSITh MEPE]l HUM,
OylyTh O3HAUYCHHSIMHU.

Jlesiki  iIMEHHUKH-O3HAUYEHHSI  MOXYTh  MEPEKIaJaTHCS  MPUKMETHUKAMHU.
Hampuxian,

limit pressure IPaHUYHHUNA THCK

room temperature KIMHaTHa TeMIepaTypa



machine-building industry MaIIMHOOY/1IBHA TIPOMUCIIOBICTh

Opnak, Takuil cnocid mepekagy He 3aBXKAUM MOXJIMBUN: 4acTO TakKli O3HAYEHHS
JOBOJIUTBCS ~ MEpeKIaJaTh  IMEHHUKaMU Yy  HENpsAMUX  BIJIMIHKax  abo
NpUIMEHHUKOBUMHU KoMIuiekcamu. [lopsiaok mepeknamry 0OyMOBIIOETHCS 3MICTOM
MDK O3HAQYEHHSMHU 1 CJIOBOM, SIK€ O3HauyeThcs. llepekias ciij moymHaTtu crpaBa
HaJIBO 3 OCTAaHHBOI'O0 IMEHHHWKA, a IMCHHUKH , SIKI CTOATH Mepea HUM y GyHKIil
O3Ha4YeHHS, MOTPIOHO MepeKIaaaTH IMEHHUKAMH Y HENPSMUX BiIMIHKaX (JacTiine
y poAOBOMY), a00 MPUINMEHHUKOBUM KOMILUTIeKcoM. Hampukian,

the institute radio equipment laboratory — iHcTHTYyTChKa J1abopaTopis
paaioycTaTKyBaHHS,

atomic energy conference — kordepeHIIis 3 TpoOJIeM aTOMHOT CHEPTCTHKH

8. YV TekcTtax HAyKOBOIO XapakTepy aHMIMCHKI CJIOBOCIOIYYEHHS 4YacTo
NEPEKIIaalOTHCS OJTHUM CIIOBOM:

raw materials CHUpOBHHA
radio operator pagucT
construction works OymoBa

Croay4yeHHs TPhOX, YOTHPHOX CIIiB MOKHA MEPEKIAAaTH PiTHOI MOBOIO JBOMA-
TpbOMa CJIOBaMHU:

End user procedure manual — mociOHMK 1151 KIHIIEBOTO KOPUCTYBaya.

9. IHomi mpH TMepeKIaai 3 aHTJIIHChKOT MOBH PiTHOIO JTOBOJUTHCS KOPHCTYBATHCS
ONMCOBMM TEPEKJIAOM 1 TMepeJaBaTd 3HAUCHHS aHIJIHCBKOrO ClioBa 3a
JIOTIOMOTOI0 JICKIILKOX pigHuX cimiB. Hampukman:

Imennuxu

characteristics XapaKTepHi 0COOIMBOCTI

efficiency Koe(DIiieHT KOPUCHOT Ail
necessities IpeMETH TePIIoi HEOOXiAHOCTI
output BUITYCK MPOAYKIIIT

solid TBEPJIE TIJIO

diecnosa i npucii6HUKU

to average CKJIaJIaTH, PIBHATUCS B CEPEIHBOMY
mainly (chiefly) TOJIOBHUM YHMHOM

10. HayxoBa miTepaTypa XapakTepU3yEThCS BEIMKOIO KUIBKICTIO TepMiHIB. TepMmiH
— 1€ CJIOBO 200 CIIOBOCTIONYYEHHSI, SIKE MAa€ OJIHE CTPOTO BU3HAYECHE 3HAUCHHS /IS
maHoi Tanmy3l Hayku 1 TexHikd. HesHallomuii TepMmiH ciig  mIykatd y
TEPMIHOJIOTIYHOMY CIIOBHUKY.

OCKUTBKM OCHOBHOIO METOIO HABYAHHS 1HO3€MHOT MOBH € OTpUMaHHs iHpopMartii 3
aHTIIOMOBHUX JDKEPEII, 0OCOOIMBY YBAry CJiJi MPUAUTSITH YATAHHIO TEKCTIB. TOYHE 1
MIOBHE PO3YMIHHS TEKCTY JIOCATAETHCS MMPU BUBYAIOYOMY YMTAHHI, SKE mepeadadae
BMIHHSI CaMOCTIITHO MpOaHalli3yBaTU TEKCT 3 TOYKH 30pPY JEKCUKHU 1 TPAMaTHKHU.
PesynpTaToM 1pOro OyJe SKICHUN Mepekaj PiHOI MOBOKO 3a JOMOMOIOKO
CIIOBHUKA.

Part1l

ENTRY TEST
Time: 45 minutes



Instructions: Choose the word or phrase (A, B or C) which is correct in the
sentence.
EXAMPLE: 1... tired today.

a. am b.is c.are

Only ‘a’ is correct, so you write a 0n your answer sheet.

Loveoii, oranges are very good.

a. These  b. This c. That
2.Are ............ people very nice?

a. that b. those c. there
3 a dog in the garden.

a. It has b. Itis c. There is
4. What’s that? ........ 1S my new car.

a. They b. It c. There
S, is a good film at the Odeon.

a. Their b. They’re  c. There
6. 1. oo, to go to town tomorrow.

a. has b. have c. had
7. You ought ........... at home.

a. stay b. to stay c. staying
8 He............ speak English.

a. knows  b. knowsto c.can
9.He should ............ a letter.

a. write b. towrite . writing
10. Do you want ............ the film?

a. see b. to see C. seeing
11. T hope John’s got ......... money.

a.a b. any C. some
12.Heis ......... :

a. engineer Db. one engineer .c an engineer
13. I’d like ......... eggs, please.

a. any b. an C. some
14. We’ve got ............ eggs left.

a. a few b. a little C. a number
15. There aren’t ............ people here today.

a. alot b. many c. much
16, ...cooeel she get up early every day?

a. Is b. Does c. Has

17. Were you in London last week? No, I ......... .
a. didn’t b. weren’t  c. wasn’t

18. She often ............ a bath in the morning.
a. has b. have c. is having

19 He ............... his hat last week.

a. loses b.haslost  c. lost

20. They ............ the 7.30 bus yesterday.
a. caught  b. catch c. catches
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21. Mary is here, but her parents ......... :

a.isn’t b. wasn’t c. aren’t
22.He ............ because he was late.
a. hurries  b. hurried c. hurry
23. ... she going to do anything today?
a. Doesn’t b. Does c. Isn’t
24. They ............ television at the moment.
a. watch b. is watching c. are watching
25, i much work yesterday?
a. Did you do b. Do you do c. Did you
26. Who is she looking ......... ?
a. on b. at c.to
27. This is a nice piece ......... cheese.
a. of b. off C.—
28. Our holidays are ............ June.
a.in b. at c.on
29. They’re listening............ the news.
a. at b. to C.—
30. We came here ............ 1999.
a.on b. at c.in
31. What’s the matter ............ him?
a. by b. with c. from
32.Your glasses are ............ the bathroom.
a.in b. of c. into
33. Stop him! He’s going to jump ...... the river!
a. on b. onto c. into
34. No large shipscan go ............ that bridge.
a. over b. across c. under
35. It’s time for coffee. All the students are
coming ...... their lessons.
a. off b. out of c. out
36. This book is ......... .
a. my b. me C. mine
37. She would like to meet ............ :
a. you b. your c. to you
38. Give the money ...............
a. tothem b. them C. thelrs
39. Whose is that big house? It’s ......... .
a. her b. hers c. to her
40. We’re going to ............ favourite shop.
a. our b. us C. ours
41.Itismuch............ here.
da. warm b. warmer C. more warm
42.Sheisnotasold ............ I am.
a. that b. tan C. as
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43.He’s ............ intelligent than I am.
a. very b. more c. plus
44. He drives ............ :
a. more careful b. very careful c. very carefully
45. Yesterday was the ............ day so far this year.
a. very hot b. most hot c. hottest

46. ............ wrote that letter?
a. Where  b. Why c. Who
47. She went home early........ she had finished her work.
a. because b. while c. without
48. oo, did you put it?
a. Where  b. Who ¢ .When
49. °...... iS.... Bill?” “Very well, thanks.’
a. How b. Why c. Where
50. I’'m going home to change first........... I’m going out for a meal.
a. Than b. Then c. Therefore

Translate the text with the dictionary

There is no life without water.
Man can live without clothes, without shelter, and even for some time without
food. Without water he soon dies. But not all water helps him to survive: if it is not
clean, then also he may die before his time.

Some people say that man and his story is "a question of water and little
else." All his food has water, from about 60 to as much as 95 per cent. His body is
about 70 per cent water. The surface of the earth is 70 per cent water to an average
depth of over 4 kilometers. But often man does not have enough water.

Water played an important part in man’s progress. He needed something to
carry and keep water in, and so the idea of 'pottery was born. Ancient civilizations
rose on the banks of the Nile, the Tigris, and other rivers. But then the world's
population was not so large as it is now. And industry is thirsty, too. We need 3,5
liters of water to produce a kilogram of dry cement, 10 liters to produce one liter of
petrol, 100 liters to produce one kilogram of paper, and so on.

The greatest number of townspeople needing new water services lives in
South-Central and South-East Asia. The needs are greatest in India, Indonesia, the
Philippines, Nigeria, Brazil, and Pakistan.

UNIT 1
Glossary
1.cliff CKeJIst 12.coal BYTLLIIS
2. shore oeper Mops 13. iron ore 3aj1i3Ha pyaa
3. owes 3aBIsUY€ 14. copper MIiJTb
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4. advantage nepeBara 15. zink LIUHK

5. high tide MOPCBHKHIA IPUILIINB 16. lead CBUHEIIb

6. low tide MOPCHKHUH BiJIIIJIUB 17. wheat MIIEHULT

7. harbour raBaHb 18. barley STYMIHB

8. fertile valley  pomroua monuna 19. oats OBeEC

9. plentiful rainfallpsicai mommi 20.corn KyKypyA3a

10. heavy fogs  cuibHI TyMaHH 21.rye KHUTO

11. goods TOBapHU 22.sugar beets IyKpOBHUIi OyPsIK

1. Read and translate the text.

The British Isles lie off the western shores of Europe and come nearest to
the Continent where the white cliffs of Dover face the cliffs of north-east France.
The Strait of Dover is so narrow that a tunnel was made to connect the railways of
the two countries.

North and west of Dover the British coasts are farther away from the
Continent, they are separated from it by the North Sea and the English Channel.

Great Britain is the largest island which includes England, Scotland and
Wales. It is separated from Ireland by the Irish Sea.

Great Britain owes much to the seas. In the first place, the seas have acted as
a guard and have often kept the island free from wars. In the second place, the seas
have given Great Britain a great advantage through the tides. Far out in the Atlantic
the tides are scarcely noticed, but in the shallow British seas the difference
between high tide and low tide is often very considerable especially in funnel-
shaped estuaries like those of the Severn and Humber. Thus in -coming deep water
twice in every twenty-four hours up the lower channels and estuaries of the rivers
has made it possible for large ports to be built many miles from the open sea.
Besides the shallow waters around the British Isles arc the home of many fish.

England has an area of 50,874 square miles. Its coast line is very irregular.
There are many good harbours. No part of the country is more than 70 miles from
the sea.

In general, England slopes from west to east. The main mountain system —
the Pennine Chain - runs from the Scottish border to the Midlands, a region of hills
and fertile valleys.

The rivers flow east into the North Sea (the Tweed, the Tyne, the Thames
and a group of streams which join to make the wide Humber) and west into the
Irish Sea or the British Channel (the Mersey, the Avon and the longest river in
England - the Severn).

England has no large lakes. But the Lake District in the north-western part of
the country is known for its beauty. There are sixteen lakes there.

England has a mild climate. This is due to the winds which blow from the
south-west, from the ocean and the Gulf Stream which warms its shores. Rainfall is
plentiful during the whole year. The heavy fogs of England are famous.

The most important natural resources of England are iron and coal.

Most of the people work in the great industries of the large cities. The most
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important industrial products are wool and cotton goods, machinery, iron and steel
goods. Coal, iron, copper, zink, lead and building stone are the principal materials
taken out of the ground.

The principal crops are wheat, barley, oats, corn, rye, vegetables, sugar beets
and fruits. England imports about 40 per cent of its food supply.

2. COMPREHENSION EXERCISES
1. Find in the text the terms which describe the following;
1. a dense, cloud-like mass of water droplets suspended in the lowest layers of the
atmosphere that reduces visibility to less than 1 km; 2.the cyclic and daily changes
in the elevation of the ocean surface caused by the gravitational attraction exerted
by the sun and moon; 3.the amount of precipitation recorded in an area during a
defined period, and measured in a standard rain gauge; 4.the average weather
conditions experienced at a particular place over a long period (usually more than
70 years).
2. Answer the following questions:
a) comprehension questions:
1. What separates The British Isles from the continent?
2. What countries does the largest island include?
3. What seas wash Great Britain?
4. What does Great Britain owe to the seas?
5. Define the geographical position of Great Britain.
6. What crops are grown in Great Britain?
b) true-false questions:
1. London is the capital of Great Britain. 2. England is the largest of the four
countries on the British Isles. 3. Iron is the most valuable resource in Great Britain.
4. The Gulf Stream cools the shores of Great Britain. 5. Barley does not grow in
UK.
¢) multiple-choice questions:
1. What influences on the climate of Great Britain?
a) The English Channel
b) the surrounding seas
c) the Gulf Stream
d) the Pennine Chain .
2. Which of the following crops does not grow in the Great Britain?
a) pineapples
b) barley
C) potatoes
d) wheat.
3. How can you characterize the climate of England?
a) continental
b) mild
c) extremely continental
d) damp tropical
4. Most people in the United Kingdom work
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a) in heavy industry
b) in textile industry
C) in computers

d) on farms.

3. GRAMMAR EXERCISES
1. Arrange the words correctly in the seven columns.

1. Major gases because activities human concentrations atmospheric of long-

lived greenhouse increasing are of.

2. Account for power stations per cent 34 emissions current of dioxide carbon.
UK are currently emissions carbon dioxide of are around 2.7 per cent total
global of from combustion fuel fossil.

4. Why increasing is greenhouse of concentration gases?

5. A tree in the corner of the garden he planted.

6. UK is stable emission carbon of dioxide in?

7. There a lot of people are at the bus-stop.
8
9.
1

w

. What to lead will global warming?
Is covered Earth’s by surface the rock of called thin crust layer a.
0. Above sea Rocky level crust islands forms and continents.

2. In the following sentences, one verb form is right and one is wrong.
Underline the correct one and cross out the wrong one.
a. | read/am reading a book about astrology.
b. | read/am reading lots of books every year.
c. We go/are going to a party on Saturday.
d. Nurses look/are looking after people in hospital.
e. Ann comes/is coming from Ireland.
f. She comes/is coming for dinner this evening.
g.. | speak/am speaking four languages.
h. Do you want/Are you wanting to go out tonight?

3. Complete the sentences using the correct form of the verbs in brackets:
1. The earth (to go) round the sun.
2. Laterite soils (found) in South America.
3. World population (to reach) critical levels.
4. The environmental crisis we are facing today (to destroy) even a tiny corner
of the earth.
5. If we (not take) action soon, the environmental crisis may cause irreversible
damage to the entire planet.
6. There (to be) two important differences between ancient civilization and the
world today.
Since the soil is porous, it (subject) to leaching.
Government (to have) an impact on the population growth.
9. Many people prefer a small car now because it (to be) economical to operate
and it (to conserve) energy.

0o~
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10. Animal fat (contain) cholesterol.
4. Underline the mistake in the following sentences. Then correct them.
1.1s you working very hard? Are you working very hard?
2.At the moment they working with Poland?
3.Is Nick and Mike planning the conference together?
4. What you think about?
5. Is raining in Bangkok?

5. Read the text. (Find Cornwall on the map). Speak about the country,
its position, climate, nature, industry, the people and their occupations and
traditions.

Cornwall is a rocky peninsula jutting out into the Atlantic. Open to the
southwest winds of the ocean it is characterized by warm winters, cool sunny
summers and rich rainfall.

The centre of the peninsula is occupied by uninhabited moorlands. Around
this area and between it and the coast lies an area well watered by the many
streams, that come hurrying down from the high moorlands to the sea. These
valleys are rich and fertile. The rich grasslands, the mild climate and the rainfall
have given rise to cattle rearing and dairy industry. The most important crop is
oats.

In the days of Roman invasion Cornwall was known for tin-mining. It was
one of the most densely populated parts of the British Isles. Yet today one can see
only two or three mines being worked.

What tin-mining was for the inland Cornishman, the sea was for the coast
dweller. Fishing was until the beginning of the twentieth century one of the most
important industries of the area. Most of the boats that do remain are only fishing
boats in name. They are used for trips round the small picturesque harbours for
holiday-makers.

But one industry in Cornwall continues to grow. It is the mining of china-
clay. Ships from all over the world carry the precious Cornish china-clay to
Sweden, Australia and many other countries.

The chain of snow white pyramids rises above the industrial district. Snow
peaks in the south of Cornwall! But the chief charm of Cornwall is the coast with
its many beautiful bays and covers.

Cornishmen differ from the English in their traditions and customs. One of
the most famous folk traditions of Cornwall is the Flora Dance. Two or even three
times a year, on certain days, all the people of the village, old and young, gather in
the market place. They form up a procession and to the traditional Flora Dance
tune, dancing, wind their way through all the houses of the village, in at the front
door and out through the back. Every town, village and hamlet in Cornwall has its
Flora Dance.

UNIT 2

Glossary
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1. peninsula MiBOCTpIB

2. qulf 3aToKa

3. bay Oyxta, ryoa

4. latitude HIUPOTA

5. ameliorate HOKpaIlyBaTH
6. enhance 30111y BATH
7. prevalent HepeBaKa0unit

1. Read and translate the text.
EUROPE

Position and size - With an area of about 3 750 000 square miles, Europe is
the smallest of the continents except Australia. It is characterized by the
comparatively great length of the coastline, broken up everywhere by peninsulas,
gulfs, bays and fringed by islands with the result that only the heart of Russia is
more than 500 miles from the sea. Europe lies almost entirely in middle latitudes -
the North Temperate /one; only a small fragment in the north is within the Arctic
Circle. Climate -In general, it may be said that a number of factors have a
determining influence on the character of European weather and climate. The
factors may be grouped as follows:

a) The western coasts of the continent are bathed by warm current - the
North Atlantic Drift, which is a continuation of the Gulf Stream. The existence of
this warm current, especially round the British Isles, has undoubtedly an important
effect in ameliorating winter conditions. But the effect of the warm water itself is
enormously enhanced by the prevalent south-westerly wind; for the warmth is
communicated through winds and not by the actual warm current.

b) According to the modern concepts of air-mass meteorology, a very
important difference is found between cold Polar air and warm air coming from
tropical regions. The position and amount of the cold Polar air varies with the
season. The margin, the Polar front, in winter may be regarded as following
roughly the 32 F isotherm. The currents of warm tropical air which reach Europe
as the Westerlies exert their influences on the remainder of Europe.

c) The configuration of Europe, particularly the existence of the
Mediterranean Sea and its continuation in the Black sea, as well as, to a less extent,
the existence of the Baltic Sea, permits the penetration eastwards of oceanic
conditions.

2. COMPREHENSION EXERCISES
1. Find in the text the terms which describe the following:
1. The area marking the points of contact between land and water bodies, such as
the sea or a lake .2. a line on a weather chart which joins all points of the same
temperature at a particular time.3.the winds which blow from the subtropical high
pressure latitudes towards the lower pressures of the mid-latitudes between 35° and
65° N and S.
2. Answer the following questions:
a) Comprehension questions:

17



1. What is the area of Europe?

2. What is the population of the EU?

3. What countries make up Europe?

4. What is the climate in Europe?

5. Are there any high mountains in Europe? What are they?

b) True-false questions:

1. Europe is one of the biggest continents.2.Its coastline is short .3.There are no big
peninsulas.4.Europe lies in middle latitudes.5. The North Atlantic Drift is a
continuation of the Gulf Stream. 6. The currents of warm tropical air exert their
influences on the remainder of Europe.

c) Multiple-choice questions:

1. What influences European weather?

a) northern winds

b) warm currents

c) drifting polar ice

d) south-westerly wind

2. Europe lies in:

a) the Alps

b) in the Atlantic Ocean

c) in the middle latitudes

d) within the Polar Circle

3. Winter in Europe is

a) severe

b) snowless

c) with plenty of rains

d) dry with minus temperatures.

3. GRAMMAR EXERCISES

1. Fill in question words.

1. ... discovered penicillin?

2. “...calories do you consume every day?” “About 1,800.”

3. ...do you go to the gym? “About once a week”.

4. ...is your favourite colour?

5. ...are you going on holiday this year?

6. ...is the fastest way to get to Poltava from here?

7. ...do you leave home in the morning?

8. ...didn’t you call me earlier?

9. ...your lessons start?

10....weather forecast for tomorrow?
2. Supply the missing words.
a) wh..... and other crops are raised in the Temperate Zone while raw rubber is
cultivated in the ...2. Liners can enter the estuaries of the Humber and the Severn
only at high.... .3. Which climate is milder, that of the Frigid Zone or that of the ...
Zone ? 4. A mixed forest is a forest of...and ...trees.
b) The longest......in the British Isles is the Shannon. It is about 240 miles long. On
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its way to the sea the Shannon.....through several lakes. At the city of Limerick the
Shannon broadens out into a great..... .or mouth, 60 miles long, where the waters
rise and fall with the...

The Shannon is very important to Ireland, for from it is produced electricity which
is fed to all the ..... .in the country.

3. Memorize the following proverbs with the passive form of the verb-
predicate. Give their Russian equivalents.

The road to hell is paved with good intentions.

A man is known by the company he keeps.

Never ask pardon before you are accused.

A liar is not believed when he tells the truth.

What is done cannot be undone.

4. Finish each statement. One clause is affirmative and the negative. All have a
main verb.

EXAMPLE: Americans eat a lot of meat, but Japanese people don t.
EXAMPLE: Japanese people don't eat a lot of meat, but Americans do.

1. Americans have a high rate of heart disease, but Japanese people

2. Japanese people don't consume a lot of fat, but Americans
3. Animal fat contains cholesterol, but plant oil
4. Some Americans watch what they eat, but others
5. A lemon doesn't contain much sodium, but soy sauce
6. Children drink a lot of milk, but adults

gk wbhE

5. Read and translate the text. Give its main idea.

The Republic of Ireland (Eire) lies west of England in the Atlantic ocean.lt is
separated from the island of Great Britain by the Irish Sea.

Eire takes up all the island of Ireland except the north-eastern comer. Here
there are six counties which make up Northern Ireland (Ulster), a part of the United
Kingdom.

The coasts of the island are mountainous. The central plain contains most of
the good farm lands. It also has great peat bogs.

The longest river is the Shannon. It is also the longest in the British Isles.

Ireland has a mild climate with plenty of rainfall. The plentiful rainfall gives
the vegetation a vivid green colour. Because of its greenness Ireland is often called
“the Emerald Isle”.

Seventy-five per cent of the people of Eire earn their living as farmers or
cattle raisers. Much of the land is too swampy and hilly to farm, but the thick
covering of rich green grass makes excellent pasture land for horses, cattle, pigs
and sheep.

The most important farm crops include oats, wheat, barley, rye, flax,
potatoes and sugar-beets.

But the climate of Eire is too damp to grow much grain.

UNIT 3
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Glossary

1. iron ore 3aJi3Ha pyaa

2. clay TJIMHA

3. sedimentary rocks 0CajI0Bi IOPOIH
4. igneous rocks BUBEPI)KEHI MTOPOIH
5. limestone BaITHSIK

6. ferroalloys ¢bepociutaBu

7. sodium HATPIH

8. potassium KaJIii

9. cleavage PO3IICTUICHHS

10. sulphur cipka

1. Read and translate the text.

MINERALS
Minerals that make up rocks are defined as inorganic substances which occur
naturally and have a definite chemical composition and physical properties which
vary within known limits.
The major properties are colour, crystal form, hardness, cleavage and others.
Cleavage is one of the most diagnostically useful mineralogical properties which
can be found throughout the mineral.
Minerals of use to man can be grouped into two broad categories: 1) metals, such
as aluminium, copper, gold, silver, iron, tin, platinum, chromium, nickel, lead and
zinc, and 2) non-metallic minerals, such as diamonds, salt, limestone, cement,
sulphur, and asbestos. When minerals occur so that they can be worked at a profit
they are called ore deposits. Mineral deposits are seldom equally rich throughout.
Economic minerals are those which are of economic importance and include both
metallic and non-metallic minerals.
Most minerals consist of several elements. Such elements are oxygen, silicon,
titanium, aluminium, iron, magnesium, calcium, sodium, potassium and hydrogen.
They make up more than 99 per cent by weight of all the rock-forming minerals.
Of these, aluminium, iron and magnesium are industrial metals. The other metals
are present in small quantities, mostly in igneous rocks.
For example, iron is one of the most abundant metals in the Earth's crust. There are
three important classes of iron deposits: deposits associated with igneous rocks;
residual deposits and sedimentary deposits. Iron deposits associated with igneous
rocks are usually small but very rich bodies either of haematite or magnetite. Large
concentrations have been successfully mined in Pennsylvania (the USA) and in the
Russian Federation.
Residual deposits of iron minerals are formed wherever weathering occurs. Iron
deposits formed this way are very widespread. It should be stressed that the
residual deposits were among the first to be exploited by man.
Sedimentary iron deposits make up most of the world's current production.
As the essential component of every variety of steel, iron is obviously the most
important of all industrial metals. It has played a large part in the development of
our modern civilization. Iron ores are mainly used for producing cast iron, steels
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and ferroalloys. From a scientific point of view, iron's most important property is
that it becomes magnetized.
The magnetic iron ore is the main wealth of the Kursk Magnetic Anomaly (KMA).
Iron fields are worked by surface mining which is more economical. But the KMA
is rich not only in iron ores. Its deposits contain bauxite, phosphorite, cement, sand
and clays.
2. COMPREHENSION EXERCISES

1. Find in the text the terms which describe the following:
1. The property of certain rocks such as slate to split along planes of weakness
which are often not related to the original bedding; 2.any naturally occurring solid
inorganic substance of definite chemical composition and crystalline structure. 3. a
hard strong metal that is used to make steel and is also found in small quantities in
blood and food. 4. a pale yellow substance that produces a strong unpleasant smell
when it burns and is used in medicine and industry.
2. Answer the following questions:
a) Comprehension questions:

1. What are minerals?

2. What are the major properties of minerals?

3. Why is cleavage the most important property of minerals?

4. How can minerals be grouped?

5. When are minerals called deposits?

6. What are the three classes of iron deposits?
b) True-false questions:
1. Iron is the most important of all industrial metals.2. Cleavage is one of the most
diagnostically useful mineralogical properties 3. When minerals occur so that they
can be worked at a profit they are not called ore deposits.4. Sedimentary iron
deposits make up least of the world's current production.
¢) Multiple-choice questions:
1. Minerals that make up rocks, are defined as
a) inorganic substances
b) organic substances
c) alloys
d) mixtures
2. Aluminium, iron and magnesium are
a) industrial metals
b) agricultural products
c) ferroalloys
d) chemical elements
3. lronis
a) the most important of all industrial metals
b) the least important metal
c) made up of many other elements
d) is used in industry only
4. The Kursk Magnetic Anomaly
a) is rich is magnetic iron ore
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b) is in Ukraine
c) Its deposits contain bauxite, phosphorite.
d) cement, sand and clays are not found there .
3. GRAMMAR EXERCISES

1. Put some / any/l no/ and their derivatives

1. Do you live in the centre?

2. There's at the door. Can you go and see who it is?

3. Why are you looking under the table? Have you lost ?

4. He left the house without saying__ to :

5. The film is really great. You can ask who has seen it.

6. Can you give me information about places to see in the town?
7."Where did you go o fory your holidays?" " | stayed at home."

8. There were shops open.

9.We had to walk because there was bus.

10.  The station is near here.

2. Fill in the gaps with the prepositions (of, for, in, at, to, during, with, from,
on):

One ... the professors ... our Institute is known (u3Becten) ... his work... the field...
geology. He finished school... St. Petersburg and entered ... the Institute of Mining
there.... the Institute he studied the full range ... subjects relating... geology and
mining.... his practical training he visited many coal-fields and collected material...
his graduation paper ... the stratigraphy of the Urals. After graduating ... the
Institute he worked as a geologist in the Kuzbas. He investigated geological
conditions and their influence .....the choice ... methods... mining useful minerals.
3. Fill in the gaps with to be or to do in Present Simple or Present Continuous
negative.
Model:  They aren't watching television now.

They don't watch television every evening.

1. He listening to the radio right now.

2. He listen to the radio every day.

3. They do their homework in class.

4. They __ doing their homework right now.

5.1 see any students in that room.

6. Where's your brother? he seeing your sister home?

4. Complete the descriptions. Use the comparative or superlative form of the
adjective:

South of Sydney, Bondi is the ... (easy) beach to reach. It has the ... (wide)
range of facilities, but at weekends it’s ... (crowded) and ... (noisy) than the other
beaches. South of Bondi, Tamarama is one of Sydney’s ... (beautiful) beaches, but
also one of the ... (dangerous) for swimming. For children, Cooge Beach is both

.. (safe) and ... (suitable) than Tamarama.

There are several beaches north of Sydney. Manly is the ... (accessible) and
the ... (good) for surfing. Palm Beach is ... (far) from Sydney than Manly, and it
takes ... (long) to get to, so it’s not surprising that it’s ... (peaceful) than the
others.
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5. Read and translate the text. Give its main idea.
THE EARTH

The earth is one of the planets of the solar system. The planets revolve
around the sun and in turn some planets have moons that revolve around them. The
earth has a diameter of approximately 8000 miles and is about 25 000 miles in
circumference at the equator. Our moon has a diameter of over 2000 miles and is
the largest moon in the solar system. It is the brightest object in the night sky and
its attraction is the chief cause of the tides. The sun is one of the millions of stars
with temperatures so high that they are self-luminous. The sun is a glowing ball
865 000 miles in diameter. But the sun is not the brightest star. Many stars are
bigger and brighter than the sun.

Shape of the Earth. - The earth is a sphere. There are many ways to prove
that .If we watch a distant ship coming into view we see first of all the masts and
then the hull. Similarly, if the ship is moving away its lower part disappears first.

A man standing on the seashore can only see a short distance; if he wants to
see farther he must ascend a hill.

There are times when the earth gets between the sun and the moon, so that
the earth casts a shadow on the moon. This shadow is always circular. Now, only a
spherical body always throws a circular shadow and so we know that the earth
must be spherical.

TEST I.

Task I. MakcumanbHa KiiibkicTs 6auis: 10 (Total 10)
Choose the correct word to complete the sentences.

1. Pollution problems first ... during ancient times.
A) arose C) have appeared
B) were arising D) arosed

2. The problem of pollution ... a major one at the end of the 20" century.
A)is C) were
B) will D) was

3. The forests disappearing at the rate of 0.001 hectares a day when they started
investigation.

A) was C) were

B) are D) will be

4. He ... your compliment always.

A) appreciated C) have appreciated
B) appreciates D) were appreciating

5. She ... inviting them to the conference when he interrupted her.
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A)is C) has
B) were D) was

Task Il. Total 10
Use the correct form of the adjectives.

1. It 1s the ... harmful substance I ever heard about.
A) more B) most C) less

2. Coal was used to power ... of the factories and to heat ... of the homes.
A) many B) a large number C) most

3. The pollution problem is ... complicated ... it serious.
A)so ... as B)as ... as C) both as

4. Road transport makes journeys ... than air transport.
A) short B) shortest C) shorter

5. New inventions of the 1900s made pollution steadily the ...
A) less B) least C) worse D) worst

Task I11. Total 20
Give English equivalents of the following:

1 GoisoTO 11 Hacmiaku

2 BIIKJIQIaTHUCS 12 mocyxa

3 reosIoriyHa enoxa KamM’sHOTO BYTLIIIS 13 ropinus

4 netkuii 14 nepeBara

S BYTUIbHI TOPU3OHTH 15 npunus

6 JTOMIMIKH 16 poatoua nonuHa
7 map, miacT 17 cunbHI TyMaHH
8 rerunis 18 mienuns

9 IBOOKHC BYTJICIIIO 19 xxuro

10 BuKOMHE AIMBO 20 1yxpoBwHii OypsiK

Task IV. Total 10
Compose sentences with proposed question words.

1. Railways have several advantages over road transport. (What...?) (common)

2. Vehicles are as comfortable as dangerous. (What...?)(common)

3. Pollution is developed countries is higher than in the underdeveloped.
(What...? Where...?)

4. Pollution problems first arose during ancient times. (When...? What
problems...?)

5. In 1986 an explosion and fire occurred at a nuclear power plant in
Chernobyl. (When...? Where...?)
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Task V. Total 10
Insert the necessary words.

1. Our natural beauty is ... .
A) interesting B) unique C) important

2. People pollute the air with ... .
A) litter B) exhaust gases C) factories

3. The purpose of the Earth Day is to increase public awareness of ... .
A) life B) environmental problems C) future

4. In 1986 there happened the largest ... .
A) emission of gases B) radioactive emission  C) oil spill

5. Air pollution from ... has been greatly reduced in most parts of the world.
A) solid wastes B) coal burning C) water pollution

Task VI. Total 20
Translate into English.

1.

8.

9.

Mu TmOBHHHI CTBOPIOBATHM CYCIIJIBHI Opradizamii mis O0opoTe0u i3
3a0pyAHEHHSIM JOBKIJUIA.

[le#t paiioH HAUOPYIHIMTUN y MICTI.

VY 20-My cTopiudi Tpynu JrOJAeH CTBOPWINA KUIbKA MOTYXHUX €KOJIOTTYHUX
PYyXiB.

[Tomitruni 3Mian y CxigHii €Bpomni B KiHi 20-ro cTopiyyus OyJju MoB’s3aH1
3 €KOJIOTIYHUMH MPOOIEMaMH.

Koxen 30008’ s13aHui 60pOTHCS 13 3a0pyIHEHHSIM JTOBK1JLIIA.

[Ipobnema 3a0pyAaHEHHS TMOBITPS, 3€MJII Ta BOJU CTajla TOJOBHOIO
Harnpukiaii 20-To cropivys.

Bueni Ta iHmkeHepu MOBUHHI 3HAXOJWTH NUISIXU 3MEHIICHHS 3a0pyaHEHHS
JIOBKULIA.

Yci 3a0pyIHIOI0Y1 pEYOBUHU MOXKYTh TAaKOX BIUTMBATH Ha KJIiMarT.
[TapauKoBUii e(hEKT MOKE MIBUIATH TEMIIEPATYPy HA 3EMIII.

10.Yucnenni pocmimpkeras B CIIA ta B €Bpom MOKa3ymOTh, MO IIyM €

MMPUYINHOXO BUHUKHCHH:A OaraTbox XBOpO6.

Task VII. Total 10
Compose sentences using the following words.

1.
2.
3.

Dinner, to, thanks, for, many, inviting me.
It’s, go, place, to, to, eat, place, but, a, good, terrible, a.
Just, that’s, I, wanted, I, for, exchange, needed, what, to, what.
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4. Do, I, least, could, was, the, it.

5. You, grateful, idea, am, for, present, your, how, have, no.
Task VIII. Total 10
Give 3 forms of irregular verbs and compose 5 sentences with them.

1) to become 6) to blow
2) to have 7) to give
3) to take 8) togo
4) to make 9) to leave
5) to understand 10)to come
UNIT 4
Glossary
1. tiny KPUXITHUH
2. to solidify 3aTBEPIITH
3..droplets Kparuti
4 transparency MPO30PICTh
5. liquid piguHa
6. hollow MOPOXKHIN
7. buoy oyu
8. affinity CXOXKICTh
9. combustion TOPiHHS
10. humidity BOJIOTICTh

1. Read and translate the text.
FOG

Fog is simply a cloud on the ground, composed, like any clouds, of tiny
droplets of water or, in rare cases, of ice crystals, forming an ice fog. Ice fogs
usually occur only in extremely cold climate because the water droplets in a cloud
are so tiny they do not solidify until the air temperature is far below freezing,
generally 30 degrees below zero Celsius or lower.

The droplets of fog are nearly spherical; they vary in diameter between two
and 50 microns and in concentration between 20 and 500 droplets per cubic
centimeter of air. The transparency of a fog depends mainly on the concentration
of droplets; the more droplets, the denser the fog. A wet sea fog may contain a
gram of water per cubic meter; a very light fog may have as little as .02 gram of
water per cubic meter.

Since water is 800 times denser than air, investigators were long puzzled as
to why fogs did not quickly disappear through fallout of the water particles to the
ground. To explain the persistence of fogs many early investigations concluded
that the droplets must be hollow (that is, bubbles). It turns out, however, that the
droplets are fully liquid and do fall at the predictable rate, but in fog-creating
conditions they either are buoyed up by rising air currents or arc continually
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replaced by new droplets condensing from the water vapor in the air.

The atmosphere always contains some water vapor, supplied by evaporation
from different bodies of water, vegetation and other sources. The droplets
condense on tiny particles of dust in the air called condensation nuclei. These are
hygroscopic particles which because of their affinity for water vapor, initiate
condensation at sub-saturation humidity -sometimes as low as 65 percent. The
nucleus on which the water condenses, which may be a soil particle or a grain of
sea salt, a combustion product or cosmic dust, usually dissolves in the droplet.
Because the saturation point is lower in solution that it is for pure water, the
droplets of solution tend to condense more water vapor on them and grow in size.

Given suitable conditions of temperature and humidity, the density of a fog
and its microphysical properties will depend on the availability of condensation
nuclei and their nature. Fogs become particularly dense near certain industrial
plants because of the high concentration of hydroscopic combustion particles in the
air.

2. COMPREHENSION EXERCISES
1. Find in the text the terms which describe the following:
1. a thick cloud of very small drops of water in the air close to the land or sea, that
is very difficult to see through.2.a small drop of a liquid 3.the process of energy
absorption which allows a liquid to change state and become a gas.4.the amount of
water vapour in the atmosphere, at a specific temperature there is a maximum limit
to the quantity of moisture that can be held by a body of air.
2. Answer the following questions:
a) comprehension questions:
1. What is fog?
2. Where do ice fogs usually form?
3. When do water droplets solidify?
4. What shape are fog droplets?
5. What is the diameter of a fog droplet?
6. What is a condensation nucleus?
b) true-false questions:
1. Ice fogs occur in extremely cold climates.2.Fog does not consist of water
droplets. 3. There is no water vapour in the atmosphere. 4. The droplets of solution
tend to condense more water vapor on them and grow in size. 5. Water is 800 times
denser than air.
¢) multiple-choice questions:
1. The droplets of fog are
a) nearly spherical
b) square
c) flat
d) rectangular
2. Fog is simply
a) a cloud on the ground
b) blocks of ice
C) water vapour
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d) a tip of a glacier

3. The atmosphere always contains
a) some water vapour

b) some mist

C) some ice

d) gases

4. The density of a fog depends on
a) the availability of condensation
b) dryness

c) rainfall

d) air pollution.

3. GRAMMAR EXERCISES
1. Underline the correct verb form:
1. Ecology is/are my favourite subject.
2. Wood come/comes from trees.
3. The news was/were interesting this evening.
4. His advice was/were useful.
5. Your furniture is/are made from precious wood.
6. Butter contain/contains a lot of fat.
7. Your knowledge on environment science is/are quite impressive.
8. Japanese is/are difficult to learn.
9. Most people is/are worried about the future.
10.Water is/are necessary for survival.
2. Form questions to the italicized words:
a. Planets revolve about the sun.
b. The earth receives heat from the sun.
c.A mass of rock debris descended into the valley in 1855.
d. A sphere will produce a circular shadow at all angles.
e. The first flight into space took place on April 1961.
3. Translate the sentences. Pay attention to the modal verbs and the
infinitives that follow:
a. Volcanoes may form mountains.
b. We can picture the solid earth's crust as a thin shell below which very hot rocks
are .
c. The attraction of the sun can also cause tides.
d. At night the earth may become cooler than the air above. In cold countries the
surface of the earth at night may become colder than 32 F.
e. If you want lo measure the temperature of the air you must place the
thermometer in the shade at about 5 feet from the ground.
4. Put the following sentences into the Past and Future Simple tense:
a. We must climb this mountain in the morning.
b. He cannot live at such a height,
c. You must cover this distance in two hours.
d. There are many different plants in his garden.
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5. Read and translate the text. Give its main idea.
THE ATMOSPHERE

The earth contains three essential parts, the lithosphere, the hydrosphere and
the atmosphere. The atmosphere or air sphere covers the whole of the surface of
the earth. The air consists principally of two gases - oxygen and nitrogen. There
are about 21 parts of oxygen and 79 parts of nitrogen. Men and nearly all animals
must have oxygen or they cannot live. In the atmosphere there is also a little
carbon dioxide. Besides oxygen, nitrogen and carbon dioxide there are small
quantities of other gases in the atmosphere; by far the most important is moisture
or water vapour.

You must picture the earth as a ball surrounded by an envelope of air - the
atmosphere. The coat is at least 50 miles thick but the upper layers arc pressing
down on the lower layers, so the air there is much denser and heavier while in the
upper layers it is thin or "rarefied". Wherever you may be when you read this, a
column of air at least 50 miles high is pressing down upon you. Although you do
not feel it, this column of air is exerting a pressure equal to 15 Ibs on every square
inch of your body. People who climb high mountains where the air is thin find it
very difficult to live and breathe. On the top of Mount Everest ( 30 000 feet) the
pressure is much less than one-fifth what it is at sea-level and it is almost
impossible to live at such a height even for a short time. Even at sea-level the
pressure is not the same at all places.

UNIT5
Glossary
1. greenhouse TEILIUIIS
2. to escape 3HUKATH
3. carbon dioxide JBOOKHC BYTJICI[IO
4. acceptable JIOMy CTUMUH
5. fossil fuel BHMKOITHE TaJINBO
6. derivatives TIOX1/THI
7. consequences HACJI KK
8. devastating pYHHIBHHIA
9. inundate 3aJIMBaTH
10. drought nocyxa

1. Read and translate the text.
Global Warming

Like the glass panes in a greenhouse, gases in the earth’s atmosphere permit the
sun’s radiation to heat the earth but do not permit the infrared energy radiated
back out by the earth to escape into space. These gases, primarily carbon dioxide,
methane, nitrous oxide, and water vapor, are responsible for maintaining a global
temperature acceptable to life, and this process is referred to as the greenhouse
effect. As the gases increase, more heat is trapped within the atmosphere, and the
worldwide temperature edges upward.
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Within the last century, the amount of carbon dioxide in the atmosphere has
increased dramatically, largely because of the practice of burning fossil fuels—
coal and petroleum and its derivatives. Global temperature has also increased 1°
C (about 1.8° F) within the past century. Atmospheric scientists have now
concluded that at least half of that increase can be attributed to human activity,
and they have predicted that unless dramatic action is taken, temperature will
continue to rise by between 1° and 3.5° C (between 1.8° and 6.3° F) over the next
century. Although this may not seem like a great difference, global temperature
was only 2.2° C (4° F) cooler during the last ice age than it is presently. The
consequences of such a modest increase in temperature may well be devastating.
Sea levels will rise, completely inundating a number of low-lying island nations
and flooding many coastal cities such as New York and Miami. Many plant and
animal species will probably be driven into extinction, agricultural regions will
be disrupted, and the frequency of severe hurricanes and droughts is likely to
increase.

2. COMPREHENSION EXERCISES
1. Find in the text the terms which describe the following:
1. a building with glass sides and a roof for growing plants in 2.the remains of an
animal or a plant which have become hard and turned into rock.

3. mineral oil that is found under the ground or the sea and is used to produce
petrol, gas, paraffin, diesel, oil, etc.4.a situation in which a plant, an animal, a
way of life etc. stops existing.

2. Answer the following questions:

a) comprehension questions:

1. What is the role of gases in the atmosphere?

. Is infrared energy radiated back into space?

. What are the major gases in the atmosphere?

. What is a greenhouse effect?

. Is the amount of carbon dioxide in the atmosphere increasing?

. Why is the amount of carbon dioxide in the atmosphere increasing?
. Is human activity to blame for the increase of global temperature?

. What will be the consequences of such a modest increase in temperature?
b) true-false questions

coONO OTh~hWN

1. Gases in the earth’s atmosphere permit the sun’s radiation to heat the earth. 2.
Carbon dioxide, methane, nitrous oxide, and water vapor, are responsible for
maintaining a global temperature acceptable to life.3. Worldwide temperature
does not edge upward.4. Global temperature has increased 1° C (about 1.8° F)
within the past century. 5. Many plant and animal species will be thriving.

¢) multiple-choice questions:

1. Within the last century, the amount of carbon dioxide in the atmosphere a) has
increased dramatically

b) has decreased dramatically

c) remained stable
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d) has not changed
2. The increase of temperature can be attributed to
a) human activity
b) living matter
c) natural processes
d) extra-terrestrial matters
3. The consequences of such a modest increase in temperature may be
a) devastating
b) very favourable for agriculture
c) ineffective
d) useful for man
3. GRAMMAR EXERCISES
1. Underline the correct verb form:
1. Life expectancy is/has been growing in modern world.
2. She has made/has been making three business trips to Kyiv this month.
3. Recently the ozone layer over the poles depletes/ has been depleting
4. She has travelled/has been travelling to the UK many times since 1999.
5. Some countries have made/have been making a lot of efforts to reduce CFCs
emissions since 1992 when the Kyoto protocol was signed.
2. Put the verbs in brackets into the correct form.
An exciting trip
| just (to receive) a letter from my brother. He (to be) in Australia. He (to be) there
for six months. He (to be) an engineer. He (to work) for a big firm and he already
(to visit) a great number of different places in Australia. He (to go) to Alice
Springs, a small town in the centre of Australia. He soon (fly) to Perth. My brother
never (to be) abroad before, so he (to find) this trip very exciting.
3. Decide whether the following are requests for permission, suggestions or
offers:
1. Shall we go for lunch?
. May | sit here?
. Shall | give you a lift into town?
. Can | borrow the car this weekend?
. Could I use your mobile phone?
. You might like to check the exchange rate first.
. Would you like us to send you a catalogue?
. In- my opinion you should sell your shares now.
. Are you hot? I’ll switch on the air conditioning if you like.

4. Compose sentences with proposed question words.

1. The air we breathe consists mainly of oxygen. (What ...? What ... of?)

2. A mixture of nitrogen oxide and nitrogen dioxide is called NO. (What ...?

Common ...?)
3. Sulfur dioxide reacts with oxygen and other materials. (What ...? What ...
with?)
4. Particulates can accumulate in the lungs. (What ...? Where ...?)

O©Coo~No ok, wWN
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5. Particulates interfere with the ability of lungs to exchange gases. (What ...?
Why ...?)
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5. Read and translate the text. Give its main idea.
Depletion of the Ozone Layer

The ozone layer, a thin band in the stratosphere, the upper part of the atmosphere,
serves to shield the earth from the sun’s harmful ultraviolet rays. In the 1970s,
scientists discovered that the layer was being attacked by chlorofluorocarbons
(CFCs), chemicals used in refrigeration, air-conditioning systems, cleaning
solvents, and aerosol sprays. CFCs release chlorine into the atmosphere; chlorine,
in turn, breaks ozone down into its constituent parts of oxygen. Because chlorine
Is not affected by its interaction with ozone, each chlorine molecule has the
ability to destroy a large amount of ozone for an extended period of time.

The consequences of the depletion of the ozone layer are dramatic. Increased
ultraviolet radiation will lead to a growing number of skin cancers and cataracts
and also reduce the ability of people’s immune systems to respond to infection.
Additionally, the growth rates of the world’s oceanic plankton, the base of all
marine food chains, will be negatively affected, perhaps leading to increased
atmospheric carbon dioxide and thus to global warming. Even if the use of CFCs
was immediately banned, the chlorine already released into the atmosphere
would continue to destroy the ozone layer for many decades. Additionally, the
latest studies suggest that global warming may increase the amount of ozone
destroyed.

Predicting the rate of ozone depletion is difficult. Optimists claim that if
international agreements for the phasing out of ozone-depleting chemicals agreed
to in Montreal in 1987 (the Montreal Protocol on Substances that Deplete the
Ozone Layer) are followed, ozone loss will peak in the year 2000. With many of
the world’s fastest growing countries in the process of industrializing and
modernizing, there is reason to believe that destruction will continue to increase
well beyond that year.

UNIT 6
Glossary
1. swamp 60710TO
2. deposit BIJIKJIQTATHCS
3. Carboniferous geological epochs r'e0JIOTIYHA eroxa KaM’ THOTO BYTLIIs
4. coal seams BYT1JIbHI TOPU30HTH
5.volatile JCTKUN
6. impurities JOMIIITKH
7. coal bed BYTUTBHUH TIACT
8. stratum (-a) 1rap, riacT
9. combustion TOPIHHS

1. Read and translate the text.
COAL
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For a long time coal has been the principal fuel, the main source of thermal
and electric energy. Now it continues to play an important part in the economy.

Coal is the product of vegetable matter that has been formed from the
remains of plants and animals accumulated in swamp areas millions of years ago.
Although some coals were deposited 4,000,000,000 years ago during the Silurian
period, most coals were formed during the Upper and Lower Carboniferous
geological epochs about 250,000,000 years ago.

Coal formation processes are similar to those of sedimentary rocks. Various
coal seams can be studied and related geologically to the sedimentary rocks with
which they are associated. Coal contains varying amounts of carbon and volatile
material as well as impurities such as sulphur, phosphorus, incombustible rock
material and moisture.

Physical characteristics of coal concern the structural aspects of the coal bed
and texture. Structurally coal beds are characterized by the same irregularities in
thickness, uniformity and continuity as other strata of sedimentary origin.
Thickness varies greatly. Coal beds may consist of essentially uniform continuous
strata or like other sedimentary deposits may be made up of bands or benches of
varying thickness. The benches may be separated by thin layers of clay, shale,
pyrite or other mineral matter, commonly called partings. Like other sedimentary
rocks coal beds may be structurally disturbed by folding and faulting.

Many classifications of coal have been suggested: by geologic age, coking

properties, commercial application and chemical composition.
There exist four main types of coal: anthracite, bituminous, sub-bituminous, lignite
and brown coal. When speaking about the classification of coal based on its nature
as rock mineral, scientists distinguish the following rock varieties or lithotypes
such as vitrain, clarain, durain and fusain. These are the four constituents of coal.

Although the utilization of coal varies widely with rank, three general fields
of coal utilization may be distinguished. They are combustion (domestic,
industrial, railroads and public utilization), gasification and carbonification (high-
temperature coke for metallurgical uses and low-temperature coke for producing
smokeless fuel).

2. COMPREHENSION EXERCISES
1. Find in the text the terms which describe the following:
1.the period in the earth’s history when layers of coal were formed underground. 2.
a substance that is present in small amounts in another substance, making it dirty or
of poor quality.3. a chemical process in which substances combine with the oxygen
in the air to produce heat and light 4. the way a surface, substance or fabric feels
when you touch it, for example, how rough, smooth, hard or soft it is.
2. Answer the following questions:
a) comprehension questions:
1.What was coal for a long time in the history of mankind?
2. What is the origin of coal?
3. When were most coals formed?
4. What does coal contain?
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5. What classifications of coal have been suggested?

6. What are the main rock varieties?

7. What are the main rock constituents?

8. What fields of coal utilization do you know?

b) true-false questions:

1. Coal is the most important source of energy. 2. Coal has formed recently. 3.
There are many types of coal.4. Like other sedimentary rocks coal beds may be
structurally disturbed by folding and faulting 5. Only one classification of coal
has been suggested.

¢) multiple-choice questions:
1. Coal formation processes are
a) similar to those of sedimentary rocks
b) different from all other chemical processes
c) occur on the surface of the Earth
d) are very fast
2. There exist
a) four main types of coal
b) only one type of coal
c) many different types of coal
d) two widely spread types of coal
3. Physical characteristics of coal concern
a) the structural aspects of the coal bed and texture
b) chemistry
c) deposition
d) distribution
3. Which of the titles is the most suitable to the text:
1.The Origin of Coal.
2.The Classification of Coal.
3.Coal as Fossil Fuel.
4.Coal and Its Industrial Application.
3. GRAMMAR EXERCISES
1. Fill in the gaps with adjectives formed from the italicized nouns:
1. Power stations are equipped with ...machines.
2. A.M. Terpigorev's investigations in mine safety were a success. He worked out
a series of safety measures in gassy collieries. His ... research greatly improved the
working conditions in mines.
3. The extensive use of scientific and technological achievements makes it possible
to develop all branches of production. The scientists are working out new methods
of mining .minerals.
4. Fire damp does much harm to the health of miners. It is the most... of all the
gases in the mine air.
2. Fill in the gaps in the sentences choosing the right word in brackets:
1. There are ... causes of weathering, but ... depends on the change in temperature,
(many, much)
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2.As is known, only minerals and rocks are resistant to the action of natural

waters, (little, few)

3.The roots of plants developed pressure which did not fracture overlaying rocks,

(little, few)

4. A new geological map of the region will appear in a years.(little, few)

5.... .minerals undergo changes. They have already undergone transformation,

(many, much)

6. Now there are ... sources of energy as important as atomic energy, (little, few)

3. Ask questions according to the model (Special question):

Model:  Weathering takes place in the upper layers of the Earth's crust, (where?)
Where does weathering take place?

1. The main cause of physical weathering is the change in temperature. (what?)

2.Physical weathering can best be observed in the deserts and high mountains,

(where?)

3. Oxygen, carbon dioxide and water are the main chemical agents which cause the

destruction of rocks, (what agents?)

4. Certain marine organisms accelerate the destruction of rocks by making holes in

them to live in. (how?)

4. Define by suffixes the parts of speech of the following words and translate

them:

create — creator — creation; elect — election; investigate — investigator —

investigation; recent — recently; significant — significance; consider —

considerable — consideration; encourage — encouragement; found — founder —

foundation; manager — management; exist — existence

5. Read and translate the text. Give its main idea
SALT

In small quantities salt occurs almost universally. It is a minor constituent of
many clays, shale, and sand and it is also present to a slight extent in many soils. It
exists in the cavities and pore spaces of some rocks and thus may give rise to salt-
water springs and salt wells. The largest quantities of salt, however, occur in sea
water, in salt lakes, and underground in solid beds or masses termed rock salt.
Rock salt is the source of most commercial salt, although mere is also important
production from the evaporation of waters from the ocean and salt lakes. Rock salt
IS the basis for extensive mining operations in many countries. Methods of winning
the salt vary from underground mining of the solid beds to obtaining it by solution
methods, that is, by pumping up the brine.

Not so many years ago salt was used chiefly for domestic purposes, and that
use still provides the principal demand in most of the non-industrial countries of
the world. However, the recent expansion of the chemical industries in Europe and
the United States has led to new and greatly accelerated demands for salt, because
this material has been found to be an indispensable raw material for the
manufacture of a great number of chemicals. In late years the chemical industries
have used from 60 to 65 per cent of all the salt produced in the United States, its
major importance being its use in the manufacture of various bleaches, soda ash,
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and soaps, as well as numerous other articles.

In the United States in recent years, the use of salt for livestock has ranked
second, for water treatment third, and for table and other household purposes
fourth. Often overlooked is its importance in dust and ice control on highways and
railways.
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TEST 2

Task |I. Makcumaabha kiabkicTs 6adis: 10 (Total 10)
Choose the correct word to complete the sentences.
1. The Earth ... round the Sun

A) walks C)go

B) went D) goes

2. We ... facing today the environmental crisis.
A)is C) am

B) are D) were

3. | ... to read the article on the ecological development tonight.
A) was going C) am going
B) are going D) were going

4. The term “ecology” ... together with the industrial revolution of the 19th
century.

A) appears C) have appeared

B) appeared D) is appearing

5. The physical environment ... light, heat, water, wind, carbon dioxide.
A) includes C) involved

B) consists D) excludes

Task Il. Total 10
Make the following sentences negative.

Modern ecology began with Charles Darvin.

Nature has always served Man.

Water pollution is very serious.

The annual fish catch already exceeds what the word’s oceans can
successfully sustain.

5. He is testing samples of soil now.

e

Task I11. Total 10

Choose the necessary word or expression to complete the sentences.
1. I think that fruit juice is ...

A) fattening C) nutritious

B) poisonous D) dangerous

2. Polluted air leads to the end of the ...

A) population C) world
B) experiment D) civilization

38



3. With the industrial revolution negative influence on Nature began to ...
A) decrease C) low
B) increase D) stop

4. Greenpeace is a very famous pressure ...

A) circle C) movement

B) group D) venture

5) Death from cancer increases peoples ....
A) health C) awareness

B) problems D) concern

Task IV. Total 20
Give English equivalents of the following.

1 3ani3Ha pyaa 11 xpuxiTHuiA

2 0caJIoB1 MOPOU 12 3arBepaitu

3 BUBEPKEHI MOPOIU 13 kparuti

4 BamHsIK 14 pinuna

5 ¢gepocmiiaBu 15 ropiHns

6 kaumiii 16 BoOTICTH

7 po3IIeTIICHHS 17 mmpora

8 cipka 18 36inburyBaTH

9 miBoCTpiB 19 nepeBakaroumii
10 3aToxka 20 ipo3opicTh

Task V. Total 10
Compose sentences with proposed question words.

1. Our planet is finite. (What ...?)

2. All life shares its resources and energy from the Sun. (What...?)

3. The term ecology was introduced by Charles Darwin. (By whom...?)

4. The worldwide movement started functioning in 1971 (When...?)

5.In our country there are several ecological pressure and interest groups.
(Where...? ... What...?)

Task VI. Total 10

Compose sentences using the following words.

1. futurologists, the, and, of, the, planet prospects, problems, blue, interest,
scientists, and.

2.  the, in, headquarters, of, the, Amsterdam, Greenpeace, are.

3. movement, this, in, 25, operates, it, countries.

4.  Aim, of, the, is, Greenpeace, to, wildlife, from, wastes, toxic, protect, tests
and nuclear.

5.  The, of, is, and, plants, in, of, animals, danger, extinction, all, protection, of.
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Task VII. Total 20
Translate into English.
1. 3 naBHix yaciB [Ipupoja ciyxumia JroIuHI.
2. 3a0pyaHeHHs JOBKULIS — OJHA 3 HAMBAXIUBIIIUX MTPOOJIEM ChOTOACHHS.
3. Benuki micTa cTpa)katoTh BiJl CMOTY.
4., ABTOMOOLTI CTamyd TOJIOBHUM JUKEPEJIOM 3a0pyJHEHHS JOBKULIS Y
MIPOMUCIIOBUX KpaiHax.
5. Benuki Mmicra 3 3aBojaMu Ta abpukamu, K1 3a0pyIHIOIOTH TOBITPS, € IO
BCHOMY CBITI.
6. 3apa3 Mu Hamaraemocs 3MEHIIUTH 3a0pyAHEHHS JOBKIJUIS.
7. KoxxHa nmrogrHa MOKE BIUTMHYTH Ha BUPIIICHHS MpoOJieMUu 3a0pyTHEHHS
JTOBKLIIJIS.
8. ¥V Kutai 3 KOXHUM pOKOM 3pOCTa€ BUPOOHHUITBO aBTOMOOLTIB, SKi
3a0pyAHIOIOTH aTMOchepy.
9. Benocurmen — HalEeKOJOTIYHINTUN BU TPAHCIIOPTY.
10. Exonoru po3po0uiu aekiapailio BzaemozanexHOCTI.

Task VIII. Total 10
Give 3 forms of irregular verbs and compose 5 sentences with them.

1) to feel 6) to know
2) to hear 7) to understand
3) to see 8) to mean
4) to smell 9) to take
5) to forgive 10) to find
PART Il
UNIT 1
Glossary
1. exploration JOCTIDKEHHS
2. adverse HECTIPUSATINBHUH
3. affect BILJIUBATH
4. take into account OpaTH 110 yBaru
5. be concerned (about) xBmrOBaTH
6. turn into MIEPETBOPIOBATH
7. threaten 3arpoXKyBaTu
8. destroy pyHHYBaTH
9. meet the needs 3aJI0BOJIBHSTH MTOTPEOH
10. harmful LK1 JTMBUHA

1. Read and translate the text.
Man and Environment
Human progress has reached the stage of intensive exploration of nuclear
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and solar energy, the World Ocean and outer space. Now it is evident, however,
that often man is adversely affecting the environment and his activity is sometimes
fraught with fatal consequences.

It is becoming increasingly clear that man cannot and must not use his
tremendous power so carelessly, infinitely interfere in nature and radically try to
change it, without taking into account possible negative effects of his economic
activity. The more material wealth people create, the more they realize that they
cannot but be concerned about how the biosphere is changing as a result of
productive activity. Current ecological research shows that man can turn oases into
deserts, threatening to destroy everything on earth.

In the 19" century and even in the first half of the 20" century, material
production did not require taking into account the consequences which man's
interference in nature may have in the distant future, and it was not considered an
objectively essential condition for the existence of the whole of mankind, whereas,
in the second half of the 20" century such a consideration has become vitally
important. Hence man should carefully study the impact of his activity on various
components of the surrounding nature. Today this impact has reached such
proportions that the biosphere's inner resources can no longer compensate for
society's harmful influence on the environment, both on individual species and on
all of life on earth without help from the outside.

Many ecologists consider that the disappearance of particular living species
constitutes the main ecological and social problem of the day. The present day
situation is fraught with the extinction of animals and plants on a scale much
greater than their both natural and man-caused extinction during the preceding
millions of years.

2. COMPREHENSION EXERCISES
1. Find in the text the terms which describe the following:
1.the act of traveling through a place in order to find out about it or look for smth
in it.2.causing or ending in death; causing disaster or failure.3.the part of the
earth’s surface and atmosphere in which plants and animals can live.4. an area in
the desert where there is water and where plants grow.5. a large amount of money,
property, etc. that a person or country owns.

2. Answer the following questions:
a) comprehension questions:

a. What is the main ecological problem?

b. What is the difference in views on nature in the 19th century and nowadays?

c. How does the man influence on environment?

d. What can be done to change the present-day environmental situation in Ukraine?

b) true-false questions:
1. Human progress has reached the stage of intensive exploration of nuclear and
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solar energy.2. Many ecologists consider that the disappearance of particular
living species constitutes the main ecological and social problem of the day.3. In
the 19" century material production did not require taking into account the
consequences of human activity.4. Man should not study the impact of his
activity on surrounding nature.5. The biosphere's inner resources can compensate
for society's harmful influence.

¢) multiple-choice questions:

1. Man is affecting the environment:

a) adversely

b) positively

c) beneficially

d) actively.

2. Human activity is

a) fraught with fatal consequences

b) beneficial for nature

c) destructive

d) useful for all living species in nature.

3. The main ecological and social problem of the day is
a) destruction of rainforests

b) pollution of water

c) population growth

d) thoughtless use of natural resources

4. Man should:

a) carefully study the impact of his activity on nature
b) continue destroying the environment

¢) stop thinking about the consequences of his activity
d) use as many natural resources as possible to satisfy his greed.

3. GRAMMAR EXERCISES
1. Make collocations with the following words and translate them:
tremendous
uncontrolled
harmful
ecological impact
irreversible
adverse

intensive

current

purposeful

essential — exploration
outer space

careful

planned
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main

depleted

valuable species
individual plant

and animal

safe

natural

thermal environment
ecological

social

2. Rewrite the sentences to include a participle clause instead of a relative
clause.
Example: Can you see the woman who's dressed in red and sitting in the
corner?
Can you see the woman dressed in red sitting in the corner?
a. People who live in blocks of flats often complain of loneliness.
b. Letters that are posted before 5 p.m. should arrive the next day.
c. The train that is standing on platform 5 is for Manchester.
d. Firemen have rescued passengers who were trapped in the accident.
e. It took workmen days to clear up the litter that was dropped by the crowds.
f. They live in a lovely house that overlooks the river Thames.

3. Translate into English paying attention to the Participles.

a. lonuHu, nmpopizaHi pikaMu, COYATKY JAYy>KE€ BY3bKI.

0. KonTuneHTtanbHi miatgopmu — 1€ OiAHATI YACTUHU MOBEPXHI JIiTOCHEpH.

B. BiTep, Hacu4eHn TOCTPUMH MIITUHKAMU, CTUPAE TBEPA1 TTOPOIH.

r. Konu crano xononHo, Boja B TpilMHax 3amep3ia.

n.PIBHMHM, $IKI 3yCTpIYalOTbCSl HA KpasxX KOHTHUHEHTIB, Ha3WBAIOThHCSA
npuOEepeKHUMHU PIBHUHAMU.

e. Jlonunu, sKi mpopuiivd Jb0I0BUKH, IIUPOKI.

*. Bona, 1o teue, Ma€ MOTYTHIO CHITY, OCOOJIMBO TICIISl CUIIBHOTO OYypEBIIO.

4. Translate paying attention to the Passive Voice.

1. Iron is found in veins and beds of the earth’s crust.

2. All minerals are found in rocks.

3. Diamonds are found only in a volcanic rock called Kimberlite.

4. 1t has been estimated that 95 per cent of the crust is composed of igneous
rocks.

5. Both methods have been used and have shown that the temperature of
magma vary from 600 to 1200 °C.

6. Before the eruption of Ratinai the floor of this valley had been covered by a
white-hot mass of volcanic sand.
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5. Read and translate the text. Give its main idea.

Preserving the environment

Recently more and more attention has been focused on the problem of
preserving the environment. Over the past thirty years or so the quality of many
people's lives has deteriorated in some respects because of technological progress.
Those people living near airports arc constantly attacked by the noise of
increasingly larger and more powerful jet aircraft taking off and landing. We have
ugly buildings which have appeared in towns and cities. Some of these are blocks
of flats high-rise buildings built because of the high price of land.

The motor car has been responsible for many changes in the environment.
On the one hand it has brought mobility to millions of people but on the other it
has led lo the construction of more and more noisy and dangerous roads and has
polluted the atmosphere with exhaust fumes.

While towns and cities have become larger and uglier and more densely
polluted, the rural areas have lost most of their population owing to the need for
fewer workers in agriculture. The countryside has also been affected by the large-
scale use of insecticides. For one thing the killing of insects has resulted in a loss
of balance in the ecology. Insects, although a nuisance to farmers, provide food for
birds. Many people are afraid that fruit and vegetables sprayed with chemicals may
have some poisonous effect upon the people who eat them.

Recently, however, certain counter measures against the destruction of the
environment have been introduced. One of the first acts of Parliament to counter
pollution was Clean Air Act, which opened the way to smokeless zones in large
towns and cities. This followed a very bad winter in which many people with
bronchial complaints became very ill or died through the effects of a mixture of
smoke, fog and fumes known as "smog". Rivers which are fouled up with
industrial chemical waste are now being cleaned, and fish which could not live
there a few years ago can be caught again.

UNIT 2
Glossary
1. shifting sands OapxaHu.
2. there are also times OyBarOTh TaKi BHITAJIKA
3. the identification of rocks involves much more properties BU3HAYCHHS
nopiz moTpedye OiIbIne TaHuX
4. relative weight of the rock BiJTHOCHA Bara rmopoju
5. shale CIIaHEellb
6. ash TIOITLJ
7. cinder 30714
8. well CBEP/IJIOBHHA
1. Read and translate the text
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The nature of rocks

To the geologist, rock is the natural, solid material that makes up the earth. The
definition of a rock means solid at temperatures which normally occur in the
earth’s crust.

In speaking of rocks, geologists use the word solid in its technical sense. A
solid is a matter that is not a liquid or gas. What the geologists would sometimes
call solid rock might seem strange to you. The wet sands on the beach and the
shifting sands in the desert are a solid and a rock. This is also true of the layers of
mud and muck in the swamps, or the ash and cinders from volcanoes. They are
also rocks.

The third word, material, brings no additional problems to the definition of a
rock. But it should be noted that materials in the crust of the earth may have two
distinct origins: organic and inorganic. Most of the material in the crust of the
earth is inorganic. This means that it is in no way related to life or living things.
Lava pouring from a volcano makes an excellent example of inorganic material. So
do the great masses of granite pushed miles into the air.

Some rocks are organic — made up by living things. Coal and oil deposits,
for example, are the remains of ancient plants. Oil, you may say, is a liquid and
therefore is not a rock. However, there are no great underground lakes of oil as
some people imagine. The oil is usually soaked up in the pores of sand and other
rocks. Under special conditions it drains into wells from where it is pumped to the
surface. Millions of gallons of oil are locked up in rocks, especially in the oil
shales. Asphalt is another organic rock.

Less well-known are the rocks which have been formed from the remains of
sea animals. Shells cemented together form several kinds of limestones.
Sometimes these are the shells of microscopic animals, sometimes they are much
larger shells.

Coral is another kind of rock made by living things. Coral animals take lime
from the sea water and build it into reefs in which millions upon millions of coral
animals live. Islands of coral dot the South Pacific.

Diamonds are not rocks, even though they are found in the crust of the earth.

2. COMPREHENSION EXERCISES
1. Find in the text the terms which describe the following:
1. the study of rocks; 2.basis for life; 3.texture, colour, hardness, relative weight.

The study of rocks is petrology. It is a difficult science, for most rocks are harder
to identify than birds, flowers or trees. But the study is important, for rocks and
minerals yield the materials that make modern civilization possible. The rock
which forms soil is the basis for life on land. Dissolved minerals taken from the
rocks by running water make the sea salty and make ocean life possible to exist.
The identification of rocks is easy when the rocks are made of minerals and
when the minerals are large enough to be identified. When the rock is fine-grained
and when the minerals all look alike, as they do in some of the dark rocks, it takes
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skill to identify them. The geologist will often cut a piece of rock with a diamond
saw and polish its surface until it is perfectly smooth. He then cements the smooth
surface to a glass slide, and polishes the rest of the rock until it is paper thin. This
thin layer of rock is examined under a microscope, using Polaroid light. As the
light passes through the minerals in the rock, it is altered, producing beautiful
colors. These colors depend on the kind of minerals and on the angle at which the
crystals have been cut. Such patterns aid much in the process of identification.

The identification of rocks involves much more properties. The texture,
color, hardness and relative weight of the rock can also be used as clues. The
geologist also looks for the geologic structures in which the rocks occur. Certain
rocks are found only in volcanoes, others in caves. Still others are more likely to be
found in valleys than on high rides.

. Answer the following questions:

. What is rock to the geologist?

. What is solid rock?

. What rocks can be formed from the remains of sea animals?

. Is oil a rock?

. Are diamonds rocks?

. When is the identification of rocks easy?

. What can be used as clues in identification of minerals?

. Give the Ukrainian for:

a) man-made, smooth, alive, common, relative, liquid, to polish, desert, pattern,
mixture, cement, shale, coal, deposit, to exist, to identify;

b) sea animal, mineral like substance, diamond saw, paper thin, glass slide, ocean
life;

c) as, for, however, still, though, until.

4. Give the English for:

[TycTens, poaoBuile, Cymill, piliHa, ICHYBaTH, OOJIOTO, MONIPYBaTH, IITYYHUH,
TIaJIKUM, TIIMHUCTI CJIaHIll, BYT1JUIs, 3BUYaiHUN, OapXaHH, X04, OJHaK.

5. Find synonyms among the following words:

Man-made, to look for, layer, to change, help, strange, artificial, bed, to search for,
odd, stratum, aid, to alter, pure, to eliminate, dirty, to remove.

6. Find antonyms among the following words

Alive, smooth, wet, possible, fine-grained, likely, thin, rough, course-grained,
unlikely, thick, dead, dry, impossible, organic, ancient, inorganic, modern.

7. Form nouns from the following verbs:

To mix, to consider, to alter, to exist, to produce, to identify, to recognize.

W~NO TP, WNEDN

3. GRAMMAR EXERCISES
1. Complete the conversation using the infinitive or the —ing form:

A: Good morning, madam. Can11) ......... (help) you?
W: Yes. I’'d like 2) ......... (book) a holiday please.
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A: Certainly. I must 3) .......... (ask) you a few questions. Now... where would
you like 4) ......... (go)? How long are you going 5) ......... (stay)? Would you
prefer 6) ......... (have) a relaxing beach holiday or 7) ......... (go) sightseeing?
Which countries are you interested in 8) ......... (visit)? What means of transport
do you prefer?

W: Well, young man. I don’t know where 9) ......... (go) or how long 10) .........
(stay). I hate 11) ......... (go) to the beach and I don’t enjoy sightseeing. I don’t
want 12) ......... (visit) any foreign countries because foreign food makes me 13)
......... (feel) ill. As for means of transport, I’'m too frightened 14) ......... (fly) in
an acroplane. I hate 15) ......... (go) on boats, I don’t like 16) ......... (travel) by
train and 17) ......... (travel) on a coach makes me 18) ......... (feel) sick.

A: Well madam, I don’t know what 19) ......... (suggest). I don’t want 20) .........
(appear) rude, but I really think you should 21) ......... (stay) at home!!!

2. Cross out the unnecessary word:
1. He went to the florist’s for to buy a bouquet of flowers.
2. Emily is not so talented enough to enter the competition.
3. I don’t go for camping very often.
4. Mrs Keaton made her daughter to stay at home during the holidays.
5. I hope that to hear from you soon
6. We saw Helen to get into her car and dive away at top speed.
3. Translate into English using the Infinitive.
1. A panwmii, 110 mpairor0 pa3oM 3 BaMH.
2. Sl paguii 3ampocuTH Bac Ha BEUIp.
3. S xouy HajicnaTH TeIerpamy.
4. 5 xouy, 1100 MeHe BIMPaBUIN Ha KOH(PEPEHIIIIO.
5. 3a0yTtu uew aeHb 0yJI0 HEMOXKIUBO.
6. BumTHCs HamoJaerIMBO — 3aBIaHHS KOKHOTO yYHS.
7. JlomoMorTH HOMY Telep — 3HAYUTh BPSATYBATH.
8. Bomna mepioro po3noBijia MEeHi Ipo 1Ie.
9. Mu B35 Takcl, 100 NPUiXaTh Ha BOK3aJl BUACHO.
10. ¥V mpoMy TeKkcTi HaaTO Oarato HOBUX CIiB, 100 3po3yMiTH ioro 0e3
CJIOBHHKA.

4.Translate the sentences paying attention to the Gerund.

a. In speaking of rocks, geologists use the word "solid" in its technical sense.

b. On cooling or through reactions with the wall rocks the metals are deposited.

c. Astronomers get a fairly good idea of the chemical composition of the universe
by studying the light from the stars and the sun.

d. Understanding what is meant by matter is the first step in understanding rocks.

e. In spite of the difficulty in defining rocks, most rocks are easily recognized when
you see them.

f. By comparing the textures of the fresh and altered rock it becomes evident that
they were once alike and parts of the same body.
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5. Read and translate the text. Give its main idea.

THE SEA

The sea is generally accepted by scientists as the locale of the origin of life
on earth. Without the sea, life as we know it today, could not exist. The functions
of the sea in relation to earth life are numerous. It acts as a great thermostat and
heat reservoir, levelling out the temperature extremes which would prevail over the
earth without its moderating influences. It is the earth's water reservoir and supply
without which the continents would be lifeless deserts. The sea provides a means
for the least expensive form of transportation known to man. It is a playground for
mankind; a major source of his food as well as a dumping ground for his garbage.
And the sea is a major storehouse of the minerals which serve as the foundation of
an industrial society.

As a source of minerals, the sea has been little exploited relative to its
potential. The major reason for this default are a lack of knowledge concerning
what is in the ocean and of the advantages of exploiting marine mineral deposits,
the absence of a technology to economically exploit the deposits, and no pressing
need, either economic or political, to exploit them at the present time.

In regard to mineral resources, the sea can be divided into five regions:
marine beaches, sea water, the continental shelves, surficial sediments, and the
hard rock beneath the surficial sea-floor sediments. A variety of minerals are
presently being extracted from the first three regions of the ocean. Very little is
known about the fifth region, that of the hard rock underlying the soft ocean floor
sediments. No sample of this rock has ever been obtained for chemical analysis
although the thickness of the layer between the unconsolidated sediments and the
mantle of the earth averages about 3 km. The emphasis consequently, will be on
the fourth region the surficial sea-floor sediments. Such emphasis is proper for it is
the fourth region that has recently been found to contain vast mineral resources of
great economic promise. In addition, it is a region from which few, if any, minerals
are now being taken.

UNIT 3
Glossary
ran out of BUYEPITYBaTUCH (ITPO PeCypcH )
take for granted NpUAMaTH 3a HaJIS)KHE
generate BUPOOIATH
item IIYHKT Y CITHCKY
nuclear power station aTOMHA €JICKTPOCTAHIIIS
radioactive paioaKTUBHHIA
obvious OYCBUTHUI
percentage IPOLICHTHBIN CKJIa]l
consequence HACTIJIKU
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fertilizer noOpuBa
red tape OrOpOKparTis

2. Read and translate the text

Energy sense makes future sense

The world is running out of oil, and energy experts believe that there could
be serious shortages in ten years' time. Not only is each individual using more oil
than ever before, as the standard of living in industrialized countries rises, but the
population explosion means that each year many more people will be using oil in
some form or other. Until recently we took oil for granted: it seemed it would
never stop flowing. It was so cheap and plentiful that the whole world came to
depend on it. Governments neglected other sources of energy: electricity was
generated from oil and power stations were fired by it. It found its way into many
of the products of light industry. Many people are surprised when they learn how
many items in their homes contain oil.

The increase in the price of oil has brought the world to its senses.
Governments are searching for a suitable alternative, but so far in vain. They are
considering how they can make better use of the two other major fuels, coal and
natural gas, but they have found that neither can take the place of oil in their
economics. In recent years there has been a growing concern for the environment
and coal is not a popular fuel with environmentalists. Coal mines arc ugly, and
their development has a serious effect on animal and plant life; coal itself is a
heavy pollutant. Natural gas, the purest of the three fuels, is also the most limited
in supply.

The answer would seem to lie in nuclear power stations. They need very
little fuel to produce enormous amounts of power and they do not pollute the
atmosphere. Their dangers, however, are so great and the cost of building them is
so high that some governments are unwilling to invest in them. Not only could one
accident in a single nuclear power station spread as much radio-activity as a
thousand Hiroshima atom bombs, but the radio-active waste from these stations is
extremely dangerous -for one hundred thousand years. So is mere no possible
alternative to nuclear power?

2. COMPREHENSION EXERCISES
1. Choose the best answer in the following:

1 The world

a) has run out of oil

b) did run out of oil

c¢) Will never ran out of oil

d) Is running out of oil

2. The main disadvantage of coal is that
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a) it is not expensive

b) there is not enough of it ¢)it is a heavy pollutant d)it is too easy to mine
3. Natural gas cannot replace oil because

a) supplies are limited

b) it is a heavy pollutant

C) it Is very expensive

d) it is dangerous to use
4. Nuclear power stations
a) pollute the atmosphere

b) often explode

c) produce extremely dangerous waste
d) are inexpensive to build.
5. We should save energy by

a) driving faster

b) not stop at traffic lights
c) having our cars regularly serviced d) driving slowly in traffic jams.

2. Match the following words with their explanations.

to involve satisfactory, satisfying a requirement

to convert for a long line or series

possessing length in time

predominately smb. smth. with, supply or provide

to furnish to be superior in number, place, influence, strength
span course or movement of events

currently to be still present after a part has gone

to remain to change from one form to another

long-range to own, to have

adequate to be caught or mixed up

3. Read, translate and memorize the following special terms.

Microorganism, biomass, sunlight, fossil fuel, steam, coal, oil, wastes,

photosynthesis, food herbivorous, ecosystem, substance, muscle, virgin, lubricant.

4. Translate into English.
1.Boam o3epa baiikanm — HalOIIBIIOr0 MPICHOBOJHOTO 03€pa y CBITI — MOCTINHHO

3a0pyIHIOIOTHCS ITKIITUBUMH BUKHIAMHU TTATIEPOBO-TIETIOI03HOTO KOMOIHATY.
2.Bennuesna KinbKicTh €HEprii HOTpiOHA IS BUITYCKY aTIOMIHIFO.

3.Kpim Toro, OiibI1a yacTHHA aTOMIHIIO JOOYBa€ThCA 3 OOKCUTOBUX MOKJIAIB, K1

3HAXOMASTHCS Y TPOIIUHUX KpaiHax.

4.Benuye3H1 IO BOJIOTUX TPOMIYHUX JICIB 3HUIIYIOThCS 3apa3 TUIbKW 3apajv
BUJI00YTKY OOKCHTIB.
5.BukomnHe nanuBo, sSiKe ayxe 3a0pyaHIOE MOBITPs, Y MalOyTHbOMY Oyie 3aMiHEHO
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HOBMMU YHUCTIIIMMH BUAAMH NaJIUBA.
6.KinpKicTh CMITTS y BEIMKHX MiICTax KaTacTpO(pIUHO 30LIBIIYETHCS, 1 3 1M
noTpiOHO OOPOTHUCH.

3. GRAMMAR EXERCISES

1. Join a sentence from column B to one from column A
The sentence must support the same argument. Use the construction *...not
only...but..." Note the position of "not only" after the verb "to be", "but" before
other verbs.
Example: Riding a bike is cheap. It saves petrol.
Riding a bike is not only cheap, but it saves petrol.

Column A Column B

Oil is our main source of Coal mines are ugly
Coal is a heavy pollutant many items in the home
Riding a bike saves it wastes petrol

Natural gas is cheaper it will save you a fortune
Fast drivina causes it is the cleanest of the
Sharing a car with it keeps you healthy

2. Fill the gaps with a preposition and an —ing form.

About  like having remembering
Without by making being stung
With of buying arriving

At for asking  going

a. I got into trouble........ at school late.

b. You can lose weight...... exercise.

c. How....... out for a meal tonight?

d. How dare you take my money...... me?

e. I'm fed up........ no money.

f. This machine is used.....pasta.

g. I'm hopeless...... people's names.

h. I’m thinking.....a new car. A Renault, maybe.

I. Thank you .....to see me.

J. Yuk! Monday morning! I don't feel.....to work!
k. I'm always afraid...... by a wasp.

3. Translate the sentences paying attention to the Infinitive.

a. These deposits are said to be of magmatic origin.

b. The moon is believed to be composed of material similar in composition to the
earth's mantle.

c .A zone of glassy rock is believed to be just beneath the sima at the upper edge of
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the mantle.

d. The salt water is believed to be sea water that filled the openings in the rocks

when sediments were laid down.

e. The gold is believed lo have come from a deep-seated magmatic source.

f. Certain valuable lead and zink deposits generally are believed to have been

concentrated by ground water and to have no connections with igneous processes.

4. Translate into English paying attention to the Future Tenses.

1. Crneuianictu CTBEPAXKYIOTh, 1110 BUKOPUCTAHHS BYT1IA y TPOMUCIOBOCTI Oyie
3poCTaTu.

2. IlutaHHS €HEPreTUYHOI KPU3H YaCTO OOTOBOPIOETHCS HAYKOBIISIMH.

3. Skuro MrOACTBO HE MepecTaHe 3a0py HIOBATH HABKOJIMIIHE CEPEIOBUIIE, Yepe3
JIEKUJIbKa POKIB HAM HIYMM Oyjie TUXaTH.

4. 3rigHO 3 TNECUMICTUYHMUMHU NPOTHO3aMU MOTEIUIHHS KJIIMaTy MaTuMe
BEJIMYE3HUI BIUIUB Ha KUTTS JIIOJAEH y MallOyTHbOMY.

5. VBara no HeBenukux ['EC Oyne 3pocraTu, TOMY IO HNOTYXHOCTEH BEIMKUX
CTaHIIIA HE I0CTATHHO JIJIs1 3a0€3MEeUEHHS YC1X EHepreTUYHUX OoTped KpaiHu.
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5. Read and translate the text. Give its main idea.

Oil Development in Alaska

Brooks Range, the north-western extension of the Rocky Mountains, crosses
Alaska somewhat north of the Arctic Circle. The range reaches altitudes of around
3 000 m near the eastern boundary of Alaska but is progressively lower toward the
west. Rock structure in Brooks Range generally trends westwards. The rocks,
which are of many ages, are intensely folded and faulted. The range is considered
to have little potential for oil or gas. It forms the south flank of a huge westward-
trending geosyncline that extends northward across the Arctic slope and has its
northern flank somewhere under the Arctic Ocean. The older, complex rocks of
Brooks Range underlie the younger rocks of the foothills and coastal plain
provinces to form the basement rocks of the geosyncline. The depth to basement at
this axis of the geosyncline may be as much as 8 000 m, but at Barrow, north of the
axis, where the basement is rising toward the north flank, the depth is only about
800 m.

The potential oil-bearing and gas-bearing rocks are those that lie on the
basement rocks and fill the geosyncline. They range from Mississippian age up to
Cretaceous and, east of the Colvillle River, include some Tertiary rocks. Over the
sediments that fill the geosyncline in the coastal plain province is a more or less
continuous blanket of recent silt, up to about a hundred metres thick , which is
called the Gubik formation. It obscures the underlying rocks from direct
observation.

All of northern Alaska is underlain by continuous permafrost; the ground is
permanently frozen except for a layer at the surface several centimetres to about a
metre thick that thaws in the summer. The thickness of the permafrost reaches at
least 400 m and in places may be even thicker. The Gubik formation therefore with
few exceptions is frozen throughout its depth.

TEST 3
Task |I. Makcumaabha kigbkicTs 6adis: 10 (Total 10)
Choose the correct word to complete the sentences.
1. Energy ... by the Sun.
A) was produced C) has been produced

B) is produced D) will produce

2. A new campaign for energy survival ... at the end of the 20" century.
A) launch C) will launch
B) is launched D) was launched

3. Kerosene ... mainly a fuel for lamps.
A) was considered  C) will be considered
B) is considered D) was being considered

4. Muscle power ... with machines in the industrial countries.
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A) was replaced C) were replaced
B) was being D) replaces
replaced

5. Many pipelines ... by the federal government by the end of 1950™.
A) were sold C) will be sold
B) was sold D) had been sold

Task Il. Total 20

Give English or Ukrainian equivalents of the following.
1. Fossil remains

2. Energy consumption

3. Widespread use

4. Human and animal labor
5.Ha nymy nacenenus
6.Crno>xuBaHHs eHeprii

7. IlpupogHuii ra3
8.MikpoopraHizmMu
9.biomaca

10.®oTocuHTE3
11.Exocucrema

12.TBepae manuBo

Task I11. Total 15
Make the following sentences passive and translate them.

1. Complex industrial societies use the most energy.

2. The Sun provides energy.

3. Early civilizations used human muscles, animal muscles and fire as sources
of energy.

4. The Chinese used some gas and oil as early as 1000 B.C.

5. Today we use about 2,000,000 kilometers of natural gas distribution
pipelines.

Task IV. Total 5
Compose questions with the following question-words.

1. After the Second World War the U.S. government sold lots of pipelines to
private corporations. (When?)

2. Natural gas is used in many parts of the developed world. (Where?)

3. Natural gas is being used for home heating and for industrial purposes at

present. (What ... for ...?)

The main use of oil was to make kerosene, a fuel for lamps. (What?)

India experiences wood shortages just as the North America. (Who?)

o B
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Task V. Total 20
Translate the following.

1. binpme 2 mupa. Oanok HamoiB Ilenci-Komu Oyno Bunymeno B CIIIA B
1963p.

binbira yactrHa anroMiHi0 BUAOOYBAETHCS B TPOIIIYHUX KpaiHaXx.
IToguBiTHCS, 110 MEHI JaIH.

MeHne 3anpocuiiu 10 TeaTpy Ha Mpem’epy.

JlepeBrHa nepeBO3UThHCS HA (HaOpPUKU BaHTAKIBKaMH, MOTATAMHU Ta BOJHUM
TPaHCTIOPTOM.

g w

Task VI. Total 10
Compose sentences with the following words.

1. Are, In, there, fact, a, items, few, of, that, cannot, recycled, be, domestic,
waste, only.

2. Energy, for, the, process, paper-making, generated, can, be.

3. Urban, were, revolution, Europe, and, before, the, America, most, industrial.

4. The, of, us, gas, did, natural, rapidly, as, as, oil, of, use, the, increase, not,
use.

5. Apartment, I, my, was, new, to, a, friend, helping, move, to.

Task VII. Total 20
Translate in writing without a dictionary (Time for the task — 10 min).

The History of Nuclear Energy Development

The first controlled fission of an atom occurred in Germany in 1938, but the
United States was the first country to develop an atomic bomb. In 1945, the U.S.
military dropped atomic bombs on the Japanese cities of Hiroshima and Nagasaki.
The incredible devastation of these two cities demonstrated the potential of nuclear
energy for destruction and for peaceful uses. For many years, most atomic research
involved military applications of nuclear energy as bombs and as power sources
for ships. During the 50 years following World War 11, the two major military
powers of the world — the United States and the Soviet Union — conducted secret
nuclear research projects related to the building and testing of bombs. This
continued to be a primary focus of nuclear research until the recent changes in the
former Soviet Union, which led to a world in which nuclear war is much less of a
concern. A legacy of this military research is a great deal of soil, water, and air
contaminated with radioactive material. Many of these contaminated sites have
come to light recently and require major clean up efforts. The U.S. Department of
Energy has begun to clean up the pollution created by its weapons production
activities.

UNIT 4
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Glossary

1.Shortage HecTaya

2. Shopping basket KOIIIHK TSI TIOKYIIOK

3. Scarce PIAKICHUMA

4. Sliced Hapi3aHWi CKHOKaMHU

5. Wrapping o0ropTka

6. Card board KapTOHHA KOpOOKa

7. Cereals KpyIa

8. Loose HEe3alaKOBaHUU

9. Reuse MOBTOPHO BUKOPHCTOBYBATH
2. Read and translate the text

Waste not, want not

Can you believe it? There's a world paper shortage, there's a national bottle
shortage, and we're running out of raw materials like timber and tin or so the paper
say. Well, I've just emptied my shopping basket after my weekly shopping trip and
it was full of things made from these scarce materials. Half of what I'd bought 1
threw away at once: all those unnecessary paper bags, plastic bags, fresh wrapping
paper and old newspapers they put the food in nowadays.

You can't even buy a loaf of bread without getting a piece of paper round it -
that's if you can find a loaf that hasn't already been sliced and then wrapped.
Supermarkets are the worst offenders. Pieces of meat arc put on small plastic trays
and then wrapped in polythene, cartons of cream arc put in extra paper bags at the
check -out point, fruit and vegetables are packed in plastic bags, cheese is sold
wrapped in polythene and eggs come in special cardboard or plastic boxes. Some
things are double-packed by the manufacturers: tins of fish come in small
cardboard boxes, breakfast cereals are packed in plastic bags inside cardboard
containers.

All this packaging makes shopping cleaner and more convenient, but at what
cost? Every time you throw away a paper bag you're throwing away part of a tree -
and trees don't grow overnight! At this rate there soon won't be any trees left, and
then what shall we do?

Perhaps we'll learn lo do what my mother did. She used to keep a store of
paper bags in a kitchen drawer and use them again and again for her shopping.
Most goods were sold loose those days and the shopkeeper weighed out the
amount you wanted.

Why can't manufacturers today cut down on the amount of packaging they
use? | know they say their goods are double - and even triple - wrapped because
their customers prefer this, but have they actually asked the customers what they
mink ? Someone must pay for all that packaging and | suspect it's you and me.
Given the choice the average housewife would rather get food than plastic bags for
her money.

Of course, liquid goods have always been sold in bottles, jars or cans, but
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why can't we use these containers more man once? There have been attempts to
replace the familiar British milk bottle with cartons, but in most parts of the
country the milkman still delivers our milk in bottles and collects the empties the
next day. Why don't we re-use our wine and beer bottles too?

In fact, when | was a little girl, | used to get extra pocket-money by returning
bottles to the shops for a penny each. If we re-used all our bottles we would save
on the raw materials and energy needed to make new ones.

2. COMPREHENSION EXERCISES

1. Answer the following questions:
1 What does Mrs. Holt find difficult to understand?
2. How does she think the following can help save raw materials:
a) manufacturers
b) housewives
c) shops
d) local councils
e) the government?

2. Match the saying with the statement.

Prevention is better than cure The price of raw materials has risen, we
had a bad harvest and we have had a
serious earthquake

It never rains but it pours We might never have discovered that
cows produce good milk when fed on
cardboard, if there hadn't been a
shortage of cattle food

Actions speak louder than words We should enjoy our raw materials
while we have them, and not worry
about the future

Necessity is the mother of invention the government should supply money
for collecting tin and paper and not just
offer encouragement

Live now, pay later it is better to stop manufacturers wasting
valuable raw materials than try to
salvage them from rubbish

3. Complete the following passage using one of the following: Down, out, up
When I sorted....... my rubbish, I found it contained a lot of paper and tin. I

had read that world supplies of raw materials were being used ....... and that the

price of goods could be brought......... if paper and tin were recycled. We




suggested this to our local council, but they turned.......... our proposal. They said
that experiments elsewhere had turned.......... too expensive because of the cost of
collections.

3. GRAMMAR EXERCISES
1. The following passage describes the production of paper. Put the words in
brackets into the appropriate form, using the passive when necessary:
From trees to pulp
The trees ... (transport) to the paper mill by lorry, train or ship. First the bark
... (remove). This ... (burn) at a later stage so that energy can ... (generate) for the
paper-making process. Then the logs ... (cut) into chips and ... (cook) under high
pressure for four hours to make paper pulp. Next the pulp ... (bleach) to ...
(remove) dirt sports and ... (improve) its ageing properties.

From pulp to paper

The manufacturing process also ... (require) chemicals to strengthen the
paper.

The fibres ... (mix) with additives and ... (dilute) with water. This mixture ...
(spray) onto the paper machine where it ... (press), then ... (dry) and ... (wind)
onto one large reel which ... (weigh) up to 20 tons. Each part of the process ...
(control) by computers which automatically ... (correct) any errors.

2. Look at the notes, write a report .Use the passive:
Yet again we experienced an earthquake last night
A remote area in northern Spain/shake/by an earthquake last night. Several

villages/totally destroy/and many people/leave/homeless. The total extent of the
damage/still not known/ but luckily few casualties/report as people/warn/of the
danger earlier and many villages/ evacuate. Victims of the earthquake
now/offer/shelter in local churches/where food and drink/provide.
3. Translate the sentences paying attention to the Passive Voice

a) The exploration of the northernmost section of the island was interfered
with by heavy ice conditions.

b) The fact that the southern section of the sea along the Murman coast is
ice-free is accounted for by the warm marine current.

c) The reports of the students on the results of their research were listened to
attentively.

d) The results of the well borings for oil are commented upon in today's
newspaper.

e) France has been noted for its well-balanced economic life.

f) Finland is a country where distinct regional contrasts are seldom met with.

g) The Crimea is noted for the beauty of its southern shore and its
subtropical climate.
4. Translate into English
1. Ha nboMy 3aB01 BUPOOJISIOTH CUTBCHKOT'OCTIONAPCHKI MAIIIMHH.
2. s pabpuka Oymna 30ynoBana me 100 pokiB Tomy.
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3. [lixpy4YyHUKH IPOAABATUMYTHCS 3aBTpA.

4. Konu Oyn0 BUJAHO 1[I0 KHUKKY?

5. Bam 3amnatsTh 3a 1110 poOOTy 3aBTpa.

6. Ii 3anpocuny BUCTYIIUTH Hepe] MIKOIAPAMH 1Ie pas.
7. lle nuTanHs 3apa3 0OTOBOPIOETHCS HA 300pax.

8. Mict Oyze 30y10BaHO BOCEHHU.

9. Ipo 1110 MOII10 GAraTo roBOPSITh.

10. o 3apa3 OyayeTbest y MicTi?

5. Read and translate the text. Give its main idea.

“Acid deposition”

Acid deposition is the accumulation of potential acid-forming particles on a
surface. Acids result from natural causes, such as vegetation, volcanoes, and
lightning; and from human activities, such as coal burning and use of the internal
combustion engine. (See figure 1). These combustion processes produce sulfur
dioxide (S0,) and oxides of nitrogen (NO,). Oxidizing agents, such as ozone,
hydroxyl ions, or hydrogen peroxide, along with water, are necessary to convert
the sulfur dioxide or nitrogen oxides to sulfuric or nitric acid. Various reactive
hydrocarbons (HC) encourage the production of oxidizing agents. The acid-
forming reactants are classified as wet or dry. Wet reactions occur in the
atmosphere and come to earth as some form of precipitation: acid rain, acid snow,
or acid dew. Dry deposition occurs with the settling of the precursors of the acid on
a surface. An acid does not actually form until these materials mix with water.
Even though the acids are formed and deposited in several different ways, all of
these processes usually are referred to as acid rain.

Acid rain is a term for rain, snow, sleet, or other wet precipitation that is
polluted by such acids as sulfuric acid and nitric acid. Acid rain harms thousands
of lakes, rivers and streams worldwide, killing fish and other aquatic life. Scientists
believe it also damages buildings, bridges, statues, forests, and soil

Acid rain is a worldwide problem. It can cause damage in several ways.
Buildings and monuments are often made from materials that contain limestone
(calcium carbonate, CaCO0j3), because limestone is relatively soft and easy to work.
Sulfuric acid (H,S04), a major component of acid rain, converts limestone to
gypsum (CaS0,4), which is more soluble and is eroded over many years of contact
with acid rain. Metal surfaces can also be attacked by acid rain.

UNIT 5
Glossary
1. destined NpU3HAYCHUN
2. trigger BUKJIUKATH
3. ultimately BPCILTI-PEIIT
4.swamp 00J10TO
5.flood ITOBI1Hb, 3aTOIIIIOBATH
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6.surge i THIMATHUCS

7.devastating pyHHIBHUN
8.predict POPOKYBATH
9.brakes rajbMo
10.subsequent HACTYITHHUN

1. Read and translate the text.
Closer to the melting point.

Half of Greenland and vast areas of Antarctica are destined to melt if global
warming continues at the same pace until the end of the century, scientists warned.
Their research shows that the loss of so much ice will trigger dramatic rises in sea
levels, ultimately swamping low-lying regions of England — Essex, Lincolnshire
and Norfolk — and threatening the flood defences of cities such as London,
Liverpool and Bristol. The last time so much ice was The warning comes from
climate scientists lost from the poles — in a period between ice ages 129,000 years
ago — global sea levels rose by four to six metres.

Experts believe many coastal regions would suffer long before sea levels rose
significantly, because even a minor rise will make storm surges more devastating
and increase the risk of flooding. A rise of one metre would in effect close the port
of London as the Thames barrier would need to be raised for 300 days a year to
protect the city, according to one scientist.

The warning comes from climate scientists who combined historical records of
Arctic and Antarctic ice melting with advanced computer models capable of
predicting future environmental conditions. They found that if nothing is done to
put the brakes on climate change, Greenland, the west Antarctic ice sheet and other
expanses of polar ice will be warmed beyond a “tipping point” after which their
melting is inevitable.

If temperatures do rise as the scientists predict , the ice at the poles will not be lost
immediately. Enough ice is likely to melt within the next 100 years to raise sea
levels by a metre, but ultimately the fresh water pouring into the North Atlantic
would slow down the Gulf stream, which bathes Britain in warm water from the
tropics, by a quarter.

The major concern is that unless climate change slows down significantly, the
eventual loss of polar ice and subsequent six-metre rise in sea levels will be
unavoidable.

The melting 129,000 years ago was driven by natural processes. This time
greenhouse gas emissions have been warming the planet since the industrial age.
Carbon dioxide levels in the atmosphere stand at around 380 parts per million, but
many scientists believe they will rise to 550ppm by the middle of the century.

2. COMPREHENSION EXERCISES
1. Answer the following questions:
1. What do scientists warn about?
2. What does their research show?
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. What will happen to low-lying parts of England?

. What will happen to Greenland?

. How long will it take the polar ice to melt?

. Will the Gulf Stream slow down?

. What will be the concentration of CO? in the atmosphere?

N0 O~ W

2.Match the word with its synonym

Vast destroying
Trigger problem
Devastating bog
swamp big

bathe ultimate
concern to start
eventual wash

. Say whether these statements are true or false according to the text:
. If the climate warming continues, vast areas of Atlantic will be flooded.
. The eventual loss of polar ice will be unavoidable.

. Greenland will freeze.

. The ice at the poles will be lost immediately.

. The warning comes from linguist scientists.

O~ wWDNPEFPW

4. Environmentalists are worried about the greenhouse effect.

sentences, using if...,...will...

Example

If the earth gets warmer, the sea will get warmer.
If the sea gets warmer ...

If ...the earth gets warmer

the sea gets warmer

the ice at the North and South Poles melts
the sea level rises

there are floods in many parts of the world
many people lose their homes and land.

3. GRAMMAR EXERCISES

Make

1. Fill in the gaps with if or when and a verb in the present tense, then

translate the sentences:

We might go for a walk tomorrow. ......... , we will take the dog with us.

The guests will arrive soon. ......... , we will greet them at the door.

I am going to phone Nick in a minute. ......... him, I want you to leave the
room.

I might visit Vicki tomorrow. ......... her, I will buy her a present.

The bus comes at eight o’clock. ......... , we will get on it.
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She might invite us to her party. ......... us, we will go.
The film will start soon. ......... , I will record it.

2. Rewrite the following as conditional sentences:

You need to go to Egypt to see the Sphinx.

If e,

John didn’t leave early so he didn’t get there on time.
I,

She used factor 12 suntan lotion as she gets sunburnt easily.

If .........................................

You’ll have trouble selling your house if you’re not prepared to accept a lower
offer.

Unless.....oveeviiiiiiiiiiiiieene

He cancelled his trip because he had run out of money.

He lost his job. He’s unemployed now.

3. Complete the text by putting the verbs in brackets into the correct tense:

If I were world leader, I 1) ......... (try) to stop the destruction of the earth
and 2) (make) the world a better place for all people. If the world’s problems had
been tackled sooner, the quality of life 3) ......... (improve) long ago. First of all, I
would try to bring about peace in the world. As long as there is fighting between
nations, millions of people 4) ......... (continue) to suffer and die. If wars continue,
children 5) ......... (be left) without parents and 6) ......... (grow up) in a world of
misery and fear. But as long as people disagree over land and possessions, the
fighting 7) ......... (go on).
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4. Translate into English.

1. SIxOu mroaM MeHHle BTpyYaJlucsd Yy MPUPOJIHI MPOLECH, KIIMaT He
3MIHIOBABCS O TaK MIBUJIKO.

2. byno 0 noOpe, sikOM KUIBKICTh aBTOMOO1IIB Ha HAIIUX AOpPOrax 3pocraja

MOBUIBHIIIIE.

S 6yB O6m myxe paauit, SKOU J11TO OYJIO JOBIIKMM 1 TEIUTIIITNM.

Bonu nomomoriu 6 MeHi, sikOu Oyiu 3apas TYT.

Bonu y Hamux Bogoiimax Oynu 6 HabaraTo YMCTIIIMMU, KO T IPUEMCTBA

noAOaJIA MPO OYHUCHI CIIOPY/IH.

6. KimpkicTh OiTHMX Ha IUTAHETI 3MEHIIWIAch OW, SKOM OaraTi AymManu He
TIJIBKH MPO CBOI BJIACHI IHTEPECH.

7. Slkmo He OyAyTh MPHHHATI MIpH IIOAO 3MCHIICHHS BUKHUIIB ITAPHHUKOBHX
ra3iB, 030HOBUH IIap MOXKE 3HUKHYTH.

8. Ha Bamomy micii s 6 3aBepmInB el MPOEKT SKHAUIIBUALIIE.

9. Hamri gith ¥ OHyKM BiIYyrOTh Ha cOOl pe3ynbTaTd MOTEIUTIHHS KIIIMary,
SKIIIO MU HE TIPHUKJIAJAEMO HAJIC)KHUX 3YCHIIb.

10.4 nikonu He 3roguiacs 0 Ha It0 poOOTY, IKOM BOHU HE 3alPOCHIIA MEHE.

ok w

I'Y Read and translate the text. Give its main idea.

“Greenhouse effect”

In the 1960s Professor Bert Bolin predicted that the "greenhouse effect",
caused by an increase in the amount of carbon dioxide (C02) in the atmosphere
would lead to important changes in the Earth's climate. At the time his predictions
were regarded as science fiction. But it is now generally agreed that the amount of
carbon dioxide in the atmosphere will double from 0.03% to 0.06% in the next 50
years and that temperatures worldwide will rise by 2° Celsius.

Although a temperature rise of 2° may not seem significant, the local effects
may be much greater: in Polar Regions a rise of 10° by 2025 is expected and in
Northern Europe a rise of 4°. Indeed the first effects will be felt before the end of
the century - perhaps they are already being felt...

But how does the "greenhouse effect" operate and why should such a tiny
proportion of C02 have such a harmful effect? When living creatures breathe out or
when things are burned. C02 enters the atmosphere. Until recently all of this was
absorbed by plants, which converted it back into oxygen.

However, the balance of nature has been disturbed. In power stations, in
factories and in our cars, we are burning more and more fossil fuels (coal, oil and
natural gas) and this produces huge quantities of C02 - 18 billion tons of it enter
the atmosphere every year. Added to this, the destruction of forests means that less
C02 can be converted into oxygen by plants. So, the amount of C02 in the
atmosphere is increasing every year.

Greenhouse effect is a warming near the earth's surface that results when
the earth's atmosphere traps the sun's heat. Without this effect, the average surface
temperature of the earth would be about 59 Fahrenheit degrees (33 Celsius
degrees) lower than it is.
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As the temperature rises, the amount of water vapour in the air will increase
and this too will absorb more of the earth's heat. The oceans too will become
warmer and store more heat, so that they increase the warming effect.

UNIT 6
Glossary
1. burgeoning population- 3pocratoue HaceneHHs
2. cesspool (n) — CTiYHA siMa
3. clashes - CYyTHYKH
4. clog (v) — 3acMidyBaTu
5. cripple (v) — KaJIIYUTH, HIBEYUTH, POOUTH HETIPUIATHUM
6. disaster (n) — JIUXO0, HEIIACTS
7. effluent (n) — CTIK, CTIYHI BOJIH, PiUKa, MOTIK
8. endanger (V) — HapakaTH Ha HeOe3MeKy
9. scarce (adj) — HEO0CTaTHIN, O1THMI
10. sewage (n) — CTIYHI BOJIH

1. Read and translate the text.

Clean water is a human right
Latin America’s largest metropolis, with more than 20 million people, is sinking.
Mexico City is built on an ancient lake that has been drained, and now the
underground aquifers are collapsing. But that is only half the problem. In what is
developing into one of the world’s most pressing environment problem, rivers of
sewage flow through many poor neighbourhoods, the city loses 40-50% of all its
water in leaks, and 100 cubic metres of hard-to-dispose waste is generated every
second.

Yet every day more than 1,000 people come to live in Mexico City, and the
local authorities are overwhelmed. Last year a million people depended on water
trucks, or “pipas”, to meet their basic need for water. The rich bought it bottled, the
poorest paid by the bucketful, and there were clashes between neighbours as
people stole water from each other. Even though more than 800km of new pipes
have been laid in the past few years, 40% of people still refuse to pay or do not
receive bills. The whole system urgently needs several billion dollars’ investment.

Moreover, the problems are worsening. The United Nations has declared that
water quality is declining in most regions, that there is an increasing demand for
water to grow crops for burgeoning populations, and that urban areas are
exploding. By 2030 some 2 billion people will live in illegal squatter settlements
and slums without access to water. But what may shock people most is that after
almost 15 years of promises by world bodies, national governments, water
companies and others, the world’s poorest are still not getting the most basic
human need.

There is now no chance that the millennium development goal of halving the
proportion of people without access to clean water by 2015 will be met. At this rate
of progress, says the World Water Council, “access to clean water cannot be
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guaranteed until beyond 2050 in Latin America and the Caribbean”. Blame for the
failure will be put on large institutions, states and international companies that
have the money, or access to it, but that have failed to target the poor.

2. COMPREHENSION EXERCISES
1. Answer the following questions:
1. What is the population of Mexico?
2. What was the city built on?
3. What are the main problems that city is facing today?
4. What has the United Nations declared?
5. How many people will live in squatter settlements and slums without access to
water in 20307
. Give English equivalents for the following.
. CTape 03epo
. CITIO’KMBAaHHA Ha oYY HACCJICHHSA
. IINTHA BOJAa
. IOCTYT J0 YUCTOI BOJIH
. HeTpi
. IIOIIUT Ta HpOl’[OBI/IHiH
. IIPOBHUHA
8.maTH 3a MeTy

NN WODNEFEPEDN

3. Match the following words with their explanations and try to give
synonyms or antonymes.

shortage water plant of very simple structure

algae amount of deficiency; condition of not having
enough

silt waste material and water carried in sewers

sediment load material carried along and then left in a place
by moving water or ice

to irrigate to break up or turn over land with a plough; to
force a way or make a track

scarce loose land, mud, soil, etc. carried in running
water, then dropped

plowing to supply water to (dry land) by providing
with man-made stream

lavish not much or many compared with what is
wanted; hard to find, not plentiful

sewage very free, generous or wasteful in giving or
using

3. GRAMMAR EXERCISES
1. Translate the sentences paying special attention to complex objects.
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1. He didn’t want us to be disturbed by the fact that winters were becoming
warmer and natural disasters much powerful because of the climate warming.

2. The scientists believe greenhouses gases are the cause of climate warming.

3. A laptop enables people to work on a plane.

4. She neglected the fact of greenhouse effect influence to be discussed at the
meeting as a very important one.

5. They would like to be told about the consequences of the recent tsumani in
South-East Asia.

2. The words in the following sentences are in the wrong order. Rewrite them
in the correct order.

a) me she to in myself taught believe.

b) dirty they me to their do work paid.

) we atmosphere still know the don’t results effect gases of greenhouse the on.
d) allow smoke don’t they you to work at.

e) should be car encouraged makers gas with CO? less to produce less with.

3. Use the words in capitals to form a word that fits in the space in the same
line.

Choosing a car
There comes a time when not having a car

becomes ... . Choosing your first car is an Practical
...experience. Most men’ Excite
...1s so vivid that they see themselves speeding Imagine
along in a...sports car, attracting... Power
looks from those they pass. In Envy
...this does not happen that often. More Real
practical and...aspects have to be considered Finance
when choosing a car. The...is normally Choose
between a small city car which is...to run Economy
and easy to park and a larger family car which

would be more...and probably be fitted with Comfort
more...features. Safe

4. Translate into English

1. CroronHi Ay»e XOJIOAHO: 1Ty HiY HIIIOB CHIT.

2. Mu no3HallOMUIIUCH MICALb TOMY, aJie 3 TOr0 Yacy s HI40Tro Ipo HHOTO HE YyJia.
3. — Bu xonu-ueOynp Oynu B ABcTpanii?

— Hi, ane s 3aBxau Mpisyia TaM 1oOyBaTH.

4. TloTeruiiHHSA KJIIMATy 3MIHIOE PIBEHb CBITOBOTO OKEaHYy.

5. JIsxyto BaMm 3a BCe, L0 BU 3pOOUIIH JIJIsl MEHE.

6. BupyOka Bojorux TpOMIYHHUX JIICIB BEJE /10 3HMINCHHS KPUXKOI pPIBHOBAaru y
MPUPO/IL.

7. barato miHHUX MOPia AepeB OyIu BUHUIIEH] 3apajy JIOICHKOT MUXH.
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8. Konu Bu ocranniit pa3 i3aunu no Kpumy? — S B3arani Hikonu ve 6yB y Kpumy.
9. Hom 3aKiHYUBCS, 1 3HOBY CBITHJIO COHIIE.
10.Apanbcbke MOpE MaiKe HaIoOJOBUHY BUCXJIO YEPE3 JIHOJICHKY MisUTbHICTD.
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5. Put the verbs in brackets into the correct past forms:

Christopher Columbus ......... (be/born) in Italy in 1451. He ......... (work)
as a woollen cloth weaver with his father before he ......... (begin) his nautical
career at the age of 22. After several merchant voyages he ......... (settle) in
Lisbon, Portugal in 1478. By this time he ......... (teach) himself Portuguese and
Latin and .......... (read) many geographical and navigational books. In 1481 he
.......... (marry) Felipa Parestrell. They ......... (have) one son, Diego. They
......... (be/married) for two years when his wife ......... (die). At this time he
......... (work) for John II of Portugal. Columbus ......... (always/wish) to sail
around the world westward but John II wouldn’t agree. Finally King Ferdinand and
Queen Isabella of Spain ......... (decide) to finance the voyage. He ......... (set
off) for the first time in April 1492. There ......... (be) three ships: the Nina, the
Pinta and the Santa Maria and a crew of 90 men. They ......... (have) many false
alarms before they finally .......... (spot) the “New World” at 02.00 on Friday the
12" of October, 1492. Columbus ......... (make) another three voyages after this.
He ......... (retire) to Valladolid 12 years after his first voyage and in 1517 he
......... (die) there.

6. Read and translate the text. Give its main idea.
Water Pollution

Estimates suggest that nearly 1.5 billion people lack safe drinking water and that
at least 5 million deaths per year can be attributed to waterborne diseases. Water
pollution may come from point or non-point sources. Point sources discharge
pollutants at specific locations—from, for example, factories, sewage treatment
plants, or oil tankers. The technology exists for point sources of pollution to be
monitored and regulated, although political factors may complicate matters. Non-
point sources—runoff water containing pesticides and fertilizers from acres of
agricultural land, for example—are much more difficult to control. Pollution
arising from non-point sources accounts for a majority of the contaminants in
streams and lakes.

With almost 80 percent of the planet covered by oceans, people have long acted
as if those bodies of water could serve as a limitless dumping ground for wastes.
Raw sewage, garbage, and oil spills have begun to overwhelm the diluting
capabilities of the oceans, and most coastal waters are now polluted. Beaches
around the world are closed regularly, often because of high amounts of bacteria
from sewage disposal, and marine wildlife is beginning to suffer.

TEST 4

1. Choose the correct word to complete the sentences. Total 10
1. If the pollution ... it will not be enough water.

A) increase C) fell
B) falls D) increases
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2. If people protest against environment pollution the surrounding ... cleaner.
A) will be C) becomes
B) is D) has been

3. If the destruction of rainforest was ... soil erosion would be less.
A) stopped C) is stopped
B) will be stopped D) is being stopped

4. 1would ... at the conference on environment if problems if I had been invited in
time.

A) participate C) has participate

B) have participated D) participated

5. If we ... to protect what is left for the water supply we will have enough water
for the coming generation.
A) fought C) will be fighting
B) fight D) are being fought
2. Give English or Ukrainian equivalents of the following. Total 5
1. IlutHa Bonma
2. CrnoxvBaHHS Ha IyIIy HACEJICHHS
3. Dumping ground
4. BaHTax ocajoBOi MOPOIU
5. Temmneparypa Bulle HyJIst
3. Complete the following conditional sentences and translate them. Total 10
1. You will attend the lecture of sewage water if ....
2. If the earth gets water the sea ....
3. The North and South Poles will melt if the sea level ....
4. If I had forgotten my watch at home I ....
5. Your watch would keep right time if you ....
4. Make the following sentences disjunctive questions. Total 5
1. The weather is fine.
2. He always forgets his watch at home.
3. There is no life without water.
4. One million people require a billion cubic meters of water a year.
5. Water has always been a political sensitive issue.
5. Translate the following into English. Total 20
I'iapocdepa — 11e BoaHa cdepa HaIo1 MIIAHETH.
Hamra mmanera MicTuTh 6:113bK0 16 MIIpA. KyO. M. BOJIH.
Bojia € 0cHOBOIO iICHYBaHHS KUTTSI HA 3€MJIL.
JIronceka nuBiII3aLlig HE MOXKe ICHYBaTH 0€3 BOJIH.
AxOu 3emns Oyna mpaBuwibHOIO ceporo, 00’eMy BOAM HA HaIM TJIaHETI
OyJ10 6 10CTaTHHO.
6. Open the brackets to use the correct verb form. Total 10
1. The cause of health hazards (may) (can) (could) be sea water.
2. Water in the Middle East (to be) a highly sensitive issue.

bW E
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3. Without water a man soon (to die).
4. Our Earth (to have) as much water as it ever (to have).
5. An ancient man (to need) something (to carry) and (to keep) water in.
. Give three forms of the following irregular verbs. Total 10
. OaunTHn
. YyTH
. JUBUTHUCA
. PO3YMITH
. BITYyBaTH
. Kpu4uatu
. IINTHN
. BUUTHU
. XOOUTH
10. ictm
8. Translate in writing without dictionary (Time for the task — 10 min).
Total 30

OO NOOOUITDRWNPEFEPN

Is It Safe to Drink the Water?

Roughly 1,000 contaminants have been detected in the public water supply in the
United States, and virtually every major water source is vulnerable to pollution.
About half the U.S. population relies on surface water from rivers, lakes, and
reservoirs that may contain industrial wastes and pesticides washed off fields by
rain. The other half uses groundwater that may be tainted by chemicals slowly
seeping in from toxic-waste dumps. In some areas where groundwater supplies are
being gradually depleted, the chemical pollutants are becoming more concentrated.

Most pollutants are probably not concentrated enough to pose significant health
hazards; however, there are exceptions. The most widespread danger in water is
lead, which can cause high blood pressure and an array of other health problems.
Lead is especially hazardous to children, since it impairs the development of brain
cells. The U.S. EPA estimates that at least 42 million Americans are exposed to
unacceptably high levels of lead, and the U.S. Public Health Service estimates that
perhaps 9 million children are at least slightly affected by it.
The contamination comes from old lead poisoning and solder that have been used
in plumbing for years. These materials are gradually being replaced in homes and
water systems. Individuals may want to have their water tested for lead by an
official lab. If the level is too high, they can investigate ways to deal with the
problem or switch to bottled water for drinking and cooking. Even then, caution is
called for: Some bottled waters contain many of the same contaminants that tap
water does.
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PART Il

UNIT 1

Glossary
1. bounded OTOYEHHUI
2. isthmus HEPEIIHIOK
3. shallow MIJIKH#
4. picturesque MaJIbOBHUYHI
5. to be noted for XapaKTepu3yBaTUCS
6. inlet OyxTa
7. strait IPOTOKA
8. bank bars MiTnHA
9. designation Ha3Ba
10. plain piBHUHA
11. peninsula MiBOCTpiB
12. elevation BHUCOUYMHA
13. lowland HU3HHA
14. evaporate BUITAPOBYBATHUCS
15. clayey schists TJIMHUCTI CIIAHIT
16. deposit POJIOBHIIIE
17. crumbly limestone KPUXKUH BaITHIK
18. range xpeber
19. pasture MTACOBUIIIC
20. cave neyepa
21. deciduous JTUCTSIHUI
22. coniferous XBOWHUUN
23. in the vicinity of no0Iu3y
1. Read and translate the text.

The Crimea

The Crimea Peninsula is the only natural geographical division of Ukraine
almost entirely bounded by the sea. It is attached to the continent only by the five-
mile wide Perekop Isthmus. Washed by the deep Black Sea on the west and south
and by the shallow Sea of Azov on the east the Crimea has always been noted for
the picturesque beauty of its southern shores and its subtropical climate. Its north-
eastern shores consist of a complicated system of shallow inlets, straits and bank
bars known by the common designation of Sivash. From the main body of the
peninsula the elongated Kerch peninsula extends toward the Northern Caucasus
from which it is separated by the Kerch Strait.

Prom the standpoint of relief and physical geography, the Crimea can be divided
into three divisions: the steppe plains of the north including the Kerch peninsula,
the Crimean mountains, and the southern coast. The Crimean steppe comprising
about three fourth of the total area of the peninsula, is a southern continuation of
the steppes of the southern Ukraine. It represents a level lowland rising gently
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toward the foothills of the Crimean mountains in the south and nearly devoid of
water. Even the longest river of the Crimea, the Salgir rising in the mountains
evaporates in the steppe during the summer months. Water is obtained from
artesian wells. Salt lakes abound along the shallow costs. The Kerch peninsula
rises in many low hill ranges, composed mainly of clayey schists which contain a
number of mud volcanoes, similar to those found on the Apsheron peninsula near
Baku. The Kerch peninsula is the chief mineral region of the Crimea and contains
vast deposits of phosphoric iron ore.

The Crimean mountains were formed in the Alpine orogenesis. They extend 80
miles long and 30 miles wide along the south coast of the peninsula. They are
composed chiefly of limestone. In the west they form three ridges: the longest (
northernmost) is considerably eroded and consists of crumbly yellow limestone.
The central range, somewhat higher, consists of soft white limestone and has been
dissected by river action into separate plateau blocks. The hard gray limestone
formations of the southern range which reaches the highest elevation at the
Roman-Kosh ( 5,063 feet), break off nearly vertically at the south coast. The
summits of the Crimean mountains are covered with steppe grasses and Alpine
plants which serve as excellent summer pastures for the stock of the lowland
steppe.

2. COMPREHENSION EXERCISES
1. Answer the following questions:
a. What is the geographical position of the Crimea?
b. What are the three main divisions of the Crimea?
¢ What is the steppe region noted for?
d. Of what ridges are the Crimean mountains formed?
e. What is the vegetation of the Crimean mountains?
2. Write out the equivalents in pairs:
to be distinguished by; lo connect; similar to; to include ; to stretch; to quarry;
laborious; especially; also; from the point of view; a number of; stream; several; as
well as; from the standpoint of; notably; difficult; to mine; to extend; to consist of;
like; to be noted for; to join; rivulet.
. Say whether the statements are true or false:
. The Crimean mountains are the highest mountains in Europe.
. The Crimea Peninsula is the only natural geographical division of Ukraine.
. The Kerch peninsula contains vast deposits of phosphoric iron ore.
. The Crimean mountains were formed in the Alpine orogenesis.
. The summits of the Crimean mountains are covered with steppe grasses.

O~ OWONEFEW

3. GRAMMAR EXERCISES
1. Translate the sentences paying attention to different forms of the Participle.
1. The moving wall of ice changes everything in its path.
2. Precipitation totalling more than 20 inches annually occurs mainly in the winter
months in the Crimea.
3. Metamorphic rocks are the changed products of igneous or sedimentary rocks or
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other metamorphic rocks.

4. The polar station being built on the island is of great importance.

5. Making its way down the valley, the river cuts through rocks of different
resistance.

2. Translate the sentences paying attention to the Infinitive

a. This investigation would be a part of work to be done.

b. The area to be studied lies between the two grounded terminals or electrodes.

c. The majority of the sections to be evaluated were already behind casing when
the study started.

d. There are other factors also to be considered such as the character and amount of
the transported material and the character and structure of the rocks through which
the channel is excavated.

e. The geologist's picture will serve to present a basis in estimating the shaft-
sinking plan to be used.

3. Fill in the correct form of the infinitive or the —ing form. Mind the tenses.

1. Heisnotlikely.................. (return) before five o’clock.
2. They mightnot ................ (complain) about the meal if the service hadn’t
been so dreadful.

3. Manissaid................... (invent) the wheel about ten thousand years ago.
4, Theyhope .................. (make) a lot of money in their new business.

5. She’s too tired ............... (concentrate) on her work today.

4. Fill in the correct form of the infinitive.

1. I’ve looked everywhere, but the file appears ...(misplace).

2. He is not old enough...(allow) to stay out late.

3. I don’t think I’ll be able to make it tomorrow. I’'m supposed meet) Jane for
lunch.

She was only pretending...(read); she was really daydreaming.

I need you ...(help) me prepare the food for the party.

The team is said ...(win) the match through sheer luck.

The accident is believed...( cause) by reckless driving.

The newspaper received many calls from people claiming...(see) UFO.

. He was the first British writer...(award) the Nobel prize for literature.

0 He is not likely ...(return) before five o’clock.

H©9°NFDS”:'>

5 Translate into English.

1. [amone3is Mae TUTaHu MOOYMyBaTH MEPITy aTOMHY €JIEKTPOCTAHITIIO0 B CEHCMIYHO
HeOe3MeyH1l 30Hi.

2. CnoogiBaroThCs, IO CIYyXW MpPO M[MIBHJAKE TMOTEIUIIHHSA KJIIMATy TPOXHU
nepeoiIbIIeHI.

3. HeMOJIMBO 3yNIMHUTH PYyX JFOACTBA J0 MPOTPECY.

4. Yu He Oyzaete B Taki 100’ A3H1, MOSICHUTH MEHI MPUYUHH TTOSIBH 030HOBOI JIIpU
HaJl AHTapKTUKOIO?

5. Ilo6 wHamn miTH MOTJIM IUXAaTU YHUCTUM TIOBITPSM, HEOOXITHO CKOPOTHTH
BUKH/IM MTAPHUKOBUX Ta3iB.
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6. Read and translate the text. Give its main idea.
Oxford

Oxford is situated in the centre of the Clay Vale, at the confluence of the
Thames and Cherwell. Thus it stands at the "crossroads" of the country, and
provides shops and markets for a rural area. Oxford is also known to retain from
the Middle Ages a fair famous all over England.

Oxford is a modern industrial town, its suburb of Cowley being one of the
main single producers of motor-cars in the British Isles. But its importance as an
industrial town and market centre is, however, masked by its significance as a
university city.

No exact date can be offered for the founding of the Oxford University, but
according to some historians its beginning is believed to be related to the exodus of
English students from the University of Paris in 1167 or 1168.

The choice of the small rural village of Oxford as a seat of learning was
significant. Ear removed from foreign influence, Oxford was comparatively easy
reach of all parts of England From the beginning the university was designed not
for the aristocrats, but for the English commoners. The foundation of Oxford was
more national than that of other universities in the Middle Ages, and the protection
and advancement of the British Empire and Commonwealth has unswervingly
been a dominant motive. Although the forgoing references do not indicate exact
founding dates, there is more specific dating for the founding of Oxford's oldest
resident colleges: University (1249), Balliol (about 1263) and Merton (1264).

Constituting one of the most unique collection of beautiful buildings in the
world, the Oxford University colleges, in addition to the above mentioned oldest
ones, are Exeter, Oriel, Queen's New, Lincoln, All Souls, Magdalen, Christ,etc.

In addition there are numerous academic halls. Most of these colleges began
as hostels opened by charitable individuals and groups to provide lodging, care and
general supervision of students.

The present facilities at Oxford include theology and oriental studies, law,
English language and literature, medieval and modem history, humane letters,
social studies, medicine, physical and chemical sciences, biology, anthropology,
geology, agriculture, forestry and music.

UNIT 2
Glossary
1.search 1(0)113% 3
2. forecast IIPOTHO3
3. accuracy TOYHICTh
4. prediction IPOPOKYBaHHS
5. properties BJIACTHUBOCTI
6. humidity BOJIOTICTh
7. acquire 3100yBaTH
8.stagnate 3aCTOIOBATHCS
9.circumstances 00CTaBUHH
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10.transition nepexif

11.source region OCepEIKOBHIA paiioH
12.beneath BHU3Y
13.a zone of discontinuity 30Ha PO3PUBY

1. Read and translate the text
Air masses, fronts and cyclones

Meteorologists are constantly searching for improved methods of analysis in
order to forecast the daily weather with greater accuracy. Contemporary weather
analysis and prediction consist largely in the study of the properties of individual,
discrete masses of air and the changes resulting when they meet.

An air mass is a portion of the atmosphere having a uniform horizontal
distribution of certain physical characteristics especially of temperature and
humidity, these qualities being acquired when a mass of air stagnates or moves
very slowly over a large and relatively unvaried surface of land or sea. Under these
circumstances surface air gradually takes on properties of temperature and
moisture approaching those of the underlying surface, and there then follows a
steady, progressive transmission of properties to greater heights, resulting finally in
a fairly
clearly marked vertical transition of characteristics. 'lhose parts of the earth where
air masses acquire their distinguishing qualities are called source regions.

The height to which an air mass is modified depends upon the length of time
it remains in its source region and also upon the difference between the initial
properties of the air when it first arrived and those of the underlying surface. If for
example an invading flow of air is cooler than the surface beneath as it comes to
virtual rest over a source region, it is warmed from below and convective currents
are formed, rapidly bearing aloft new characteristics of temperature and moisture
to considerable heights. If, on the other hand, it is warmer than the surface of the
source region, cooling of its surface layers takes place, vertical thermal currents do
not develop and the air is modified only in its lower portion. The process of
modification may be accomplished in just a few days of slow horizontal drift,
although it often takes longer, sometimes several weeks. Radiation, convection,
turbulence and advection are the chief means by which it is brought about

Two converging air masses tent to retain their individual properties after
they have met, creating a zone of discontinuity between them called a front. A
front is a rather narrow transition zone, marked by lower barometric pressure
between two discrete air masses. It is usually along a front that the ordinary
changes in weather evident to the casual observer take place. A front is often
described as resembling an inclined plane, separating cooler air below from
warmer air above, in a wedge-like fashion.

2. COMPREHENSION EXERCISES
1. Answer the following questions to the text:
a. How does an air mass acquire its qualities?
b. What determines the height to which an air mass is modified?
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¢ What do we call a front?

d. How does it develop?

e. What is called a source region?

2. Write out the equivalents in pairs:

constantly; approximately; to search; to occur; to forecast; to modify;
contemporary; to resemble; largely; to cause; to acquire; pronounced; gradually;
rather; roughly; fairly; clearly marked; to take place; all the time; to change; to
look for; to look alike; to predict; to bring about; present day; mainly; to take on; to
be noted for; little by little; to be distinguished by; a period; to rise; a spell; to
uplift.

3. Translate the sentences paying attention to Participle Constructions:

a. Ordinary surface air is a mechanical mixture of a number of gases, chief among
them being nitrogen and oxygen, which together comprise about 98 per cent of
the volume.

b. The two masses of colder air having met beneath the cyclone, the cyclonic mass
of thinner air is uplifted and driven eastward in general circulation.

c. When air masses having different temperature and humidity properties come
together they do not mix readily but maintain a boundary surface of discontinuity
for some time, the warmer, lighter air being forced aloft over colder mass.

3. GRAMMAR EXERCISES

1. Fill in the blanks with prepositions or adverbs wherever necessary.

1. Scientists are constantly searching... improved methods ... .analysis .. .order to
forecast the daily weather ... .greater accuracy.2. A mass...air takes.. its qualities
when it moves slowly... .a large and relatively unvaried surface....land or sea. 3.
Measurements and calculations of the amount...heat coming... outer limits...the
atmosphere has resulted...an average figure...1,94 gram calories per square
centimeter per minute. 4. Plateaus on the coast are subject.. .the attacks...waves and
currenls.5. The Kerch Peninsula is noted ...the vast deposits........ phosphoric iron
ore.

2. Fill in the correct relative pronoun.

| Who which whose when where why whom

1. The lady ....is speaking to the airport officials is the one.....luggage
mysteriously disappeared.

2. It was 2009 ....... I traveled to Poland, as I had always wanted to visit the place
....my parents were born.

3. Her brothers, both ....are university students, enjoy playing football at
weekends.

4. In the café.....I go for my lunch break, I often see a man.....Iooks a lot like our
Professor Green.

5. The old building .....is now being restored, is said to have belonged to a wealthy
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banker.

3. Put the verbs in brackets into the Present Perfect Simple or Present perfect
Continuous.

1. John ....(feel) quite depressed recently, so he is thinking of taking a week off to
go skiing.

2.1....(know) Professor Ivanenko since my first year at the University.

3. Mike ....(wait) for the bus for nearly an hour and it hasn’t come yet.

4. “1....(always/live) in this town and I don’t intend to leave now”, said the old
lady.

5. Her eyes are red because she ... (work) on the computer all morning.

4. Translate into English using the dictionary:

Bueni, mpoananizyBaBIM nepiri 3Ha4H1 JOCHIIIKEHHS! BIUIMBY I1JBUILIEHUX
TEMIEpaTyp Ha MPUPOJHUN CBIT, MPOTHO3YIOTH, 110 3MiHA KJIIMaTy y HacTymHi 50
POKIB MIpU3BENIe A0 BUMUPAHHS YBEPTI BCIX TBApUH 1 pociivH Ha 3emii. Lli maHi
IIOKYBaJIM BYCHUX, SKI MPOBOJIWIN TOCIHIKECHHSA. BOHM NMpUUTIUIA 10 BUCHOBKY,
mo Ouremie 1 muH BuIiB Oyae 3aryOnenHo no 2050 poky. Benuka wactuHa 1ux
BTpaT — OWUIbIIE OJHOTO 3 JIECATH BCIX POCIMH 1 TBApUH - BXKE HE MIAISTaIOTh
BIJIHOBJICHHIO 13-3a BHKHJIIB B aTMoc(epy rasiB , ski HarpiBaioTh aTtMmocdepy
3eMiIl. AJle BUYEHI BBaXarTh, IO i, CIOpPsSMOBaHI Ha 3amoOiraHHsS BUKHUIIB
MapHUKOBUX Tra3iB, IIIE MOXXYTh JOTOMOITH BpATYBaTH Oarato BHJIB BiJ TaKoi
3arpo3m.

JocnimkeHns, ki TpoBoMwmch y €Bpomi, ABcrpanii, LleHTpanbHili Ta
[TiBnenniit Amepuri i B [liBnenniit Adpwiri, mokazanu, mo Buau ¢iaopu Ta dhayHwu,
K1 )KUBYTh B FPCHKii MICLIEBOCTI, MaIOTh OUIBIIIE IIAHCIB BUKUTHU, TOMY 1110 BOHU
MOKYTb TITHATHCS BUIIE Yy TOPH, JI€ XOJIOTHIIIIE.

5. Read and translate the text. Give its main idea.

Africa, the Dark Continent
It is sometimes called the "Dark Continent”, not because there is more darkness
than in other places, but because, when the name was first given, so little was
known about the country.
Lake South America, Africa is wide in the north and narrower in the south, and,
also as in South America, a mighty river flows through dense forests near the
Equator. This river is the Congo.
The north of Africa lies only a few miles from Europe, and the Isthmus of Suez
formerly joined Africa to Asia. In former times all ships from England to India,
China or Japan had to sail thousands of miles round the south of Africa.
Between the northern shore and the rest of Africa stretches the Sahara desert, the
largest in the world. For hundreds of miles the ground is nothing but hot, dry sand.
Very rarely you can see a plant. Water is scarce and is found only at certain wells.
Such a district is known as an "oasis" or fertile area in the desert.
The river Nile flows across the desert lands of Africa. It is a large river, which has
made the land near it extremely fertile. In the Nile Valley are found large groves,
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pretty flowers, rich orchards and fields of golden grain.

The River Nile rises a big lake called Victoria Nyanza. When the rains are heavy,
several rivers flow from the mountains to this lake. At this season the Nile spreads
itself over a large area. Mud and sand are carried from hundreds of miles. On the
flat land the river crawl along slowly and there the mud settles down.

Lakes have been made to store up water for the land and small canals have been
cut to carry this water to the fields.

The Nile as it flows over the marshy land to the sea, divides into several streams
and thus has various mouths. The land of the delta is mostly marshy, and in hot
countries is suitable for the growth of rice. Where the land is less marshy, the
cotton plant grows, and Egypt is famous for cotton and tobacco.

The Suez Canal, through which ships from Europe pass to Asia is only a few miles
from the Nile delta. It is nearly a hundred miles long, and on each side stretches
dry, sandy desert. The canal is so wide and deep that the largest liners can go
through, and at special places two ships can pass each other. It took years to cut the
Suez Canal and even now boats called "dredgers™ have to keep it clean, because a
great deal of sand is blown into it from the desert lands around.

UNIT 3
Glossary
1.glacier JIbOJIOBUK
2. blanket MTOKPUB
3. existence iCHyBaHHS
4. indeterminate HEBU3HAYCHUI
5. unreliable HEHATINHUNA
6. recover BIHOBIIIOBATH
7. effect BILJIUB
8. remnants 3aJIMIIKU
9. responsible for OyTH BIATOBIIaTbHIM
10. piedmont nepeaAripHui
11. abundant PACHHIA
12. endure IPOJIOBKYBATHCS
13.tabular IIapyBaTHA, TUTACKHI
14. hexagonal IECTUTPAHHUN
15.neve bipu
16. load BAHTAXK
17. trickle CTPYMEHITH
18. thoroughly PETEIBHO
19. altered 3MIHEHUH
1. Read and translate the text:
Glaciers

Late in the Pleistocene Epoch, some 30, 000 or 40,000 years ago, nearly half
of North America, all of northern Europe, Greenland and Antarctica and much of
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northern Asia were covered by great blankets of snow and ice called continental
glaciers. At the same time valley glaciers in all the high mountain regions of the
earth were much larger than the present ones, and thousands were in existence
where none are now. It is estimated that more than one-fifth of the whole land
surface, about 12,000,000 square miles, was covered with ice during this time.

The earth has not recovered from the effects of this "Great Ice Age". Even
now 5,000,00 square miles of Antarctica and 600,000 square miles of Greenland
are covered with glacial ice. In addition, there are hundreds of valley glaciers in the
high mountains of western North America, the Alps, the Caucasus, the Andes and
the Himalayas. Nearly all present glaciers are the remnants of the much greater
ones of Pleistocene times.

Glaciers may be divided into four principal types: continental glaciers, ice
caps, valley glaciers and piedmont glaciers. All have certain characteristics in
common, but they differ in size, position and in their origin.

Three conditions are necessary for the formation of a glacier: first, abundant
snowfall; second, cool or cold temperatures; and third, a sufficiently low rate of
summer melting and evaporation, so that snow fields endure and increase in size
through a long period of years. Snow field may accumulate on plains, plateaus or
mountains. Wherever the conditions are favourable, the snow field grows in depth
and in surface area from year to year. The transformation of snow to glacial ice
occurs chiefly in the snow fields. As it falls through the air, snow consists of
delicate, thin, tabular, hexagonal crystals. After having lain on the ground for some
time and having been covered by later falls, the snow gradually changes to
granular ice which is called neve' .This change is brought about by the partial
melting of the snow crystals due to the weight of the overlying load. The water
from the melting snow trickles down and almost immediately freezes, thus making
grains of ice. A thick snow bank formed by the successive snowfalls of only one
winter will have ice at the bottom, thoroughly granular snow in the centre and
slightly altered snow at the top. After many years of accumulation the ice at the
bottom of the snow field becomes very thick and, at last, is ready to move.

2. COMPREHENSION EXERCISES

1. Answer the questions to the text:

a. How did the continents look late in the Pleistocene Epoch?

b. Where are the remnants of ancient glaciers found now?

¢ What types of glaciers do you know?

d. What conditions are necessary for the formation of a glacier?

e. How is snow transformed to glacial ice?

2. Write out the equivalents in pairs:

To waste away; present; to take place; blanket; finally; to resume; to cause;
margin; mainly; fast; to help; little by little; because of; to resemble; to change; to
calculate; to continue; to recede; recent; to occur, sheet; eventually; to begin again;
to bring about; edge; chiefly; rapid; to aid; due to; gradually; to alter; to look like;
to go on; to estimate.
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3. Say whether the following statements are true or false:

1. Late in the Pleistocene Epoch all of northern Europe was covered by great
blankets of snow and ice.

2. Valley glaciers in all the high mountain regions of the earth were much smaller
than the present ones.

3. Five conditions are necessary for the formation of a glacier.

4. The earth has not recovered from the effects of "Great Ice Age".

5. The snow gradually changes to granular ice which is called “neve”.

3. GRAMMAR EXERCISES
1. Translate the sentences paying attention to the different functions of
the Gerund.
a) Forecasting weather with great accuracy is no easy matter.
b) Cooling may be caused by radiation, by contact with cold surfaces, by mixing
masses of air of different temperatures.
c) The sole object of our expedition was exploring the floor of the Pacific Ocean.
d) The most important thing in the contemporary weather analysis is studying the
properties of individual, discrete masses of air and the changes resulting when they
meet.
e) Improved methods of observing atmosphere are developed.
2. Analyze the following sentences. State whether - ing-forms are participles
or gerunds. Translate the sentences.
a. The face of the earth is always changing.
b. Having studied hundreds of sections of rocks we may learn the extent of the area
over which a bed was deposited.
c. Obtaining oil from undersea fields they used new methods and modem
equipment.
d. Wind direction may be determined quite simply by watching the movement of
clouds, smoke or waves on water surfaces.
e. One method of obtaining salt is allowing water to evaporate.
3. Match the idioms with their definitions.

It’s a small world One can run into somebody they know
almost anywhere.

An Englishman’s home is his castle. When visiting a place always respect its
customs and traditions.

There’s no place like home. Whatever methods you use, they will
have the same results.

All roads lead to Rome. An Englishman feels safest and does as
he wishes in his home.

When in Rome do as the Romans do. One’s home is the best place to be.

4. Translate into English.
['apocdepa
l'iopocgepa- 1ie BoHa cdepa HAIIOI TUIAHETH, CYKYIHICTh OKEaHIB, MOPIB, BOJ
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KOHTHWHEHTIB, JIbOJJOBUKOBHX TOKpHBiB. Hamra mmanera mictuth Onm3pko 16
MJIPI.Ky0.M BoJH, 10 cTaHOBUTH 0,25% ii Macu. OCHOBHA YacTHHA L€ BOIU
(monax 80%) mepeOyBae y rimMOMHHUX 30HAaxX 3emii — B ii ManTii. Ilig3emua
JacTHHA Tigpocdepr OXOIUTIOE TPYHTOBI, MATPYHTOBI, MIKIIJIACTOBI Oe3HAMipHI i
HaIipHI BOAM, TPIIIMHHI BOAM 1 BOAW KApPCTOBHX IMOPOXXHUH Yy JIETKOPO3UYMHHUX
ripChbKUX MOpoJiax ( BamHsIKax, rirncax, TOoIlo).

Jlnst Bemu4e3Hoi KIJTBKOCT1 JKMBUX OpPraHi3MiB, OCOOJIMBO Ha paHHIX eTarax
po3BUTKY Oiocepu, Boja Oyiia cepeOBHILEM 3apOKEHHSI Ta pOo3BUTKY. Bona y
Oiocdepi mepedyBae y Oe3nepepBHOMY pyci, Oepe MoYaToOK y T'eOJIOTIYHOMY Ta
OiosoriyHOMY Kpyroo6irax pe4yoBruH. BoHa € OCHOBOIO iICHYBaHHS JKUTTS Ha 3eMIII.
be3 Boam He MOKe ICHYBaTH JIIOJICbKa ITMBLII3AIlS, OO BOJa BUKOPHUCTOBYETHCS
JIOJIBMHU HE TUIBKH JUIS TIUTTSA, a ¥ I 3a0€3MeUeHHS CaHITapHO-TITIEHIYHUX Ta
rOCIOIapChKO-TIO0YTOBUX MOTPED.

5. Read and translate the text. Give its main idea.

Troubles never come singly
The problem of the Sea of Azov is only 40 years old. The sea's basin has valuable
fertile lands. Intensive agricultural and industrial development and population
growth required a lot of fresh water. By the late of 1960s the annual runoffs of the
Don and Kuban dropped by a shocking 10-15 cubic kilometres.
Obeying the law of communicating vessels, through the Kerch Strait the waters of
the Black sea poured into the Sea of Azov. They brought hundreds of millions of
tonnes of salts, which abruptly altered the sea's biological regime. Together with
the salts came voracious jelly-fish -dangerous rivals in plantation consumption.
The sea's salinity climbed threateningly, in some spots reaching 14 grams of salt
per litre of water whereas it had never risen above 10 grams before.
Scientists and economists sounded the alarm. Some researches expressed the fear
that if measures were not taken, the Sea of Azov could degenerate into a swamp.
Analyses showed that there was sufficient oxygen in water so what was the
problem? It was discovered that the culprit was the same Black Sea water brought
by currents: being very salty, it freezes at a lower temperature. And since the Azov
had not yet acquired an ice crust, the water had cooled to the very bottom. In the
fish's gills and swimming bladder scientists found little ice crystals which had
caused asphyxia.

TEST 5

Task 1 Choose the correct form: Past Simple or Past Progressive: Total 10

1. They calculated/were calculating their expenses when the financial statement
was submitted / was being submitted.

2. What did you do/were you doing at 10 o'clock last night?

3. | saw/was seeing you in the office yesterday.You discussed/were discussing
the latest events with the Vice -President.

4. While he compared/was comparing the prices, he found out/was finding out
that some of them were highly competitive.

82



5. When | was/was being young, | wanted/was wanting to start my own business.
Task 2. Choose the correct form to complete the sentences: Total10

1. The documents ...... .... to the Deputy Minister by e-mail half an hour ago:
a) is sent; b) were sent; ¢) was sent; d) did sent.
2. His garage ........... when he bought a car:

a) was building; b) was built; ¢) was being built; d) were bemg built.
3. She was walking along the road when the car .............. :

a)was crashing; b) crashes; c) had crashed; d) crashed.
4.Didyou.......... the Tower when you were in London?

a) seen; b) saw; c) sees; d) see.
5.What ...... you doing at 8 p.m.?

a)do; b) did; c) were; d) was.

Task 3 Restore the questions to these answers: Total 5

1.What for two hours? — | was waiting for my employer.
What ? — | wanted him to increase my salary.
— ? —No, he didn't. | hope he will some day.
2.Where when | saw you? — | was going to a library.

— ? —Yes, | did. | spent over four hours there.
3.You missed your working hours yesterday. What's the matter?
?
—Yes, | was. | had a terrible headache.

Task 4.Translate the sentences: Total 30

1. Do you know the two gentlemen discussing something at the window?

2. Having been calculated in a wrong way, the profit was not very high.

3. Using new equipment sent by their sponsors, they received the required

results.

Walking home I met a friend of mine who was waiting for his girl.

Rising prices resulted from shortage of supplies.

Looking for a job, he reads advertisements in newspapers.

Having considered all aspects of this issue, the Board of Directors decided to

increase the volume of production.

The conference fee paid prior to April 1 will be lower.

The company offers a program for advanced learners.

10. The problems being discussed at the conference are not very interesting for
me. [’m interested in problems concerning noise pollution.

No ok

©w ™

Task 5. Match lines in A and B to make one sentence: Total 10

A B
1 | Known as a scientist, a) the business lost some of its
customers.
2 | Having increased the prices, b) he has improved his pronunciation.
3 | Taking a language course, c) a degree is not enough for a successful
career today.
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4 | Examining the level of d) he was a peace-maker as well.
environmental pollution in the

region,
5 | Having explained the rule, e) they collected some important data to
process.
6 | Fast becoming the minimum f) the teacher gave a few examples.

qualification for an engineer

Task 6. Compose sentences with proposed question words. Total 10

1. The air we breathe consists mainly of oxygen. (What ...? What ... of?)

2. A mixture of nitrogen oxide and nitrogen dioxide is called NO. (What ...?
Common ...?)

3. Sulfur dioxide reacts with oxygen and other materials. (What ...? What ...
with?)

4. Particulates can accumulate in the lungs. (What ...? Where ...?)

5. Particulates interfere with the ability of lungs to exchange gases. (What ...?
Why ...?)

Task 7. Translate into English: Total 25

MiHepaibHi pecypcu
MiHnepanbHO-cHpOBUHHA 0a3a YKpaiHu € 0araTCTBOM il HapoJy, BOHa 3a0e3nedye
HE3QJICXKHICTh 1 HaIllOHAIBHY Oe3mneky. 3a pPIZHOMAHITHICTIO 1 0OaraTCcTBOM
MIHEpaJIbHO-CUPOBUHHOI 0a3n YKpaiHa BUTIAHO BIAPI3HAETHCA Bl OUIBIIOCTI
pecny6nik konumbboro CPCP 1 Oarateox nepxkas, 3aiimaroun 0,5 % cymi i
nepepooIsroun 0JI13bK0 5% CBITOBOrO 00CSATY MiHEpaIbHOI CHPOBUHH.

Ha teputopii Ykpainu po3BiaHo OiM3bKO 8 THUCAY ponoBull, Maixe 90
BUJIB KOPUCHUX KOMajduH, 3 sKUX 20 MalTh BaXKJIMBE EKOHOMIYHE 3HAUEHHS.
Cepen Hux — HadTa, ra3, 3ali3Hi, MApPTaHIICBl, TUTAHOBI, YPAHOBI PYIH, BYTLLI,
CipKa, pTyTh, KaOJiH, rpadiT, BOTHETPUBKI IJIUHU, TUTHI MiHEPaJIbHI BOJIM Ta 1HIIIE.

UNIT 4
Glossary
1.heating oil NaJIMBO KOMYHaJIHHO-TOOYTOBOTO MPU3HAYCHHS
2. crude oil cupa HadTa
3. residual fuel 3aJIMIIKOBE MaJIHBO
4. interior BHYTPIIITHIH
5. pressure THUCK
6. oil well HaTOBA CBEPAJIOBUHA
7. minute quantity MaJICHbKa KiJTbKICTh
8. joining CTIOTYKH
9. octane rating OKTaHOBE YHCIIO

1. Read and translate the text
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Petroleum products

Petroleum products, such as gasoline, kerosene, home heating oil, residual
fuel oil, and lubricating oils, come from one source- crude oil found below the
earth’s surface, as well as under large bodies of water, from a few hundred feet
below the surface to as deep as 25,000 feet into the earth’s interior. Sometimes
crude oil is secured by drilling a hole through the earth, but more dry holes are
drilled than those producing oil. Pressure at the source or pumping forces crude oil
to the surface.

Crude oil wells flow at varying rates, from ten to thousands of barrels per
hour. Petroleum products are always measured in 42-gallon barrels.

Petroleum products vary greatly in physical appearance: thin, thick,
transparent or opaque, but regardless, their chemical composition is made up of
only two elements: carbon and hydrogen, which form compounds called
hydrocarbons. Other chemical elements found in union with the hydrocarbons are
few and are of such minute quantities that they are disregarded. The combination
of carbon and hydrogen forms many thousands of compounds which are possible
because of the various positions and joinings of these two atoms in the
hydrocarbon molecule.

The various petroleum products are refined from the crude oil by heating and
condensing the vapors. These products are the so-called light oils, such as gasoline,
kerosene, and distillate oil. The residue remaining after the light oils are distilled is
known as heavy or residual fuel oil and is used mostly for burning under boilers.
Additional complicated refining processes rearrange the chemical structure of the
hydrocarbons to produce other products, some of which are used to upgrade and
increase the octane rating of various types of gasolines.

2. COMPREHENSION EXERCISES
1. Answer the following questions:
1. Which of the following is not true?
a) Crude oil is found below land and water.
b) Crude oil is always found a few hundred feet below the surface.
c¢) Pumping and pressure force crude oil to the surface.
d) A variety of petroleum products is obtained from crude oil.
2. Many thousands of hydrocarbon compounds are possible because
a) the petroleum products vary greatly in physical appearance
b) complicated refining processes rearrange the chemical structure
c) the two atoms in the molecule assume many positions
d) the pressure needed to force it to the surface causes molecular transformations
3. Which of the following is true?
a) The various petroleum products are produced by filtration
b) Heating and condensation produce the various products.
c) Chemical separation is used to produce the various products.
d) Mechanical means such as the centrifuge are used to produce the various
products.
4. How is crude oil brought to the surface?
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a) expansion of the hydrocarbons

b) pressure and pumping

c) vacuum created in the drilling pipe

d) expansion and contraction of the earth’s surface
5. Which of the following is not listed as light oil?
a) distillate oil

b) gasoline

c) lubricating oil

d) kerosene

2. Match the words with their explanation

iceberg A watercourse of significant size
supplied by atmosphere precipitation
from its reservoir with a well-expressed
channel

abyss Total amount of all pores and hollows in
rock; is usually expressed in percentage
of total amount of a taken sample

river A science about the world ocean as a
part of hydrosphere
porosity A zone of the biggest sea depths

characterized by absence of light, high
pressure, constant temperature, salinity
and density of water

oceanology Floating block of ice in the sea or the
ocean, broken away from ice shelf; up to
90% of their volume is above water

3. GRAMMAR EXERCISES
. Translate paying attention to the Participle.
. Arock is a substance composed of one or more minerals.
. Rocks are composed of primary minerals and other minerals derived from them.
3. Dissolved minerals taken from the rocks by running water make the sea salty
and make ocean life possible to exist.
4. The instruments used now are capable of measuring extremely small differences
in gravitational force.
5. One of the greatest eruptions recorded is that of Krakatao.
2. Fill in the gaps with adjectives formed from the nouns given in bold:
1. Higher schools give the young people an all-round education. The number of
higher....institutions increased greatly.
2. Chemistry is an important branch of the national economy. The ....industry
produces plastics, synthetic materials and other products.
3. The students specialize in geology at the....institutes.
4. The scientists carried out research and developed mining technique. They
popularized ....achievements among miners.
3. Make up sentences of the following words.

N
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1. tradition, our, interesting, has, university, many.

2. an, plays, of, role, people, life, the, music, important, in.
3. this, did, the university, why, enter, you?

4. sport, is, what, favourite, your?

4. Insert suitable articles where necessary.

What should you do when you meet...American for... first time? Some
people suggest that you smile and say “Hi!” in...informal situation or “How do
you do?” in...formal situation....others recommend ...firm handshake. Everyone
agrees that ...kiss is not appropriate, even on...cheek. It is common to
make...small talk when you first meet...person. You can talk about ...weather,
...recent sporting event, or better yet, ask...other person ...question about his or
her life. In any case, don’t remain silent when you meet...people for...first time
because if you do,... American might think you are...snob.

5. Translate into English.
Tpancdopmauis eneprii y 0iocepi

XKuBi opraHi3Mu MOCTIHHO CIOXHUBaIOTh €Heprito. Jepeno eHeprii —
Conue. Kusuii cBiT 3emui, ii Oiocdepa, CkIanalOTbCA 3 OpraHi3MiB TPbOX
ocHoBHMX TuMIB. [1oTik eHeprii y 6iocdepi mae oaun HanpsmMok: Bij CoHLs dyepes
pociuau (aBTOTpodhu) 10 TBapuH (rereporpodu), ado BiJ TPOAYIEHTIB 0
KOHCYMEHTIB.

ABTOTpOoM — 1Ie OpraHi3MH, SKI CTBOPIOIOTH OpraHidHI PEYOBHHU 3
HEOpPraHIYHUX y mporieci GOTOCUHTE3Y, BUKOPUCTOBYIOUM COHSYHY eHeprito. J[o
aBTOTPO(IB HAJEKATh 3€JICHI BUIIl POCIHHHM, JIMIIAWHUKHN, BOJOPOCTI 1 OakTepii,
0 MaroTh (POTO CHHTE3YyIOUl MrMeHTu. B ekosorii aBToTpodu Ha3MBAIOTh TAKOK
nponayrneHTamu. IlpomyrnieHTH - 1e oOpraHi3M, IO CTBOPIOIOTH OpTaHIYHY
pPEUYOBHHY 3a paxyHOK YTWJII3alii COHSYHOI €Heprii, BOJAM, BYIVIELIO Ta
MIHEpalIbHUX cojeil. Jlo HbOoro TuNy HajleKaTh POCINUHHU, IKUX Ha 3eMJl € OJIU3bKO
350 000 BuaiB. [IpoaynieHTH yTBOPIOIOThH CKJIAHI CIOJYKH, Y XIMIYHUX 3B’SI3KaX
SAKUX 30CEpe/KeHa CHEpris, 10 BUBLIBHIETHCS MPH PO3KIAJaHHI iX y Mpoleci
TpaBJICHHsI TBAPUH Ta 1HIIUX TETEPOTPOQIB.

6. Read and translate the text. Give its main idea.
Qil

Oil is the remains of tiny plants and animals which lived in the sea millions
of years ago. When they died, they sank to the bottom and were covered by layers
of mud and sand. Over the years, the remains were buried deeper and deeper, and
the mud and sand turned to rock. Heat, bacteria and the weight of rock above
slowly changed the remains into oil (and natural gas). Some seeped upwards to the
surface and escaped. But some was stopped by layers of solid rock. Here it stayed,
trapped in the holes in porous rock, rather like water in a sponge. In some places,
earth movements bent the rock layers, creating huge natural traps for oil. The
geological name for this oil is petroleum. Today, oil companies search for it under
the sea-bed or under land once covered by sea.

The search for oil starts with geologists who decide where the most likely
rock layers are to be found. Next, geophysicists survey the area. They measure
slight changes of magnetism or gravity which might give clues about the rocks
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underneath. Then they set off explosions to send shock waves down through the
rocks. By recording the echoes reflected back, they can work out how the rock
layers are arranged. If the signs are good, test drillings are made to see if there
really is oil there.

UNIT5
Glossary

1. slash and burn agriculture IiCIYHO-BOTHSHE CLILChKE MOCIIOAaPCTBO
2. nutrients MO’KUBHI PEUYOBUHH
3. tilling OpaHKa
4 fertilizer 100prBO
5.to clear PO3YHIIATH
6.infertility O€3ILIITHICTh
7.laterite soil YePBOHO3EM
8.leaching JTYXKHICTb
9.recycling nepepooka
10.legume 0000Bi

1. Read and translate the text
Tropical Rain Forests and Farming

Because tropical rain forests are so lush and fast-growing, many people have
suggested that they would be excellent agricultural areas. In fact, primitive people
in such areas have practiced slash-and-bum agriculture for centuries.

This method of use involves cutting and burning the vegetation on a small
plot of land. The burning releases the nutrients in the vegetation. If planting and
tilling are done quickly, the crop covers the soil and prevents its exposure to the
hot sun and erosion caused by the frequent rains.

During the first year, a good crop can be harvested, but the yield declines
each succeeding year unless massive amounts of fertilizer are used. For the
primitive inhabitants of these areas, this was no problem because they simply
abandoned the garden and cleared a new site. The old garden was quickly
repopulated by the seeds of trees in the surrounding forest and succession occurred,
resulting in a return to the original forest community. Most attempts to farm large
areas using temperate-region agricultural techniques have resulted in failures
because of the infertility of the soil and the soil's tendency to become hard.

One kind of soil found in the hot and humid tropical rain forests such as
those found in South America is called a laterite soil. Abundant rainfall is common
in the areas where laterite soil is found. Since the soil is porous, it is subjected to a
great deal of leaching, which results in the removal of soil nutrients as the water
flows over and through the exposed soil. Silica is removed, but the soil retains a
relatively high concentration of oxides of iron and aluminum. The presence of
these compounds contributes to the reddish colour of this soil. Laterite soil gets its
name from the Latin word for brick, because whenever it is directly exposed to
weathering, it hardens into a bricklike mass. In the past, these blocks were used as
building materials. A temple in the People's Republic of Kampuchea (Cambodia) is
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constructed entirely of blocks of laterite soil.

If this is such an infertile soil, why does it support such a lush tropical
forest? The high temperature and high amount of moisture encourage the growth of
plants; however, there are few nutrients in the soil. The plants rely on a rapid
uptake of nutrients from the plants and animals that die. Whenever a plant dies, it
decays rapidly, and surrounding plants absorb the nutrients needed for their
growth. Tropical forest trees bear mutualistic fungi called myconhiza in association
with an extensive root network near the surface of the soil. The myconhiza quickly
penetrate each fallen leaf and take all nutrients back into the roots of their host tree.
This activity prevents die loss of valuable nutrients due to the leaching action of
high rainfall and porous soil. Nutrients from decaying organisms do not usually go
unused in a healthy tropical rain forest.

Other trees perform a different role. It is estimated that 10 to 15 percent of
the trees in tropical rain forests are legumes, which have symbiotic nitrogen -
fixing bacteria associated with their roots. These trees, which are mixed throughout
the forest, provide this much-needed nutrient for other trees that surround them.
Thus, the lush vegetation in tropical rain forests is the result of a very finely tuned
ecological system that recycles nutrients as fast as they are released. The nutrients
are in the plants not in the soil.
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2. COMPREHENSION EXERCISES
1. Answer the following questions:
a. Why do people think that tropical rain forests are excellent agricultural areas?
b. Describe slash-and-bum agriculture.
¢ Can one harvest good crop every year as a result of this method?
d. What is laterite soil?
e. Where one can find laterite soil?
f. Why does laterite soil support a lush tropical forest?
2. Match the following words with the explanations:

lush- inability to grow plants

infertile- a hundred years

century- growing very well

populate- to fill up the area

fertile- food providing for life and growth

3. Say whether the following statements are true or false:
1. Tropical rain forests are excellent agricultural areas.
2. Slash-and-bum agriculture involves cutting and burning the vegetation on a
small plot of land.
3. During the first year a good crop can be harvested.
4. The high temperature and high amount of moisture encourage the growth of
plants.
5. 10 to 15 percent of the trees in tropical rain forests are legumes.
3. GRAMMAR EXERCISES
1. Put the verbs in brackets into correct form and translate the sentences:
a. When he has finished he (to let) you know.
b. As soon as she (to learn) shorthand she'll get a better job.
¢ When you have eaten something you (to feel) better.
d. We'll have a holiday after we (to take) our examinations.
e. After we (to visit) the museum we'll go to a pub.
2. Put the adverbs in the right places:
a. You are here when something happens (usually).
b. Her mum cooks a meal in the evening (always).
c. We book that April holiday in January (usually).
d. They think that we have got bread (probably).
e. You should look where you're going (always).

3.Translate into English, using Participle | where possible.

1. OrpumaBmu TenerpaMmy, MOs cecTpa HerailHo BWixama 10 Mocksu. 2.
VBIUIIOBIIN 7O KJacy, BUMTENbKa 3amuTanga 4eproBOro mpo Te, XTO ChOTOJHI
BiJIcyTHIH. 3. I[louyBIM TOj0C TOBapuila, s BUHMIIOB 3 KIMHATH , 1100 3yCTpITU
roro. 4. bynbre 00epexxHUMU, TIEpexoasaun ByuIto. 5. [IpoxxuBiim 6arato pokis
B AHTIJI1i, BiH 100pe PO3MOBJISI€ aHTIITHCHKOIO.

4. Put the verbs in brackets into the Past Perfect or the Past Perfect

Continuous:
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Yesterday was a bad day for Andrew. He 1) ......... (not/sleep) well because there
was a terrible storm at night. After he 2)......... (have) a shower, he made
breakfast. After he 3)......... (eat), he got into his car and drove to work. He only
4)........ (drive) for five minutes when he remembered that he 5)......... (leave) his
briefcase at home. He turned the car around and went home again. Then, he
realised that he 6) ......... (lock) himself out. The keys were still inside the house!
Andrew was already late for work, so he decided to leave the briefcase and go to
work. When he arrived, his secretary told him that his boss 7) ......... (try) to call
him at home

5. Translate into English using the dictionary

3 MosiBOIO JIIOJMHU Ha IUIaHETI 3emiii BEeJIMKY poOJib Yy TJoOanbHii
€KOCUCTEM1 CTaJdu BIAICPABAaTH B3a€MOBIIHOCMHU CYCHUIBCTBA 1 MPUPOIH.
Oco0nuBO MIBUAKO MOCWJIKOETHCS BIUIMB CYCHUIBCTBA HAa NPUPOAY y 3B S3KY 3
PO3BUTKOM MAIIMHHOTO BUPOOHHUIITBA.

3aBAsSKU LIbOMY MAacIITa0M BIUIMBY CYCHIJIbCTBA HAa MPUPOAY MOMIMPIOIOTHCS
TaK IIBUAKO, IO JIOJACTBO MOCTYIOBO NEPETBOPIOETHCS Y MOTYKHY TI'€OJIOTTUHY
CuIly, SIKa BIUIMBAE Ha MPUPOIHI npouecu. Ha Bci kpyroo6iru, 1o 31iHCHIOIOTLCS Y
OpUpOJl, JIOAMHA TNPSAMO YH OINOCEPENKOBAaHO Mae BIuMB. [lin BrIMBOM
aHTPOIOTeHHMX (PaKTOPIB BiAOYBAIOTHCS 3MIHU Y PUPOSII.

3aBOHOBYIOUM MPUPOIY, JIIOJACTBO 3HAYHOK MIpOI MiAIpBaiO MNPUPOIHI
YMOBH BJACHOI JKUTTEALSUIBHOCTI. Bces  miaHeTa HUHI  CTpaXklIae Bij
AHTPOTIOTE€HHOTO THUCKY, BIH BHUSBISETHCS Yepe3 3a0pyIHEHHS HaBKOJIHMIIHBOTO
OPUPOHOTO CEPENOBHUIA, BUCHAXXKEHHS MPHUPOJHUX PECYPCIB 1 Jerpajariro
eKOCHCTEM, TPYHTIB, XIKallbKe BUHUIIICHHS JIICIB.

JI0o OCHOBHUX aHTPONOr€HHUX 3a0pyAHIOBAYIB JOBKULISA, KPIM IIKIJJIMBUX
pPEUYOBHH, M0 BHUKUAAIOTHCA MPOMHUCIOBUMHU MIANPUEMCTBAMH, TMECTHLMIIB 1
MIHEpaIbHUX JOOpUB, IO 3aCTOCOBYIOTbCA B CLIBCBKOMY TOCIOJAPCTBI,
3a0pyJIHEHb yCiX BHJIIB TPAHCIOPTY, HAJIEKATh TAKOXX TPAHCIOPTHI Ta BUPOOHUY1
IIYMH, 10HI3Yl0U€ BUPOMIHIOBaHHS, BIOpallii, CBITJIOBI Ta TEIJIOBI BIJTUBH.

6. Read and translate the text. Give its main idea.

Areas with Minimal Human Impact- Wilderness and Remote Areas.
There are still many areas of the world that have had minimal human impact .
Some of these are remote areas with harsh environmental conditions, such as the
continent of Antarctica, northern arctic areas, the tops of some tall mountains, or
extremely arid areas, such as desert areas of Africa, central Australia, and central
Asia. Most of these have been explored and found to be too harsh to sustain human
habitation because growing food would be impossible.

Many other areas of the world, such as tropical rainforests, currently support
ecosystems that are little affected by humans but are under threat because they are
capable of supporting agriculture or other human uses. The primary factor that will
determine the survival of these natural areas is population pressure. As the human
population grows, it will need more food and more space. This ultimately leads to
the destruction of natural ecosystems and their replacement by human-modified
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ecosystems. Many countries have established parks and other special designations
of land use to protect areas of natural beauty or communities of organisms thought
worthy of protection. This has been most noticeable in Africa, Central and South
America, North America, and Australia. Until recently, these continents had large
amounts of land that were relatively untouched.

Europe, the British Isles, and the agricultural regions of North America have
almost none of their original vegetation remaining. The forests were cut for
shipbuilding, fuel, and agriculture, and the prairies were converted to cropland.
The forests that remain are small remnants of the original communities and have
been modified by the introduction of many exotic species of plants and animals
that have replaced the original inhabitants. Historically, the pressures to modify the
environment were greatest in Europe because of the large population and the
Industrial Revolution.

UNIT 6

Glossary
1. disturbances NOPYIICHHS, XBUJIFOBAHHSI
2. volcanic eruption BYJIKAHIYHE BUBEPIKCHHS
3. barely perceptible Maike HeITOMITHHIMA
4. to attain IOCATATU
5. misleading OMAaHJIMBUM
6. crustal instability HECTAOUTHHICTH KOPH
7. debris 00JIOMKH
8. fault pO3JIOM, 3CYB
9. shoal MiJTHHA
10. intricate CKJIQJTHHIA, 3aTUTy TAaHUN

1. Read and translate the text. Give its main idea.
TSUNAMIS

Exceptional disturbances of ocean water occur during and after earthquakes,
landslides or volcanic eruptions in and around the ocean basins. These produce
waves several hundreds miles in length, with periods of up to half an hour, with
velocities of up to 800 km/hr across the deep oceans. They are barely perceptible in
mid-ocean but on entering shallow coastal waters they build up into giant "tidal
waves" which may attain heights of more than 30 m by the time they reach the
coast. The term "tidal waves" is misleading , for they are not tidal in origin, and the
scientific term for them is the Japanese word "tsunami". They are most common in
the Pacific Ocean, which is bordered by zones of crustal instability, and they are
responsible for occasional catastrophic flooding and erosion of pacific coasts, often
with much devastation and loss of life far from the originating disturbance.

In April 1946 a tsunami was initiated by an earthquake off the Aleutian
Islands, and waves travelling southwards arrived in the Hawaiian Islands, 3700 km
away, in less than five hours, having moved at an average speed of 750 km/hr. The
town of Hilo in Hawaii was hit by waves rising 9 m, and at one point a wave
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carried 16.8 mm. Beaches were swept away, and the waves carried reef debris,
including large blocks of coral, on to the coast, and eroded hollows on hillsides far
above normal high tide level. Giant waves were recorded at many other places
around the Pacific Ocean.

It is now realized that tsunamis are not necessarily "damped down" by
distances; the magnitude of waves received depends partly on offshore topography,
the waves being higher where the offshore zone is gently shelving; and partly on
the orientation of a coast in relation to the source of the disturbance. An earthquake
along a fault line is likely to produce higher waves on coasts facing and parallel to
the fault than on coasts which run obliquely to it; the greatest effects of the 1960
tsunami off the coast of Chile were on parts of the Japanese coast parallel to the
line of disturbance of the Chilean earthquake. Wave heights are much reduced
where coral reefs border the coast, where there is deep water close inshore, or
where the waves have been refracted round reefs, shoals or islands of intricate
configuration.

2. COMPREHENSION EXERCISES
. Answer the following questions:
. When do exceptional disturbances of ocean water occur?
. What do these disturbances produce?
. Are they visible in mid-ocean?
. When do they build up into giant "tidal waves™?
. Are they tidal in origin?
. Where are tsunami most common?
. Say whether the following statements are true or false:
. Disturbances of ocean water occur during and after earthquakes, landslides or
volcanic eruptions in and around the ocean basins.
2. Tsunamis are not necessarily "damped down" by distances.
3. Tsunamis produce waves several hundreds centimeters in length, with periods of
up to half an hour, with velocities of up to 800 km/hr across the deep oceans.
4. An earthquake along a fault line is likely to produce higher waves on coasts.
5. Tsunamis are most common in the Atlantic Ocean.
3. Match the words with their explanations:

P NOOTR, WN PR

tsunami Gradual destruction of the surface of
smth through the action of wind, rain,
etc.

earthquake A place where there is a break that is

longer than usual in the layers of rock in
the earth’s crust

fault A large amount of water covering an
area that is usually dry

flood A sudden, violent shaking of the earth’s
surface

erosion An extremely large wave in the sea
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| | caused , for example, by an earthquake |

3. GRAMMAR EXERCISES
1. Fill in the correct form of the infinitive.
1. I’ve looked everywhere, but the file appears ...(misplace).
2. He is not old enough...(allow) to stay out late.
3. I don’t think I’ll be able to make it tomorrow. I’m supposed ...(meet) Jane for
lunch.
4. She was only pretending...(read); she was really daydreaming.
5. 1 need you ...(help) me prepare the food for the party.
6. The team is said ...(win) the match through sheer luck.
7. The accident is believed...( cause) by reckless driving.
8. The newspaper received many calls from people claiming...(see) UFO.
9. He was the first British writer...(award) the Nobel prize for literature.
10. He is not likely ...(return) before five o’clock.
2. Translate the sentences paying special attention to complex objects.
1. He didn’t want us to be disturbed by the fact that winters were becoming
warmer and natural disasters much powerful because of the climate warming.
2. The scientists believe greenhouses gases are the cause of climate warming.
3. A laptop enables people to work on a plane.
4. She neglected the fact of greenhouse effect influence to be discussed at the
meeting as a very important one.
5. They would like to be told about the consequences of the recent tsumani in
South-East Asia.
3. Put the verbs in brackets into the Past Perfect or the Past Perfect
Continuous:
Yesterday was a bad day for Andrew. He 1) ......... (not/sleep) well because there
was a terrible storm at night. After he 2)......... (have) a shower, he made
breakfast. After he 3)......... (eat), he got into his car and drove to work. He only
4)........ (drive) for five minutes when he remembered that he 5)......... (leave) his
briefcase at home. He turned the car around and went home again. Then, he
realised that he 6) ......... (lock) himself out. The keys were still inside the house!
Andrew was already late for work, so he decided to leave the briefcase and go to
work. When he arrived, his secretary told him that his boss 7) ......... (try) to call
him at home.
4. Translate into English.
Teopii mnoXoxKeHHs MiA3eMHUX BOJ
Ex30renHi miazeMHi BoaM MOTPAILIAIOTH Y TIPChKI MOPOAM a0 Migyac MpoIECiB
1H(UIBTpallll MOBEPXHEBUX BOJ 1 KOHJEHCALll BOASHOI mapu, abo B pe3yjbTaTi
ceauMeHTanlii (ocajgoHakonuyeHHs). [li Boau YacTo Ha3uMBarOTh BIJAMOBITHO
1HOUIBTpAIHHUMH, KOHJACHCAIIIMHUMU 1 CETMMEHTAIlIHHUMH.
Inginompauinina meopia TOXOJDKEHHS TMIA36€MHUX BOJA — MiA3€MHI BOIU
bopMyIOThCsl 32 paxyHOK aTMocpepHHX OmadiB, SKI dYepe3 MApiOHI KaHAIA B
TipChbKUX TMOPOJIax MOMANATh Yy Iapu 3emi, e ¥ HakonmuuyroThes. Ll teopis
Oyna copmynroBana B 1717 p. ¢paniry3pkum izukom MapioTTom.
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Komu armocdepni omagyn BUNAAAIOTh Ha TOBEPXHIO TPIIIMHYBATHX MOPIJ
(6azanbTiB, rpaHITIB, MCKOBHUKIB, OCOOIMBO 3aKapCTOBAHUX ), TO HA TTHOWHY BOHH
IPOHUKAIOTh Oe3nocepeHbo Mo TpimuHax. [lig3eMHl BOIM, IO YTBOPUIIUCH
3aBJSIKM MPOCOYYBAHHIO aTMOC(HEpPHUX BOJA y MOPOJAU Kpi3b BEJIMKI TPILIMHH,
Ha3UBAIOTHCA IHGIIOANIHHUMH.

Konoencauyinina meopia 1OXOUKEHHsS MII36MHHUX BOJA — MIJ3€MHI BOJH, IO
BUHHUKAIOTh y MOpOJaxX Ta TPIIMHAX TIPChKUX MOPiA 13 BoAsHOI mapu. Lls Teopis
Oyna BUCyHYTa HiMelbKUM Tifposiorom donbrepom y 1877p.

5. Read and translate the text. Give its main idea.

Climate studies can predict malaria epidemics
Scientists have developed an early-warning system for the outbreak of malaria
epidemics. They claim that the system, which is based on computer models of
climate change, can predict outbreaks up to five months in advance.
Malaria Kills more than 1 million people every year, and infects 500 million
worldwide. Although endemic in many parts of the world, the disease is
concentrated in sub-Saharan Africa, which accounts for almost 90% of all cases.
“Although the greatest burden of malaria in Africa is suffered by those living in
endemic regions, epidemics pose a serious threat to many millions of people and
their prevention remains a priority”, wrote the researchers in their paper, published
in Nature.
Climate is the key in the development of not only the malaria parasite but also the
mosquitoes that carry it. In Botswana the national malaria control programme has
developed an early-warning system based on population vulnerability, rainfall, and
health surveillance to predict and detect unusual changes in the seasonal pattern of
disease. The risk of an epidemic in Botswana increases dramatically just after a
season of good rainfall.
A separate study published last year showed that monitoring rainfall and sea
surface temperature could predict the peak of a malaria season up to a month in
advance. But the earlier warning could give health workers more time to build up
drug stocks or to target insecticides. Preventive and protective measures — spraying
stagnant waters, providing anti-malarial drugs, bed nets, etc — can be targeted on
the regions most at risk, thus making better use of existing resources.

TEST 6

I. Choose the correct word to complete the sentences. MakcumaibHa
kisbkicTs 6agis: 10 (Total 10)
1. The professor underlined that soil ... the result of the weathering of rocks.

A) is C) will

B) was D) had been

2.He knew that all living things ... of protein containing hydrogen.
A) will be C) were

B) is D) was
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3.She said that salt contained in soil ... away when it rains.
A) was washed C) are washed
B) is being washed D) will be washed

4. They excused themselves and said they ... to see our ecology experiment.
A) want C) would want
B) wanted D) are wanted

5. She asked where the nearest drugstore ....
A)is C) are
B) will D) was

2. Give English or Ukrainian equivalents of the following. (Total 10)
criajiax Masspii

eniaeMis

3arposa

CHUCTEMa PAaHHBHOTO CITOBIIICHHS

account for

burden

vulnerability

insecticide

health surveillance

3amac MeJUKaMCHTIB

3. Turn the following into indirect questions. (Total 10)

1. The quality of soil can be improved by adding fertilizers. (He was interested)

2. Soil has been formed over thousands of years from the weathering of rock.
(He asked when ...).

3. Fertilizers improve the quality of soil. (The professor asked what ...).

4. | heard you had moved to a new apartment. (I wanted to know).

5. How long does it take you to get there by car. (I asked).

4. Translate into English: Total 20
1. ,Un wmoxxna Bac 3ammratd, n€ 3HAXOAWTHCS IHCTUTYT EKOJIOTTYHHX
npoOiem?” - 3anuTasia BOHa.
2. “S1 Mmoxy momomorTu ToOl MIArOTYBAaTHUCA A0 €K3aMEHy Kpamie” - cKazaja
BOHA, MICJISI TOTO SIK BiH MTPOBAJIUB €K3aMEH.
3. Bin 3anuTaB: “Big yoro 3anexuTh CTpyKTypa IpyHTY?”.
4. Mos nonpyra 3anurtana: “ Y Tede € eKOJIOrYHUM CIOBHUK?” .
5. Bona 3anurana: “I1{o Ti 3Ha€l nmpo iHTEHCUBHE 3eMJIEpOOCTBO?”.
5. Give three forms of the following irregular verbs. Total 10

1. ixaTu (3amumiaT) 6. mpairoBaTH
2. 3HaATU 7. nigiiMaTu
3. TpuMmartu 8. OymyBaTu
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4. poctu 9. 3asgBIIATH
5. JaBaTu 10. mepenocutn
6. Open the brackets and put the correct verb form. Total 10
1. Soil (to contain) mineral and organic particles.
2. Scientists studying water (to be called) hydrologists.
3. Soil (to be) constantly being formed and destroyed.
4. Soil formation (to depend) on several factors that (to act) together.
5. There (to be many) kinds of soils.
7. Compose sentences with the following words. Total 10
1. Black, brown, dark, and, to, yellow, from, in, color, range, soils.
2. 5, Is, within, the, station, minutes, underground, walk.
3. How, it, long, will, to, do, our, tourists, shopping, take.
4. Horizons, layers, these, called, are.
5. Clays, better, than, promote, sands, drainage.
8. Translate in writing without a dictionary (Time for the task — 10 min).
Total 20
The meteorology ancient history

The science of meteorology did not suddenly spring into being. What is now
considered meteorology was in antiquity just a branch of astronomy.Later
meteorological theories began to be formulated in the terms of mechanics, optics
and the prevailing theories of matter. In fact it has only been in the last hundred
years that meteorology was accepted as a science in its own right. However, if one
were forced to name a time in which meteorology first began to crystallize into a
science, this would be that of Aristotle's famous treatise "Meteorologica”. This
treatise, the oldest comprehensive composition on the subject of meteorology
marked the beginning of systematic inquiries as to physical causes in earth, sky
and air.

When and where the first rational attempts were made to foresee or
understand meteorological phenomena is unknown. The ancient people of Middle
East and Egypt, pioneers in the science of astronomy, attempted to connect the
phenomena of weather with motions of heavenly bodies. However, the first men to
take a scientific interest in meteorological phenomena were ancient Greek
mathematicians and natural philosophers.
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Appendix

1. UKRAINE
Word list
sovereign CYBEpCHHUI
border (V) IPAaHUYHUTH
neighbour Cyci
wash (V) OMHBATHCS
cathedral cobop
grain harvester KoMOaiH
metal cutting MeTanopizaabHUN

Presidential Parliamentary MPE3UICHTCHKO-TIapPJIAMEHTChKA
republic pecyOutika

government ypan

state JiepKaBa

to head OYOJTFOBATH

direct voting

term of presidency
legislative
executive power

MpsiME TOJIOCYBAaHHS
TEpPMiH IPE3UJECHTCTBA
3aKOHOIaBYUI
BHUKOHABYA Bjlajia

TEXT
Ukraine is one of the largest sovereign states in Europe. It borders on Poland,
Slovakia and Hungary in the west and Romania and Moldova in the south-west. Its
northern neighbour is Byelorussia and its eastern one is the Russian Federation. In
the south Ukraine is washed by the Black sea and the Sea of Azov. Its population is
about 46 million people. It covers an area of about 600000 sg. km.
Kyiv is the capital of this state, its political, administrative, scientific, cultural and
industrial centre.
Kyiv was a large commercial centre of the East Slavs and was called "the Mother
of all Russian towns". Many historical places in Kyiv remind us of its ancient
history. Among them are the Golden Gate, St.Sophia' s Cathedral, St. Vladimir' s
Camedral, Kyiv-Pecherskaya Lavra and many others. At present Kyiv is one of the
leading industrial centres of Ukraine. It is also the seat of the Ukrainian
Government. The leading industries of Ukraine are power engineering, machine
building and chemical production. It produces modern supersonic airplanes, grain
harvesters, powerful locomotives, agricultural products, etc.
Ukraine is a Presidential-Parliamentary Republic according to the form of
government. Ukraine is headed by the President elected by direct voting; the term
of presidency is 5 years. Legislative power in Ukraine is exercised by the
Verkhovna Rada and the executive power is exercised by the Cabinet of Ministers
headed by the Prime Minister. Ukraine is a democratic, socio-legal state.
There are many large cities in Ukraine, among them Kharkiv, an important
industrial, scientific and students' centre, Donetsk - a coal mining centre, Odesa -a
big sea port and resort- city, Lviv - a large industrial, scientific and cultural centre,
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Zaporizhzhia,- a metallurgical centre, Dnipropetrovsk - a large machine-building
centre and many others

Questions:

1.  What kind of state is Ukraine?

2. What countries does Ukraine border on?
3. What is the population of Ukraine?
4.  What can you say about the capital of Ukraine?
5. What are the largest cities of Ukraine famous for?
6.  Who is the head of the state?
7. What kind of state is Ukraine according to the form of government?
8. Whom does the executive power belong to in Ukraine?
2. KHARKIV
Word list:
to found 3aCHYBaTH
interflow 3JIMBATHCS
military stronghold BilicbKkoBa (hoprers
aim 1JIb
investment IHBECTHUIIIT
tool bearings M IIUITHAKA
puppet theatre JSILKOBHUH TeaTp
educational establishment y400BHH 3aKIIa
as early as e
TEXT

Kharkiv was founded in 1654 at the place where three rivers the Kharkiv, the
Lopan’, the Udy interflew.

The city is situated in 478 km north-east of Kyiv, the capital of Ukraine. It was
founded as a small military stronghold. Kharkiv was the centre of Slobodskaya
Ukraine. From 1919 to 1934 Kharkiv was the capital of the Soviet Ukraine.

Today Kharkiv is the largest centre of Ukraine according to its industrial potential
and the second according to its population. About 1,5 million people live here. The
main aim of the city development is to turn it into the largest financial and
commercial centre of Ukraine. Such a city Kharkiv was before the revolution with
more than 80 commercial banks and other financial offices. They made large
investments into industry, culture, education.

At present Kharkiv is one of the largest industrial cities in Ukraine producing
tractors, turbines, tool bearings, etc. It has powerful heavy machine-building.

There is an underground here which came into operation on August 23, 1975. By
the way, on that day in 1943 Kharkiv was liberated from fascist occupation. And,
certainly, the 23" of August is a great holiday for the citizens of Kharkiv.

Kharkiv is a large academic and cultural centre, there are many institutes,
universities, technical schools and colleges. More than 300 000 students study in
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the city. The oldest educational establishment in the city is Kharkiv National
University, founded as early as in 1805. There are 6 theatres, among them the
Opera and Ballet theatre, the Puppet theatre, the Ukrainian Drama theatre, the
circus, many palaces of culture and clubs. The largest library in the city is the
Korolenko library, designed by a well-known architect academician N.Beketov.
There is a world-famous monument to Taras Shevchenko in Kharkiv designed by a
well-known sculptor Monizer in 1935.
Kharkiv is an international city where people of different nationalities live and
work.

Questions:

1. When and where was Kharkiv founded?

2. Where is the city situated?

3. What is the population of the city?

4. What kind of city was Kharkiv before the revolution?

5. Why is the 23" of August a great holiday for the residents of Kharkiv?

3. THE UNITED STATES OF AMERICA

Word list:

1. to occupy 3aiiMaTH IOy

2. to stretch MPOCTATHYTUCS

3.to berichin OyTu Garatum

4. to produce BUITYCKaTH

5. copper MiJib

6. iron ore 3aJTli3Ha pyaa

7. legislative branch of government 3akoHoTBOp4Ya rijka Biajau
8. the House of Representatives [Manara [IpencraBHUKIB

9. to be elected Oyt 0OpaHuM

10. to veto a bill HaKJIaCTH BETO HA 3aKOH
11. two-thirds majority vote JIBI TpeTi OUTBIIOCTI TOIOCIB

The United States of America
The USA is one of the biggest countries in the world. It occupies most of North
America. It stretches from the Pacific Ocean to the Atlantic Ocean, from the Great
Lakes to the Gulf of Mexico. In the north the States have a common border with
Canada. In the south it borders on Mexico. The total area of the USA is over nine
million square kilometres. There are 50 states in the USA and many big cities, such
as New York, Chicago, Los Angeles, Philadelphia and others. The national capital
iIs Washington, DC. Its population is about 3,4 million people.
The USA became the world leading country at the beginning of the 20" century.
The USA is a Presidential Republic. The legislative branch of the US Government,
or (he Congress represents all of 50 American states. It consists of two parts: the
House of Representatives and the Senate. Each state has two senators who are
elected every 6 years.
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The job of the Congress is to make laws. The President can veto a bill. The
Congress can pass the law anyway if it gets a two-thirds majority vote. The
Congress can also declare war. The House of Representatives can also impeach the
President.
The executive branch of the government puts the countries' laws into effect. The
President of the United States is a member of the executive branch. The President
must be at least 35 years old and be a natural citizen of the USA. The President is
elected every four years and cannot serve more than two terms.
The population of the USA is more than 236 million people, most of the
population lives in towns and cities. The USA is a very large country so it has
several different climatic regions. The coldest regions are in the north and north-
east. The south has a subtropical climate.
The USA is rich in mineral and natural resources. It produces copper, oil, iron ore
and coal. It is a highly-developed industrial and agricultural country.
Shipbuilding, electronics, automobile industry, aircraft industry, space researches
are highly developed in the States. The US grows a lot of fruit, namely oranges,
grapefruit, lemons. Wines and vegetables are shipped all over the States and to
others parts of the world. The most important crops grown in the States are
tobacco, soy-beans, peanuts, grapes and many others.
Questions:

1. How can you characterize the geographical position of the USA?

2. What is the total area and the population of the United States?

3. What are the main natural and mineral resources of the States?

4. What are the major cities of the USA?

5. How many states are there in the USA?

6. What is the legislative branch of the US government?

7. What are the jobs of the Congress?

8. Who can be elected President of the USA?

4. THE UNITED KINGDOM OF GREAT BRITAIN AND
NORTHERN IRELAND
Word list:
1. The United Kingdom of Great Britain and Northern Ireland —
Cnonyuene KoponisctBo Benukoi bpuranii 1 [TiBHiuno1 [pranmii

2.urban MICBKUI

3. a constitutional monarchy KOHCTHUTYI[IfHA MOHAPXis
4. the majority party leader Jiaep maptii O1LIBIIOCTI
5. to be exercised BUKOHYBATH

6. the Houses of Parliament bynunok [Tapnamenty

7. the House of Lords [Manara Jlopnis

8. the House of Commons [Tamara OOmuH

9. constituency BUOOPUYHIA OKPYT

10 the Shadow Cabinet TinwoBuii Kabiner

11. the judiciary branch 3aKOHO/IaBYa BJIa1a
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Text
The United Kingdom of Great Britain

The United Kingdom of Great Britain and Northern Ireland is situated on the
British Isles. The British Isles consist of two large islands: Great Britain and
Ireland, and about 5 000 smaller islands. Their total area is over 244 000 square
kilometres. Great Britain is very irregularly shaped, being deeply indented by
numerous gulfs of the sea; no part of the country is more than 120 km from the sea.
The British Isles are separated from the Continent by the North Sea and the
English Channel. The western coast of Great Britain is washed by the Atlantic
Ocean and the Irish sea.

The surface of the British Isles varies very much. The north of Scotland is
mountainous and is called the Highlands. The South which has beautiful valleys
and plains is called the Lowlands. There are a lot of rivers in Great Britain but they
are not very long. The Severn is the longest river while the Thames is the deepest
and the most important one. The mountains, the Atlantic Ocean and the warm
waters of the Gulf Stream make the climate of the UK mild the whole year round.

The population of the UK is about 80 min people, about 80% of it is urban.

The United Kingdom is made up of four countries: England,Wales ,

Scotland and Northern Ireland. The UK is a highly developed industrial country. It
produces and exports machinery, electronics, textile. One of the chief industries of
the country is shipbuilding.

The UK is a constitutional monarchy with a Parliament and the Queen as
Head of the State. The legislative power in the country is exercised by the Houses
of Parliament. The British Parliament consists of two chambers: the House of
Lords and the House of Commons. The members of the Houses of Commons are
elected by the people from the constituencies in England, Wales and Northern
Ireland. The house of Commons is the real governing body of the United Kingdom.
The executive power is exercised by the Prime Minister and his Cabinet. The
Government is formed by the political party which is supported by the majority in
the House of Commons. The Prime Minister is the leader of die majority party and
Is appointed by the Queen. The Prime Minister chooses a team of ministers; twenty
of the ministers are in the Cabinet. The second largest party becomes the official
opposition with its own leader and the Shadow Cabinet. The two leading parties in
Great Britain are the Conservative (the Tories) and the Labour Party. There is no
written constitution in Great Britain, only precedents and traditions.

Britain's largest cities are: London with the population of about 9 min
people, Birmingham, Leeds, Glasgow, Sheffield, Edinburgh.

London, the capital of the United Kingdom, is built on the river Thames. It is
a world centre for business and money trading. It is also the country's largest port
and a cultural centre with numerous museums and theatres. Plays, musicals, operas
and concerts attract large audiences, including many tourists.

Questions:

1. What islands is the UK situated on?
2. What's the country's population?
3. What is the United Kingdom made of?
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4. How can you characterize the surface of the British Isles?

5. What is the climate of the British Isles?

6. What are the main industries of the UK?

7. What is the political system of Britain?

8. What part does London play in the life of the United Kingdom?

5. OUR UNIVERSITY

V.N.Karazin National University is one of the oldest academic and
educational establishments in Ukraine. The university was founded in 1805 by one
of the most outstanding academic and public figures of his day V.N.Karazin. The
monument to V.N.Karazin is in front of the University building.

Thousands of students are being trained at the University at present. The
teaching staff of the University comprises professors, assistant professors, lecturers
and laboratory assistants of more than 100 different departments.

Kharkiv national university is a highly reputable academic institution in

Ukraine. A great contribution to the world science was made by the well-

known scientists such as Mechnikov, Beketov, Girshman, Trinkler.

The present-day science is related with the names of Berstein, Sintsov, Pogorelov,
Bulakhovsky, Barabashov, Valter who greatly contributed to mathematics, physics,
biochemistry, philology and other sciences.

Our University is known in many countries of the world, it has business relations
with many leading universities in the USA, Germany, France, Australia.Our
scientists and students often participate in different international conferences,
seminars, summer schools.

It is necessary to say that the university is expanding establishing new
faculties which are in demand in present-day situation. In perspective new
specialities and faculties will be opened, such as biotechnology, medical physics,
etc.

The University trains specialists in many fields of national economy at full-time
and correspondence departments, both on state order and contract basis.

6. My future speciality

My future speciality is ecology. | am a student of Kharkiv National
University. | study at the department of ecology. Our department is relatively
young.

The term " ecology " was introduced for the first time by a well-known
naturalist Ernst Heckkel in 1886 as a science which studies " relations between
organisms and environment". It is believed that ecology is an offspring of biology.
Modem structure of ecology includes geoecology, bioecology, chemical ecology,
radiation ecology, ecology of man, etc. Ecological approach to our economic
activity on Earth is the main task of humanity. Environmental awareness is the
only sure way of preventing humanity from destroying the environment it needs in
order to survive. Various private organizations like Greenpeace, Friends of the
Earth and the World-Wide Fund for Nature try to raise environmental
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consciousness. The complexity of many environmental issues makes it difficult to
educate lay people about the problems. Acid rains, global warming, ozone
problem, all kinds of pollution, - are but a few problems which we will have to
deal with as specialists in future after graduation from the University.

1 enjoy studying at the University and at our department because there are
many really interested professors, assistant professors, lecturers who help us
understand the pressing problems of our environment and prepare us for future
challenges of life.

Learn some phrases to be used in discussing a scientific publication:
1. The Article (book) to be discussed is...

2. The articles represent reports given at the conference..

3. The author of the article is...

4. The book (collection of articles) was published in...

5. The title of the article is...

6. The book consists of.. .chapters...

7. The article contains a summary of...

8. At the beginning the author deals with.. .then... in the end,..
9. A detailed description is given to...

10. Much attention is given to...
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